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EDIT HISTORY

REV BO 23~rEB-79 RALPH SCHAUBER

CHANGED QUIET SUBROUTINE TO INCLUDE TIMEOUT IF XON IS NOT
RECIEVED WITHIN TEN SECONDS. ALSO CHANGED SEND ROUTINE
TIMEOUT FROM TWENTY TO TEN SECONDS.

INCLJUDED ERROR REPORT CALLS IN TIMEOUT ROUTINES TO IDENTI-
FY FAILING LINE NUMBERS.

LIFE TEST NOW RESETS THE PASS NO. TO O ON STARTUP.
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ABSTRACT

THIS PROGRAM IS A FUNCTIONAL TEST OF THE LAOO,LA34,LA38 TERMI-
NAL. IT CAN TEST UP TO 40 TERMINALS AT A TIME, INTERFACED
THROUGH A DZ11-A/E ASYNCRONOUS MULTIPLEXERS. THIS PROGRAM WAS
DESIGNED TO TEST ALL OF THE FUNCTIONAL CHARACTERISTICS OF THE
LAOO,LA34 ,LA38 TERMINAL IN A DMT GR PMT ENVIORNMENT.

1.7 FUNCTIONAL DESCRIPTION

THIS PROGRAM CONSISTS OF A TEST SELECTION AND CONTROL SECTION,

A CONSOLE TERMINAL DRIVER SECTION, MULTI UNIT DZ11 DRIVER 3EC-
TION, AND TWENTY TWO FUNCTIONAL TESTS. THE TESTS ARE OF THREE
ngsgisozglNTER FUNCTION TESTS, MANUAL INTSRVENTION TESTS, AND
X .

1.2 INTENDED USERS

THIS PROGRAM WAS DESIGNED TO TEST EVERY FUNCTIONAL CHARAC-
TERISTIC OF THE LAQO,LA34,LA38 TERMINAL, AND AS SUTH WILL BE
1JSED FOR DESIGN MATURITY TESTING. THE OPERATOR WILL HAVE THE
OPTION OF RUNNING THE PROGRAM IN A NON~INTERVENTION MODE, THUS
ALLOWING THE PROGRAM TO BE USED IN A PMT ENVIORNMENT. THE
TESTS WERE NOT WRITTEN TO F.S. OR FART REQUIREMENTS, AND THE
USE OF THIS PROGRAM IN THOSE AREAS IS NOT RECOMMENDED.

REQUIREMENTS
2.1 EQUIPMENT

THIS PROGRAM WILL REQUIRE A PDP-11 PROCESSOR, WITH 16K OF MEM-
ORY.  FOR EACH EIGHT TERMINALS TO BE TESTED A DZ11-A,E IS RE-
QUIRED ALONG WITH ONE H317-E DISTRIBUTION PANNEL FOR EACH SIX-
TEEN TERMINALS UNDER TEST. A HARDWARE SWITCH REGISTER IS SUP-
PORTED, BUT IS NOT REQUIRED. IF PROGRAM CONTROL IS TO BE VIA
CONSOLE TERMINAL THEN A TERMINAL AND INTERFACE AT THE STANDARD
ADDRESS & VECTOR ARE REQUIRED.

e

e,

B}

SEQ (004
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2.2 RELATED PROGRAMS.

THIS PROGRAM WILL PERFORM CURSORARY TESTING OF THE DZ11 INTER-
FACE, AND SHOULD NOT BE CONSIDERED A VALID TEST OF ANYTHING
OTHER THAN THE LAQOO,LA34,LA38 TERMINAL. PDP=-11 PROCESSOR AND
MEMORY DIAGNOSTIC PROGRAMS, ALONG WITH DZ11 DIAGNOSTIC PRO-~
?zémgyg?gHLD Bt RLN PERJODICLY TO INSURE CORRECT OPERATION OF

OTHER LAOO,LA34,LA38 DIAGNOSTIC PROGRAMS:
CILAJA-0 LAOO,LA34,LA38 FART PROGRAM
2.3 TERMINAL CONFIGURATION

THIS PROGRAM REQUIRES THAT ALL TERMINALS TO BE TESTED BE SET
UP FOR 300 BAUD, 1 STOP BIT, ODD PARITY, AND XON-XOFF ENABLED.
ENTER SETUP MODE AND TYPE AN 8 TO GET A PRINTOUT OF THE C(CUR-
RENT SWITCH SETTINGS. IF NOT CORRECT CHANGE THE SWITCHES THEN
VERIFY AGAIN USING THE 8 KEY AGAIN. THESE SWITCHES ARE LOCAT-
ED ON THE PC BOARD DIRECTLY UNDER THE KEYBOARD ASSY.

SEQC 0005
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Sta 0006

100

200 PAGE 6

300

400

500

?88 3.0 LOADING PROCEDURE AND INITIALIZATION

800 LOAD THE LAO0O,LA34,LA38 DIAGNOSTIC PROGRAM TAPE FOLI OWING NOR-

%00 MAL PROCEDURES. IF A HARDWARE SWITCH REGISTER DOES NCT EXIST,
1000 “HE PROGRAM WILL USE THE CONTENTS OF LOCATION 9000176 AS THE
1100 VAIUE OF THE SWITCHES. THEREFORE, BE SURE TO LOAD LOCATION
1200 000176 WITH THE SWITCH VALUE BEFORE STARTING THE PROGRAM WHEN
?288 NOT JSING SWITCHES.

}288 3.7 STARTING ADDRESSES

1700 THERE ARE TWO STARTING ADDRESSES FOR THIS PROGRAM, STARTING
1800 AT  LOCATION 000200 WILL PUT THE TESTING UNDER SWITCH REGISTER
1900 CONTROL. STARTING AT LOCATION 000204 WILL PUT THE PRCGRAM
2000 UNDER CONSOLE CONTROL.
2100
2200
%Zg? 3.2 MODIFICATIONS TO PROGRAM.

)

2500 THERE ARE A NUMBER OF COMMON DATA STORAGE LOCATIONS WHICH MAY
2600 BE MODIFIED BY THE OPERATOR TO COMPENSATE FOR NON STANDARD
Sggg CONF IGURATIONS, AND DIFFERENT CPU TYPES.
2500 FOR DZ11'S NOT AT THE STANDARD ADDRFSSES OR VECTORS THE LOCA-~
3000 TIONS NAMED DZADDR AND DZVECT CAN BE CHANGED ACCORDINGLY PRIOR
%;88 TO STARTING THE PROGRAM.
3300 LOCATION LOOPC CONTAINS A TIME CGONSTANT AND IS INITIALLY SET
2400 FOR A PDP=11/20 PROCESSOR. THIS TIME CONSTANT IS NOT CRITI~-
3500 CAL, BUT LARGE VARIATIONS FROM TROSE LISTED IN THE TABLE WILL
3600 RESULT IN INEFFICIENT OPERATION. IT IS BETTER TO HAVE A
3700 LONGER TIME CONSTANT THAN ONE TrQ SHORT BECAUSE THE ROUTINES
3800 THAT USE THE TIMEQUT FEATURE WILL ABORT THE TIMEOUT WHEN THE
3900 REQUIRED INPUT IS RECIEVED. THOSE TESTS THAT REQUIRE MANUAL
4000 INTERVENTION WILL NOT FUNCTION CORRECTLY IF THE TIMEQUT IS TOO
2;88 FAST FOR OPERATOR RESPONSE TIMES.
2288 THIS TABLE IS DUPLICATED IN THE LISTING.
4500 LOOPC: 000314 ;TIME CONSTANT FOR11/20
4600 ;SET TO 202 FOR 11/03
4700 :SET TO 2571 FOR 11/10
4800 ;SET TO 554 FOR 11740
4900 :SET TO 755 FOR 11745, 11/60

5000 JSET TO 1237 FOR 11/45, 11/70

5100 ;SET TO 2127 FOR 11/45 BIP, 11,55
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SEQ 0007
00
200 PAGE 7
300
400
500
600 3.3 EXECUTION TIME
800 AT 300 BAUD AND EXCLUDING MANUAL INTERVENTION TESTS THIS PRO-
200 GRAM SHOULD TAKE APPROXIMATELY 13 MIN.
1
1160 4.0 CONTROL AND TEST SELECTION
1300 TYERE ARE TWO MEANS OF CONTROLLING THE EXECUTION Or THIS
1400 PROGRAM: VIA THE
1500 CONSOLE SWITCH REGISTER, OR VIA THE CONSOLE TERMINAL.
1700 IF THE PROGRAM 1S STARTED AT LOCATION 200 AND NO HARDWARE
1900 REGISTER EXISTS THE PROGRAM WILL USE THE CONTENTS OF LOCATION
2000 176 AS THE SWITCHES
2200 4.1 SWITCH REGISTER CONTROL
5400 THE VARIOUS SWITCHES AND THEIR FUNCTIONS ARE LISTED BELOW.
5500 SWITCHES MAY BE CHANGED AND SET AS DFSIRED EXCEPT AS NOTED IN
2600 THE SPECIFIC SWITCH DESCRIPTIONS. REFER TO THE DETAILED
2700 SWITCH DESCRIPTIONS FOR FURTHER, MORE COMPLETE INFORMATION.
5900
3000 SWITCH NUMBER DESCRIPTION
3200 15 1(UP) = HALT ON ERROR
3300 O(DOWN) = CONTINUE AFTER ERROR REPORT
3500 14 1(UP) = LOOP ON TEST IF ERROR DETECTED
3600 0(DOWN) = CONTINUE TESTING
2800 13 1(UP) = INHIBIT ERROR REPORTS
3900 J(DOWN) = PRINT ERROR REPORTS
4100 12 1(UP) = RUN INDIVIDUAL TEST
<200 0(DOWN) = RUN TESTS IN SEQUENCE
4400 10 1(UP) = GET TEST NO. FROM SWS 4 : O
2288 O(DOWN) = USE DEFAULT TEST #0
4700 9 1CUP) = PMT MODE MINIMUM MANUAL INTERVENTION
4800 O(DOWN) = DMT MODE INTERYENTION REQUIRED
5000 8 1(UP) = RUN 1 PASS OF TEST SEQUENCE THEN HALT
2100 0(DOWN) = KEEP RUNNING TEST OR SEQUENCE

5300 (-0 TEST NUMBER SELECTION
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4.1.1 SWITCH 15

PLACING SWITCH 15 DOWN WILL CAUSE THE PROGRAM TC (ONTINUE
ON ERRORS DURING ANY OF THE 1/0 TESTS. WITH SWITCH 15 uP,
THE PROGRAM WILL HALT (AT ERRHLT) ON ANY ERROR DURING THE
1/0 TESTS WITH THE LOCATION OF THE ERROR IN RO. PRESSING
CONTINUE WILL CAUSE THE PROGRAM TO CONMINUE IF SWITCH 12
1S DOWN (LOOP ON ERROR). WITH SWITCH 12 UP, PRESSiNG CON-
TINUE WILL CAUSE THE PROGRAM TO LOOP ON THE FAILING TEST.

4.7.2 SWITCH 14

PLACING SWITCH 14 UP WILL CAUSE THSC PROGRAM TOQ '100P ON
TEST'' IF AN ERROR IS DETECTED IN THAT TEST. ERROR REPORTS
WILL BE TYPED UNLESS INHIBITED (SWITCH 13 UP).  LCOPING
WwILL OCCUUR AUTOMATICLY, WITHOUT OPERATOR INTERVENTION, AND
WILL AND WILL CONTINUE UNTIL THE ERROR CEASES TO HAPPE, OR
THE SWITCH IS PLACED DOWN OR =0. 4.1.2 SWITCH 14

PLACING SWITCH 14 UP WILL CAUSE THE PROGRAM TO ‘LOOP ON
TEST'' IF AN ERROR IS DETECTED IN THAT TEST. cRROR REPORTS
WILL 'BE TYPED UNLESS INHIBITED (SWITCH 13 UP). LOOPING
WILL OCCUR AUTOMATICLY, WITHOUT OPERATOR INTERVENTION, AND
WILL CONTINUE UNTIL THE ERROR CEASES TO HAPPEN, OR THE
SWITCH IS PLACED DOWN OR =0.

4.1.3 SWITCH 13

PLACING SWITCH 13 UP WwILL INHIBIT THE PRINTING OF ALL
ERROR REPORTS. CAN BE USED IN CONJUNCTION WITH SWITCH
14 TO LOOP IN ERRORS FOR TROUBLESHOOTING.

4.1.4 SWITLWH 12

PLACING SWITCH 12 UP WILL CAUSE THE PROGRAM TO LOOP IN THE
CURRENT, OR SELECTED TEST. IF SWITCH 8 IS UP THE TEST
WILL HALT AT THE END QF THE TEST. PRESSING CONTINUE WILL
CAUSE THE TEST TO BE STARTED OVER AGAIN. PLACING SWITCH
12 DOWN WILL CAUSE THE NEXT SEQUENTIAL TEST TO BE EXECUTED
’ELg?%EgS THE TEST IS AN INTERVENTION TEST AND PMT MODE IS
S .

4.1.5 SWITCH 11

NOT USED.

4.1.6 SWITCH 10

PLACING SWITCH 10 UP wILL CAUSE THE PROGRAM TG USE THE
CONTENTS OF SWITCHES & THRU 0O AS THE TEST NUMBER. If
SWITCH 12 IS UP THIS IS THE TEST THAT WILL BE RUN, IF
SWITCH 12 IS DOWN THE SEQUENCE OF TESTS TO BE RUN WILL
START WITH THIS TEST.

4.1.7 SWITCH 9

PUTTING SWITCH 9 UP A1 THE START OF TESTING WILL INHIBIT
MANUAL INTERVENTION TESTS , AND USE A FIXED SET OF PARAME-
TERS AS LISTED IN THT DESCRIPTION OF EACH TEST.

SEQ 0003
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4.1.8 SWIT(H 8
WITH SWITCH 8 DOWN THE PROGRAM WILL LOOP ON THE SELECTED
TEST COR TEST SEQUENCE AS SELECTED BY SWITCH 12. PLACING
SWITCH 8 UP WILL CAUSE THE PROGRAM TO HALT AT THE COMPLE-
TION OF THE CURRENT TEST, OR TEST SEQUENCE. PRESSING CON-
TINUE WILL RESULT IN THE PROGRAM RESTARTING THE TEST OR
SEQUENCE DEPENDING ON SWITCH 12.

.9 SWITCHES 4 TO O

SWITCHES 4 TO O ARE USED TO SELECT SPECIFIC TESTS WHEN
UNDER SWITCH REGISTER CONTROL. TEST NUMBERS ARE ALWAYS IN
OCTAL, FROM 00 TO Z22.

£~
—

KEYBOARD CONTROL
SWII1CHES ON THE CONSOLE SWITCH REGISTER WILL HAVE NO EFFECT
WHEN UNDER TERMINAL CONTROL EXCEPT FOR SWITCH 13.

THE PROGRAM WILi PRINT THE FOLLOWING : ENTER MODE D OR P
: RESPCND BY TYPING EITHER A ‘D' FOR DMT MODE, OR A 'P' FOR
PMT MODE (NO MANUAL INTERVENTION) .

THE PROGRAM WILL PRINT  READY ON THE CONSCLE, THEN WAIT fOR
COMMANDS FROM THE KEYBOARD.

THE FOLLOWING COMMANDS WILL BE RECOGNIZED :

TO RUN A SELECTED TEST.
TO SEQUENCE THRU TESTS.
TO LOOP ON ERROR.
TO HALT ON ERROR.
TO CLEAR THE H & L COMMANDS
TO SET 7HE "WIDTH'' CONTROL

£OITrruno

THE PERIOD (.) IS A TERMINATOR USED IN CONJUNCTION WITH THE R
AND S COMMANDS TO SPECIFY A SINGLE PASS. THAT IS TQ >TQP
?Eg%g RUNNING A TEST, OR TO STOP AFTER RUNNING A SEQUENCE OF

SEQ (07
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TO ABORT OPERATIONS AND RETURN TO THE WAIT STATE AT ANY TIME
TYPE A C(TL-C. THE PROGRAM WILL RESPOND WITH READY AND WAIT
FOR COMMAND INPUT.

ENTER ONE COMMAND PER LINE, FOLLOWED BY A RETURN. IF  CON-
FLICTING COMMANDS ARE ENTERED THE LAST ENTRY WILL BE USED.

TO EXIT "'COMMAND MODE'‘ TYPE AN ESCAPE. THE PROGRAM WILL TYPE

READY  AND BEGIN EXECUTION OF THE COMMANDS. COMMANDS CAN
BE ENTERED AT ANY TIME, BUT NEW TESTS WILL NOT START UNTIL THE
ESCAPE CHARACTER IS RETIEVED.

EXAMPLES OF COMMANDS :

R12 RUN TEST 12

R23. RUN TEST 23 THEN HALT

S. SEQUENCE ALL TESTS THEN HALT

Se7 SEQUENCE ALL TESTS STARTING WITH TEST 27

w100 SET WIDTH TO 100 (OCTAL) COLUMNS
( 204=132 COLM, 120=80 COLM )

IF A TEST IS SELECTED THAT IS AN OPERATOR INTERVENTION TEST,
AND PMT MODE IS SELECTED THE FOLLOWING WILL BE TYPED: RUN
INTERVENTION TEST ? ANSWER Y OR N. IF ¢ IS TYPED THE TEST
\EJII)LL BE RUN. IF N IS TYPED A NEW TEST NUMBER WILL BE REQUEST-

THE R,S,H,L.W, AND C MAY BE EITHER UPPER OR LOWER CASE, BUT
THE TEST NUMBER MUST ALWAYS BE A 2 DIGIT OCTAL NUMBER. THE
COMMAND, TEST NUMBER, AND TERMINATOR ARE ECHOED BY THE PRO-
GRAM, THUS EACH CHARACTER WILL BE PRINTED TWICE IF THE TERMI-
NAL IS IN HALF DUPLEX. IF AN ERROR IS5 DETECTED IN THE TEST
SELECTION (ILLEGAL TEST NUMBER OR COMMAND CHARACTER) A QUES-
TION MARK IS PRINTED AND THE MESSAGE WILL BE REPEATED.

READY

]

SEQ 0010
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SEQ 001
100
200 PAGE 11
300
400
500
600
700 5.0 TEST GROUPS
800
900
1000 5.1 TERMINAL TESTS
1100
1200
}288 5.2 INTERVENTION TESTS
1500 THE TESTS 17 THRU 24 REQUIRE MANUAL INTERVENTION. THESE
1600 TESTS ARE NOT RUN IN PMT MODE (SEE DESCRIPTION OF SW
4588 9 4.1.7, AND CUNSOLE CONTROL STARTUP 4.2).
1990
5?88 5.3 EXERCISORS
2200 TESTS 15 AND 16 ARE DESIGNED AS EXERCISORS, AND CAN BE RUN FOR
5288 EXTENDED PERIODS TO "BURN IN'' THE UNITS UNDER TEST.
2500
5388 5.4 TEST ASSIGNMENTS
2800 TESTS LISTED AS DMT WILL NOT BE EXECUTED IN
%888 PMI MODE. SEE DESCRIPTION OF SWITCH 9 4.1.7 .
3100 TESTOO LAOJ,LA34,LA38 DATA PATHS TEST
3200 TESTO1 LAQO,LA34,LA38 ALL PRINTABLE CHARACTCRS TEST
3300 TESTO2 LAOQ,LA34,LA38 NON PRINTABLE CHARACTERS TEST
3400 TESTO3 LAOO,LA34,LA38 PRINTHEAD DGT MATRIX TEST
3500 TESTO4 LAQO,LA34,LA38 HORIZONTAL PITCH TEST
3600 TESTO5 LAQO,LA34,LA38 SPACE-BACKSPACE TEST
3700 TESTO6 LAQO,LA34,LA38 SET MARGINS TEST
3800 TESTO7 LAQO,LA34,LA38 HORIZONTAL TABS TEST
3900 TEST10 LAQQ,LA34,LA38 MULTIPLE LINE FEED TEST
4000 TEST11 LAOO,LA34,LA38 HORIZONTAL MOTION TEST
4100 TEST12 LAOQ,LA>4,LAS8 BUFFER OVERRUN TEST
4200 TEST13 LAQQ,LA34,LA38 VERTICAL PITCH TEST
4300 TEST14 LAQO,LA34,LA38 BELL TEST
4400 TEST1S LAQQ,1.A34,LA38 LiFE TEST
4500 TEST16 LAQO,LA34,LA38 PRINTER DYNAMIC EXERCISOR
4600 TEST17 DMT  INTERFACE SPEEDS TEST
4700 TEST20 DMT KEYBOARD ECHO TEST
4800 TFST21 DMT CHARACTER CODE ECHC TEST.
4900 TEST22 DMT PITCH SETUP TEST
5000
100
5200 6.0. TEST LESCRIPTION
5300
5400
£500
5600
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6.1 DATA PATHS TESTO00

SEQ 0012




CZLAIBO LAOO, LA34 DMT PROG

N 1
MACRO M1110 26-FEB-79 14:37 PAGE 14

6.2

6.3

PAGE 12

THIS TEST WILL PRINT FOUR LINES OF ALTERNATING «U=U PAT-
TERN. IT 1S A CONFIDENCE TEST OF THE INTERNAL DATA BUS,
AND RECJEVER LOGIC.

EXAMPLE :
xUsUrUsrUsUrUnUxU., ..
UsUsUrUrUsUxUrUx, .,
*UnUrUrUsUsUrUnU. . .
UrUrlUsUeUsUsUnrUx, .,

ESTIMATED TIME AT 300 BAUD 18 SECONDS.

ALL PRINTABLE CHARACTERS TESTO1
THIS TEST WILL PRINT EACH OF THE PRINTABLE CHARACTERS IN
GROUPS OF FOUR, SEPERATED BY TWO SPACES. THE GROUPS WILL
BE PRINTED IN ORDER, AND THE NUMBER OF GROUPS PER LINE
WILL BE DEPENDENT ON THE ‘WIDTH'' SET AT THE START OF THE
DIAGNOSTIC. (DEFAULT 132 COLM)

EXAMPLE :
c¢ccc DDDD

AAAA  BBBB

EEEE FFFF  GGGG  HHHH
3333 4444 5555 6666
XXX 3adad  +eee 2272

ESTIMATED TIME AT 300 BAUD 30 SEC

NON PRINTMBLE CHARACTERS TESTO2

THIS TEST CHECKS ALL NON-PRINTABLE CHARACTERS. IN THIS
TEST ALL NON-PRINTABLE CHARACTER CODES ARE TRANSMITTED,
FOLLOWED BY THE WORDS: ‘NON-PRINTING CHARACTER TEST.THE
NEXT LINE SHOULD BE BLANK.

IF ANY CHARACTERS APPEAR ON THE NEXT LINE AN ERROR EXISTS.

THE FOLLOWING CODES ARE TRANSMITTED :

000 NUL 002 STX 006 ACK
020 DLE 021 pC1 022 DC2
023 DC3 024 DC4 025 NAK
026 SYN 027 ETB 030 CAN
03 EM 032 suB 034 FS
RS 037 Js
177 DEL 021 DC1(XON)

ESTLMATED TIME AT 300 BAUD 5 SECONDS

SEQ 0073
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6.4 DOT MATRIX TESTO3

SEQ 0014
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THIS TEST WILL PRINT THE FIVE C(HARACTERS 7ZH*#% , TUEN
PRINT FOUR LINES OF DATA THAT WILL CREATE BLACX BOXES BY
OVERPRINTING THE SAME FIVE CHARACTERS AS ASBQVE. TEN BOXES
WILL APPEAR ON EACH OF THE FOUR LINES AT DIFFERENT SPA(-
INGS. THIS TEST WILL AMPLIFY ANY WEAK OR [NTERMITTANT
HEAD WIRE PROBLEMS. THE BOXES SHOULD APPEAR AN EVLN DARK
BLACK, WITH NO DOTS MISSING OR LITE STREAKS.

ESTIMATED TIME AT 300 BAUD 10 SECONDS

HORIZONTAL PITCH TESTO4

THIS TEST WILL PRINT FIVE GROUPS OF LINES AT EACH OF THE
HORIZONTAL PITCH SETTINGS. EACH GROUP OF LINES WILL CON-
SIST OF FIRST A LINE STATING THE CURRENT PITCH SETTINGS,
THEN A LINE OF THE CHARACTERS A THRU Z. THIS IS DONE fFOR
HORIZONTAL PITCH SETTINGS OF 10 CPI1, 12 CP1, 13.2 CPI, AND
16.5 CPI. THE SETUP FOR THIS TEST IS DOWN LINE LOADED.

ESTIMATED TIME AT 300 BAUD 30 SECONDS

SPACE-BACKSPACE TESTO5

A LINE OF ALTERNATING SLASHES AND SPACES IS PRINTED ACROSS
THE PAGE. THE PROGRAM WILL THEN BACKSPACE THROUGH THE
LINE AND OVERPRINT THE SLASHES WITH BACKSLASHES. TwO
LINES ARE PRINTED FOR EACH PASS OF THE TEST. THE PATTERN
PRODUCED IS A LINE OF ALTERNATING X'S AND SPACES. THE TWO
§LASHE¥ERSHOULD CROSS EXACTLY IN THE MIDDLE CREATING THE X
\.“ARA .

EXAMPLE = X X X X X X X XX XX XXXXXXXXXXXXX
ESTIMATED TIME AT 300 BAUD 45 SECONDS

SEQ 0015
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6.7 SET MARGINS TESTO06
THIS TEST WILL SET & PAIRS OF LEFT AND RIGHT MARGINS, THEIN
IT WILL FRINT A LINE OF '='S THAT SHOULD BE WITHIN THOSE
MARGINS. ALSO A MESSAGE WILL BE SENT SPECIFYING AN ERROR
IF IT'S NOT AT THE LEFT MARGIN. A REFERENCE LINE WILL BE
PRINTED SHOWING THE MARGIN LIMITS BEING SET UP. ALL HORI-
IZONTAL PITCH SETTINGS WILL BE TESTED.

EXAMPLE :

ERROR IF NOT AT LH MARCIN
ESTIMATED TIME AT 300 BAUD 40 SECONDS

6.8 HORIZONTAL TABS TESTO7

THIS TEST WILL PRINT A REFERENCE LINE COMPOSED OF A NUMBER
OF PERIODS FOLLOWED BY A 'V'. THIS PATTERN IS REPEATED
ACROSS THE PAGE. THE LOCATION OF EACH V WILL MARK THE LO-
CATION OF A TAB STOP SET BY THE PROGRAM. THREE LINES WILL
THEN BE PRINTED UNDER THIS REFERENCE LINE, COMPOSED OF A
HORIZONTAL TAB FOLLOWED BY AN I, REPEATED ACROSS THE PAGE.
THg I'S SHOULD LINE UP DIRECTLY UNDER THE REFERENCE LINE
v's.:

EXAMPLE :

bt b by
— g e T
———

I
THIS WILL BE REPEATED FOR A VARIETY OF DIFFERENT TAB
SETTINGS. THE NUMBER OF TABS PER LINE WILL BE CONTROLED
BY THE ‘'WIDTH'' SPECIFIED AT THE START OF THE DJAGNGSTIC.

ESTIMATED TIME AT 300 BAUD, 132 (OL - 2 MIN

St
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6.9 MULTIPLE LINE FEED TEST10

THIS TEST WILL PRINT A REFERENCE LINE OF DASHES THEN SKIP

N LINES AND PRINT THE NO. OF LINFS SKIPPED ALONG WITH
SOME DASHES FOR VISUAL REFERENCE. EACH SKIP COUNT IS DONE
}HéCE FOR N = 1 T0 7. VERTICAL PITCH WILL BE 6 LINES PER
NCH.

EXAMPLE :

ESTIMATED TIME AT 300 BAUD 15 SECONDS

6.10 HORIZONTAL MOTION TEST11

THIS TEST WILL EXERCISE THE HEAD POSITIONING LOGIC BY
PRINTING A LINE OF H'S AT RANDOM COLUMN LOCATIONS WITHIN
THE LINE. THE HEAD WILL BE POSITIONED USING SPACES, BACK-
SPACES, AND CARRIAGE RETURNS FOLLOWED BY SPACES. THE
NUMBER OF COLUMNS PRINTED IS CONTROLED BY THE ‘WIDTH®' AS
SET AT THE START OF THE PROGRAM. ALL H'S SHOULD BE EVENLY
SPACED, WITH NO OVERPRINTS.

ESTIMATED TIME AT 300 BAUD 4 MIN

6.11 BUFFER OVERRUN TEST1?2

THIS TEST WILL FORCE THE TERMINAL TO SEND AN XOFF (HAR
(023) BY ISSUEING A SERIES OF TIME CONSUME ING MOVEMENT
COMMANDS, FOLLOWED BY ENOUGH CHARACTERS TO FILL THE BUFFER
PAST IT'S 118 CHARACTER LIMIT. WHEN THE TERMINAL HAS EMP-
TIED THE BUFFER TO THE 10 CHARACTER LEVEL IT SHOULD
TRANSMIT AN XON CHARACTER (021) ALLOWING THE HOST TO FIN-
ISH SENDING DATA. ANY TERMINAL THAT FAILS TO SEND THE XON
WILL BE CONSIDERED TO BE 'DEAD'* , AND WILL BE DESELECTED
OR SET INACTIVE.

ESTIMATED TIME AT 300 BAUD 10 SECONDS.

SEQ 0017




F
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SEC 0078
100
200 PAGE 16
300
400
500
600 6.12 VERTICAL PITCH TEST13
700 THIS TEST WILL PRINT SIX LINES AT EACH OF THE VERTICAL
800 PITCH SETTINGS: 2,3,4,6,8 AND 12 LINES PER INCH. THE
900 LINE PRINTED WILL BE A MESSAGE THAT LISTS THE CURPENT (PI
1000 AND LP] SETTINGS. THE SETUP FOR THIS TEST IS DOWN LINE
?;88 LOADED.
}388 ESTIMATED TIME Ar 300 BAUD 40 SECONDS
A
1500
1600 6.13 BELL TEST14
1700 THIS TEST CHECKS THE PRINTER BELL TO INSURE THAT EIGHT
1800 BELLS ARE DISTINCTLY HEARD, EVEN WHEN SENT AT THE MAXIMUM
1900 TRANSFER RATE. THE PROGRAM SENDS 8 BELL CODES AT THE MAX~
2000 IMUM RATE TO THE PRINTER THEN WAITS 2.5 SECONDS TO ALLOW
5;88 THE OPERATOR TO HEAR THE BELLS.
2300 ESTIMATED TIME 1 SECOND
2400
2500
2600 6.16 LAQO,LA34,LA38 LIFE TEST1S
5;88 ORDINARILY THIS TEST SIMPLY PRINTS A LINE OF °A’S.
2900 WHEN THIS TEST IS LOCPED ON, [T PRINTS TWO LINES OF EACH
3000 PRINTABLE CHARACTER. WHEN ALL PRINTABLE CHARACTERS HAVE
3100 BEEN DONE, THEY WILL SIMPLY BE REPEATED. THE CURRENT PASS
3200 NUMBER IS PRINTED ON EACH LINE, WITH A 1 COLUMN OFFSET ON
3300 EACH NEW LINE.THE NUMBER OF (HARACTERS PER LINE WILL BE
%ggg DETERMINED BY THE 'WIDTH'' AS SELECTED AT PROGRAM STARTUP.
3600 EXAMPLE :
3700
3800
3900
4000 B8RR BARBARRBHRAKRKA
4100 {CCC 01 ccceeeeecceeceeecccecccecc..
2%88 CCCCC 01 cceeeeeccececcececcccccec..
2288 ESTIMATED TIME 1 LINE 300 BAUD 5 SECONDS
4600
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G ¢
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PAGE 17

€.15 LAQO,LA34,LA38 DYNAMIC EXERCISOR TEST16

THIS TEST WILL PRINT 35 LINES OF MIXED FORMAT DATA. A
PATTERN WILL BE CREATED WHICH IS COMPRISED OF THE UPPER
AND LOWER CASE CHARACTER SET PLUS EIGHT OF THE SPECIAL
SYMBOLS. THIS PATTERN WILL BE IN THE FORM OF A 10°' BY &'
MATRIX, WHERE THE UPPER LEFT CORNER WILL HAVE THE GREATEST
CHARACTER DENSITY AND THE LOWER RIGHT CORNER WILL HAVE THE
LOWEST DENSITY. ALL POSSASBLE COMBINATIONS CF HORIZONTAL
AND VERTICAL PITCH WILL BE USED.

ESTIMATED TIME AT 300 BAUD 2.5 MIN,

INTERVENTION TESTS
NO TIME ESTIMATES GIVEN

6.76 _INTERFACE BAUD RATES TEST17

THIS TEST WILL REQUEST THAT THE OPERATOR (HANGE THE SPEED
ON ALL TERMINALS TO 110 BAUD. THE PROGRAM WILL THEN
TRANSMIT A MESSAGE TO ALL TERMINALS AT THIS BAUD KATE,
IDENTIFING THE CURRENT SPEED, THEN BY USE OF THE ESCAPt
SEQUENCE  ESC [OC  THE TERMINAL ID MESSAGE WILL BE SENT
FROM EACH TERMINAL TO THE PDP-11 TO VERIFY (ORRE(CT
TRANSMISSION AND RECEPTION BY THE TERMINAL. THIS SAME
PROCEDURE IS REPEATED FOR 300 BAUD. BECAUSE OF INTERVEN-
TION NO TIME ESTIMATE IS GIVEN

6.17 KEYBOARD ECHO TEST20
THIS TEST WILL REQUIRE THE OPERATOR TO TYPE ALL THE PRINT-
ING KEYS ON THE KEYBOARD. IF ANY KEYS ARE NOT SEEN BY THE
HOST THEY WILL BE REQUESTED AGAIN , AND A THIRD TIME [F
NECESSARY. INSTRUCTIONS WILL THEN BF iYPED TO PRESS THE
TAR, RETURN, AND OTHER NON PRINTING KEYS. FIVE SECONDS IS
ALLOWED PER KEY DELAY.

6.18 CHARACTER CODE ECHO TEST21
TRIS TEST WILL PRINT THE OCTAL CODE OF ANY KEY PRESSED,
ALONG WITH THE ASCI] CHARACTER. WHERE THE CHARACTER ]S A
NON PRINTABLE CODE THE MNEMONIC OF THAT (ODE WILL BE
PRINTED. THE DELETE C(HAR WILL BT ECHOED AS A MNEMONIC,
THEN THE TEST WILL BE DONE.

SEQ 0019




H
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1CC

200 PAGE 18
300

400

€00

600 6.19 PITCH SETUP TESTZ2?

700 THIS TEST WILL REQUIRE THE OPERATOR TO (HANGE THE TERMINAL
800 SETUP TO THAT REQUESTED. AFTER EACH SETUP (HANGE THE
%00 PDP=11 WILL SEND A LINE OF DATA THAT SHOULD CONFORM TO THE
1000 PARAMS SETUP. THE DATA SENT AFTER VERTJCAL PITCH CHANGFS
1100 WILL BE A NUMBER OF SHORT LINES THAT SHOULD SPAN 1 INCH
}%88 gE?TICALV. THAT IS EIGHT LINES AFTER THE (HANGE TO 8 LPI

1400 .ENDR

SEG 0G20
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100
200
300
400
500
600

700
800 000000
900
1000
1100
1200
1300
1400
1500
1600
1700
1800
1300
2000
2100
2200
23C0
2400
2500
2600
2700
2800
2500

3900 006000

102
10300 000000
00

104

10500 000004
00012
000020

10600
16700 000C24
10800

000060
000054
000000
000200
000340

0G0001
000002
000004
000010
000020
000040
000100
000200
000400
001000
002000
004000
010000
020000
040000
100000

000005

000000
000002
000004
000006
000000
000022
000024
001220
000041

000
000000
001500
003634
000000
026000

C00000
000000 000012
060016 000000
C0000C

000000

I 2
MACRO M1110 26-~FEB=79 14:37 PAGE 1

LTITLE CZLAIBO LAOO, LA34 DMT PROG

.SBTTL DMT/PMT PROGRAM FOR LAOO TERMINAL

; PATCHED QUIET SUBROUTINE TO TIMEOUT IF XON NOT RECVD
; 23-FEB-79 R.SCHAUBER

.ENABL ABS

.ENABLE AMA

LLIST MC,ME

;SOME DEF INITIONS

DLRVEC=60
DLTVEC=64
PR]0=000000
PRI4=200
PR17=340

@
—
—t

@
—
WV WNV—=O

B1714=40000
81715=100000

DZCON=5.
LASECT

:MAX NO. OF DZ11°'S THIS COMPILE

-

” .WORD 2.0 :START OF TRAP CATCHER AREA
TRAP4: .WORD 6,0,12,0,16,0,22.0

=24
PFAIL: .WORD  START,PRIO

.=41

ACTDVC: .BYTE 0 ;ACT11 LOAD MEDIUM
JWORD O TACT11 MODE O IS MANUAL MODE
‘WORD APTHDR -APT11 HEADER BLOCK ADDRESS
'5858 SOP "ACT11 END OF PASS HOOK ROUTINE
"WORD 20000  :ACT11 MANUAL MODE ONLY

SEQ 0021
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DMT/PMT PROGRAM +OR LAQO TERMINA, SEQ 002¢

.=200

12300 000200
12400 0002GC 000137 00122y JMP START
12500 000204 000137 001242 JMP KSTART




CZLAIBO
DMT/PM]

12700
12800
12900
13000
13100
13200
13300
13400
13500
13600
13700
13800
13900

LAQO, LA34 DMT PROG

K
MACRG M111C  26-FEB-79 14:37 PAGE 22

PROGRAM FGR LAOO TERMINAL

001090
001002
001004
001006
001010
001012

001014
001016
001020
001022
001024
001026
001030
001032

001034
001035
001036
001040
001042
001044
001046
001050
001052

001074

001C00

000000
001214
000360
001440
000012
000030

000000
000090
000000
000000

000000

000
000
000090

000000
000000
(00000
000000
000000

.=1000

2

.EVEN
;TOP OF STACK AREA
;. APT PARAMETER BLOCK

APTHDR:

.WORD
.WORD
.WORD
.WORD
.WORD

SETEND-SMAIL/2

;APT MAILBOX AREA

$MAIL

$FATAL:
$TSTNO:
$PASNO:
$DEV(CT:

SUNIT:

$MSGAD :

$MSGL :

.WORD

.WORD
.WORD

.WORD

. WORD
.WORD
. WORD
.WORD

000000
000000
000000
000000
000000
000000
000000
000000

;APT ENVIORNMENT TABLE

$ETABL :

.BYTE

.BYTE
$SWREG: .WORD

-WORD
$CPY: .WORD
$MEMAD : . WORD
$MEMAR: .WORD
SMEMAZ : ,WORD
SMEMR?Z: .WORD
SMEMAS: .WORD
SMEMRZ: .WORD
SMEMAL : . WORD
$MEMR4 : .WORD
$VECT1. .WORD
$VECTZ: .WORD
$BASE: .WORD
$DEVM: .WORD
$ETENL :

0

0
000000
000000

000067

;HIGH ORDER ADDRESS BITS

;ADDRESS OF APT MAILBOX

;TIME FOR LONGEST TEST &4 MIN.

;TIME FOR QUICK PASS

;TIME FOR EACH ADDITIONAL DVC

;LENGTH OF MAILBOX + ETABLE

JMESSAGE TYPE CODE

;FATAL ERROR NO.

JTEST NUMBER

;PASS NUMBER

;DEVICE COUNT

;UNIT NO. UNDER TEST

:MESSAGL ADDRESS (WORD BOUNDRY)
sMESSAGE LENGTH (IN WORDS)

;0= STAND ALONE, 1=AUTOMATI( MODE
. CONTROL BITS

JAPT SWITCH REG:ISTER

JUSER SWITCHES

;CPU TYPE AND OPTIONS

JMEM TYPE & HIGH ORDER BITS
;MEMORY ADDRESS~ HIGH

JVECTOR #1, AND PRIORITY
;VELTOR #2, AND PRIORITY
;BASE ADDRESS OF DEVICES
:DEVICE MAP

JEND: Or ETABLE

SEQ 0023




C2LA[BO LAOO, LA34 DMT PROG
(OMMON DATA STORAGE

17200

17400 001074 160010
17500 001076 000300
17600 001°* ) 000000
17700 001102 000000
17800 001104 000000

17900 001106 000000
18000 001110 000000
18100 001112 Q00000
18200 001114 000000
*8300 001116 000000
18400 001120 000001
18500 001122 177570
18600 001124 900000
18700 001126 000000
18800 (01130 000000
18900 001132 000000
19000 001134 000000
19100 001136 000000
19200 001140 000000
19300 001142 000314
19400

19500

19600

19700

19800

9900

20000 001144 000000
20100 061146 000000
20200 001150 000000
20300 001152 000000
20400 001154 000009
20500 001156 000000
20600 001160 000000
20700 001162 000000

20800 001164 000000
20900 001166 000000
21000 001170 000000
21100 001172 000204
21200 601174 000000
21300 001176 000000
21400 001200 000000
21500 001202 000000
21600 001204 000000
21700 001206 000000
21800 001210 000000
21900 001212 000000
22000 001214 000000
22100 001216 000000
22200

22300

22400

L. 2
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LSBTTL

DZADDR:
DZVECT:

DXTMP:

MSGTYP:
MSGADR:
SENDTM:

ERROR:
SEQ:
TEST:

SO:
SRCONT:

SWR:

PASSNO:
ANTMPO :
ANTMP1 :
ANTMP2:

TEMP:

NOTYET:

HOOK :
LOOPC :

COMMON DATA STORAGE

160010 JADDRESS OF 1ST DZ11
000300 ;ADDRESS OF 1ST DZ11 VECTOR
000000 ; TEMP STORAGE FOR DZ XMIT INTERRUPT ROUTINE
000000
000000
000000
000000 JERROR SWITCH
000000 ;HOLDS TEST TABLE POINTER
000000 ;POINTER TO CURRENT TEST
000000 JTHIS 1S THE SIMULATED SWITCH REGISTER
000001 JTHIS IS THE SWITCH REGISTER CONTROL SWITCH
177570 ;POINTER TO SWITCH REG, OR SOFT SR
000000 :THIS IS THE PROGRAM PASS NUMBER
000900
00v000
000000
000000
000000
000000
000314 :TIME CONSTANT FOR 11/20
JSET TO 202 FOR 11/03
JSET TO 251 FOR 11/10
;SET TO 554 FOR 11740
JSET 10 755 FOR 11/45, 11/60
;SET TO 1237 FOR 11/45, 11/70
;SET TO 2127 FOR 11/45 BIP, 31/55
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
132, ;SET TO 120 FOR 80 COLM
000000 :DZ TRANSMIT MODE
000000 JPMT MODE fLAG
000000
000000 sJNO. OF DZ'S ACTUALLY ON SYSTEM
: 000000 JLINE NO. UNDER TEST
000000 s CONSOLE BUFFER PQINTER
: 000000 ;CONSOLE ROUTINE TEMP FLAGS
: 000000 sTEST DESCRIPTION DATA
000000
000000 ;# OF UNITS UNDER TEST

START POINT FOR PROGRAM

SEQ 002«




CZLAIBO LAQG, LA34 DMT PRCG

START POINT FOR

100 001220
200 001224
300 001232
400 001236
500
600

001242
001246

28838338383
S
g

— D ) b e ) d

1800 001326

1900 001336

2400 001342
2500 001344
2600 001350

3100 001374
2200 001400

3400 001402
3500 001410
3600 001414
3700 001416

4000 001426
4100 001432
4200 001434
4300 001436
4400 001440
4500 001444
4600 001446
4700 001452
4800 001456
4900 001462

PROGRAM

012706
052737
004737
000137

012706
004737
012737
012737
012737
012737
012737
005037
005037
012737

012705
004737
000137

012737
005737
001002

00000

001000

001342

001000
003754
017246
000200
000066
000200
000101
001210
001120
020332

034650
020310
001342

001216
001402
001074
001202

001202
000010

000006
001202

001000
001202

001152

020754
025134
025254
025374
000050
025014
024174
024674
024314
024554

M2
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001120

000060
000062
000064
000966
17756C

001206

060004

000004

025374

START: MOV
BIS
JSR
JMP

#1000, SP
#B1T15, SRCONT
PC,SWRTST
INIT

;SETUP STACK POINTLR
JSET SWITCH CONTROL

:START HERE IF IN CONSOLE CONTROL

KSTART: MOV
JSR

MoV
MOV
MOV
MOV
MoV
CLR
CLR
MoV
SENDC
MoV
JSR
JMP

JHERE WE INIT THE DZ11 ROUTINES

INIT:  NOP

1%: TST

2%: MoV

3s: MOV

4%: MOV

#1000,SP
PC,SWRTST
#TTYIN,#60
#PR1G, #6062
766,64
#PR1& , 466
#101,a#177560
TMPTST
SRCONT
#TKBUF ,PNTR
#MSGOO
#MSGOO,RS
PC,CSEND
INIT

uut

#2%, TRAPS
DZADDR,RO
DZNUM
(RO)
DZNUM
#10,RO

1%

#6, TRAP4
DZNUM
3%

.-2
#1000, SP
DZNUM,R1
R1

R1

R1

RT.NUMLIN

RO
#DZCOMB,R2
R2, COMIN(RO)
R2 . COMOUT (R0)
R2 . COMEND (RO)
#50, COMEND (RO)
COMCNT (RO)
CURREP (RQ)
CURADD (RO)

CURTER(RO)
STOP(RO)

JINIT THE STACK

;INIT CONSOLE VECTOR AREAS
; COMMANDS HAVE PRIORITY
;TURN ON THE CONSOLE

:INPUT BUFFER POINTER
;SEND TEST ID

:GET MESSAGE ADDRESS
;SEND MESSAGE

;SU TRAP (CATCHER
;GET FIRST DZ ADDRESS

:DZ PRESENT ?

SYES COUNT IT
sPOINT TO NEXT ADDRESS

sFIX TRAP CATCHER

;ANY DZ°S ?

;NO- NOTHING TO TEST
;CLEAR THE STACK POINTER
;GET DZ COUNT

;8 LINES PER DZ

JSAVE TOTAL NO OF LINES
:START OF COMMAND BUFFERS

;END IS 20 WORDS AWAY

SEQ 0025




'3

5600 001520
5700 001526
5800 001532
5900 001536
6000 001540
6100

6200

6300

6400 001542
6500 001546
6600 001552
6700 001556
6800 001562
6900 001564
7000 001570
7100 001572
7200 001576
7300 001602
76400 001606
7500 001610
7600 001612

PROGRAM

012760
0627C0
062702
005301
001344

012702
012703
013705
013704
010225
012725
010325
012725
062703
062702
005304
001364
000240

CZLAIBO LAQO, LAS4 DMT PROG
START POINT FOR

000145
000002
000050

032412
032330
001076
001202

000240
000240

000012
000012

MACRO M1110 26-FEB-79

020634

N 2
14:37 PAGE 24-1

MOV #145,DZLINECRO) ;INIT TO 300 BAUD ODD PARITY
ADD #2,R0
ADD #50,R2 JNEW BUF=0LD BUF + 20.
DEC R1
BNE 4%
:SETUP VECTORS FOR _INTERRUPTS
INIT1: MOV #DZRINT ,R2
MOV #DZTINT ,R3
MOV DZVECT,R5 ;FIRST VECTOR ADDRESS
MoV DZNUM,R4 ;SETUP A COUNT FOR DZS
1%: MoV R2,(R5)+ ;SETUP RECIEVE INT VECTOR
MOV #240, (R5) + JAND ITS PRIORITY
MOV R3,(R5)+ ;SETUP TRANSMIT VECTOR
MOV #240,(RS) + JAND ITS PRIORITY
ADD #12 ,R3 ;SET POINTER TO NEXT INT SERVICE ROUTINE
ADD #12,R2 ;SU NEXT RX INT SVC ROUTINE
DEC Ré& JNEXT LINE PLEASE
sgg 1% ;IF THERE IS ONE

SEQ 0026




8
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START POINT FOR PROGRAM

7800
7900 JINIT D211 RECIEVE
8000 001614 013701 021152 IN[T2: MOV NUML IN,R] JGET A OF LINES
8100 001620 012702 026454 MOV #KBBUF ,R2 ;SETUP FIRST KEYBOARD BUFFER AREA ADDRESS
8200 001624 005000 (LR RO
8300 001626 005060 025634 18: CLR KBCNT (RO) ,ZERO THAR COUNT
8400 001632 010260 026074 MoV Q2,KBRUFB(RO)  ;DEFINt BEGINING OF BUFFER
8500 001636 010260 026214 MOV R2,KBBUFI(RO)  ;INIT PUT IN FOINTER
8600 001642 010260 026334 Mov R2,KBBUFO(RO)  ;AND TAKE OUT POINTER
8700 001646 010260 025754 MOV R2,KBBUFE(RO)  ;DEFINE END OF BUFFER
8800 001652 062760 000016 025754 ADD #16 ,KRBUFE(RO) ;AS 16 BYTES PAST BEGINING
8900 001660 062700 000002 ADD #2,R0 JNEXT LINE PLEASE
9000 001664 062702 000020 ADD #20,R2 ;BUFFER AREAS ARE 20 BYTES LONG EACH
910C 301670 005301 DEC R1 JANY  MORE TO SETUP?
3%88 001672 001355 BNE 1% ;YES. DO SO
9400 JINIT DZ11 (SR REGISTER TABLE
9500 001674 013700 001202 INIT3: MOV DZNUM,RO ;COUNT OF DZS
9600 001700 012701 031554 MOV #DZCSR,R1 :SETUP ADDRESS OF TABLE
G700 001704 013702 001074 MOV DZADDR,R2 ;SETUP ADDRESS OF 1ST (SR
9800 001710 010221 1%: MoV R2,(R1)+ ;PUT A (SR ADDRESS INTO THE TABLE
3900 001712 012712 000020 Mov #20.(R2) ;CLEAR THE DZ
10000 001716 062702 000010 ADD #10,R2 ;CSRS ARE 4 WORDS APPART
10100 001722 005300 DEC RO ;ANY MORE TO DO?
10200 001724 001371 BNE 1% ;YES. DO EM.
10300
10400
10500
10600 ;INITIALIZE TABLE OF TCR BITS
10700 001726 013701 001202 INIT4: MOV DZNUM,R1
10800 001732 012702 025514 MoV #TCRBIT ,R2
10900 001736 012703 000001 18: MOV #1,R3
11000 001742 010322 2%: MoV R3,(R2)+
711100 001744 006303 ASL R3
11200 00174€ 022703 000400 cMP #400,R3
11300 001752 001373 BNE 2%
11400 001754 005301 DEC R1
}}288 001756 001367 BNE 1%
11700 001760 005000 INITS: (LR RO
11800 001762 005003 CLR R3
11900 001764 012737 002044 000004 MoV #5$, TRAPS
12000 001772 016001 031554 1%: MoV DZCSR(RO) ,R1
12100 001776 012702 012720 MoV #12720,R2 ;RX-ON, 300,P-0DD,1~STOP,7-BIT
12200 002002 010261 000002 2%: MOV R2,2(R1) *LOAD LPR REG
12300 002006 005202 INC R?
12400 002010 022702 012730 cMP #12730,R2 ;DONE ALL LINES ?
12500 002014 001372 BNE 2%
12600 002016 062700 000002 ADD #2,R0
12700 002922 005203 INC R3
12800 002024 023703 001202 MP DZNUM,R3
12900 002030 001360 BNE 1%
13000 002032 012737 000006 000004 MOV #6,TRAPS
}%}88 002040 000137 (002046 JMP INITé
%%288 002044 000000 5%: HALT ;DZLPR TRAPPED (16XxX2)

Sea 0027




(ZLAIBO LAQC, LA34 DMT PRCG

START POINT FOR PROGRAM

13600
13700
13800
13900
14000
14100
14200
14300
14400
14500
14600
164700
14800
14%00
15000
15100

002046
002050
002054
002060

002144
002152

002156
002160

002164
002166

002172
002174

002200
002202
00220¢
002210
002214

005000
013701
016002
012737
005762
012737
012712
01273%7
112762
012737
112762
062700
005301
001344
012737
000137

000600
000137

000000
000137

000000
000137

000000
005737
001002
000137
000137

001202
031554
002156
000006
002164
040140
002172
000377
002200
000377
000002

000006
002220

002202

002202

0022€C2

001120

001242
001220

c 3
MACRCO M1110 26=FEB=79 14:37 PAGLE 26

000004
00G0C4
000004
000004

000004
000005

000004

INIT6:
1%:

5%:

6%:

7%:

8%:
10%:

11%:

CLR
MoV
MOV
MoV

RO

DINUM,R1
DZCSR(RO) ,R2
#5$%, TRAPG
6(R2)
#6$ . TRAPG
#40140, (R2)
#7$, TRAPS
#3774 (R2)
#8$, TRAPS
#377.5(R2)
#2,R0

R1

1$
#6, TRAP4
ISEQ

;RING~CARRIER REG.

;SCAN-EN,RX INT EN,TX INT FN >>(SR
JENABLE ALL LINES TX >> T(R

;SET DTR ALL LINES >> T(R+1

; TRAPPED FRCM 16XXX6 RING/CARRIER

10%

;TRAPFED FROM 16XXX0 (SR

10%

; TRAPPED FROM 76XXX4 TXMIT CTL

10%

; TRAPPED FROM 16XXX5 DTR

SRCONT
1i%
KSTART
START

SEQ 0028




(7LAIBO LAQO, LA34 DMT PROG

START POINT FOR PROGRAM

17200
17300
17400
17500
17600 002220
17700 002224
17800 002232
002232
002236
002242
17900 002246
"8000 002252
18100 002256
18200 002260
18300 002264
18400 002272
18500 002300
002300
002304
18600 002310
18700 002314
18800 002316
002316
002322
18900 002326
002326
002332
19000 002336
19100 002340
19200
19300
19400
19500 002342
19600 002350
19700 002356
19800 002364
19900 002366
20000 002374
20100 002376
20200 002402
20300 002410
20400 002416
20500 002422
20600 002430

20700 002440
20800 002446
20900

012706
012737

012705
005037
004737

012737
012737

012705
004737
004737
000001

012705
004737

012705
004737
000001
000776

113777
162777
122777
001004
052737
000402
005037
012737
012737
005037
117737

012705
004737
012737
000002

001000
020332

034650
001174
031706
004216
001120

002450
002342
000000

042341
020310
034250

042327
020310

042400
020310

177562
000240
000120

100000

001176
017240
000340
001160
176560

001160
020310
000101

D. 3
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001206

000060
000062

SEQ8:

176636
176630
176622
001176
000060
000062

001160

177560

;TEST SEQUENCER SUBROUTINE

;SET STACK AT 1000
JINIT TTY BUFFER POINTER
;SEND TEST I.D.
;BLILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

JSIZE FOR TERMINALS
;SWITCH CONTROL ?
JYES=JUMP

;SU TTI RECV INTR VECTOR
;PRI O
;PMT MODE MSG.
;GET MESSAGE ADDRESS
; SEND MESSAGE

;SEND ‘'READY"'

;GET MESSAGE ADDRESS
;SEND MESSAGE

;" ENTER COMMANDS''

;GET MESSAGE ADDRESS
:SEND MESSAGE

:GET INPUT ANSWER
:STRIP PAR]ITY & L(C
JPMT MODE ?

;NO- JUMP

SYES~ FLAG IT

. DMT MODE
;SET TTY IN VECTOR
;PRIORITY 7

sECHO THE CHARACTER
;GET MESSAGE ADDRESS
s SEND MESSAGE
s CONSOLE ACTIVE

; TEST SEQUENCE INITIALIZATION
ISEQ: MOV #1000,SP
MOV #TKBUF ,PNTR
SENDALL #MSGOO
MOV #MSGOO,RS
CLR MODE
JSR PC.SEND
JSR PC,SCAN
TST SRCONT
BEQ 4%
JMP LSEQ
4%: MOV #SEQMS , 3460
MOV #PR]O, 462
SENDC  AMSGK?
MOV #MSGK2 RS
JSR PC,CSEND
JSR PC,QUIET
WAIT
SENDC  #MSGK1
MOV #MSGK 1T ,RS
JSR PC,CSEND
SENDC  #MSGK4
MOV #MSGK4 RS
JSR PC,CSEND
WSEQ: WAIT
B8R .~2
: MODE ANSWER AND TTY VECTOR SETUP
SEQMS$: MOVB aw177562,3PNTR
8I(B #240,aPNTR
(MPB #'P,aPNTR
BNE 23
BIS #81T15,PMODE
B8R 3s
2%: CLR PMODE
3%: MOV #TTYIN, 460
MOV #PRI7 ,an62
CLR WORK
MOVR aPNTR, WORK
SENDC  #WORK
MOV #WORK RS
JSR PC,CSEND
MOV #101,a#177560
4%: R71

SEQ 0029
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START POINT FOR PROGRAM

5;588 JINITIAL TEST STARTUP SEQUENCE
21300 002450 005737 001120 LSEQ:  TST SRCONT
21400 002454 001471 BEQ 20%

21500 002456 004737 004036 JSR PC,GETSWS

21600 002462 032737 002000 001116 1%: BIT #B1T710,S0

21700 002470 001452 BEQ 13%

21800 002472 004737 003302 JSR PC,VALID

21900 002476 005737 001214 TST GO

22000 002502 001433 BEQ 10%

22100 002504 004737 003356 JSR PC,GETTST

22200 002510 004737 003460 JSR PC ,MODCON

22300 002514 005737 00114 TST GO

22400 002520 001402 BEQ 3%

22500 002522 000137 002730 2%: JMP 40%

22600 002526 032737 010000 001116 3%: BIT #B1T12,50

22700 002534 001412 BEQ 5%

22800 002536 005037 001214 4%: CLR GO

22900 002542 SENDALL #MSGS2
00254¢ 012705 042552 MOv #MSGS2,RS
002546 005037 001174 CLR MODE
002552 004737 031706 JSR PC, SEND

23000 002556 000137 002730 JMP (0%

23100 002562 105237 001116 5%: INCB SO

g%ggg 002566 000137 002462 JMP 1%

23400 002572 108: SENDALL #MSGS1
002572 012705 042514 Mov 4#MSGS1.,RS
002576 005037 001174 (LR MODE
002602 004737 031706 JSR PC,SEND

23500 002606 005037 001214 CLR GO

53988 002612 000137 002730 N 40%

23800 002616 105037 001116 13¢: CLRB SO

23900 002622 004737 003356 JSR PC,GETTST

24000 002626 012737 000001 001214 MOV #1,G0

52588 002634 000137 002730 JMP 40%

52288 ; CONSOLE CONTROL SECTION

24500 002640 004737 003356 °0%: JSR PC,GETTST

24600 002644 004737 003460 JSR PC.MODCON

24700 002650 005737 001214 TST GO

24800 002654 001402 BEQ 25%

24900 002656 000137 002730 21%: JMP 40%

25000 002662 004737 004104 25%: JSR PC,ANYWAY

25100 002666 042705 000240 BIC #240,R5

25200 002672 122705 000131 CMPB #'Y.RS

25300 002676 001411 BEQ 27%

25400 002700 SENDC  #MSGK1
002700 012705 042327 MOV #MSGK1,RS
002704 004737 020310 JSR PC,CSEND

25500 002770 012737 177777 001214 MOv #-1,C0

25600 002716 000137 002730 JMP 40%

25700 002722 112737 000001 001274 27%: MOVBR 41,G0

25800 002730 005737 001214 40%: TST GO

25900 002734 001405 BEQ 43%

;SWITCH CONTROL ?
JNO-JUMP TO 20
JREAD SWITCH REG.
;TEST NO, IN SWs ?
;NO- GOTO 13
sCHECK VALICITY

;NO GOOD GOT0 10
;TEST ADDR £ INFO
JMOCE CONFLICT ?

;YES- GOTO 3
;OK= GO STAK™ TEST
; SEQUENCE TESTS ?

;YES GOTO 5

JERROR MODE CONFLICT #awan
JBUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGF
;TRY NEXT TEST

:ERROR INVALID TEST NQ. ##xwx+
*BUILD SEND CAL! USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;SU FOR TEST O
;TEST ADDR & INFO

;GET TEST ADDR & INFO
;MODE CONFLICT ?

;YES- GOTO 25
;G0 START TEST
JRUN ANYWAY ?

JYES GOTO 27

:SEND 'READY''

:GET MESSAGE ADDRESS
;SEND MESSAGE

;GO BACK TO WAlT

SEC 0030




{ZLAIBO LAQO, LA34 DMT PROG
START POINT FOR PROGRAM

26000 002736 100002

26100 002740 006137 002336
26200 002744 000137 002754
32288 002750 000137 00245C

F 3
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L1s:
42%:
43%:

BPL
mp
JMP
MP

42%

WSEQ
RSEQ
LSEQ

JWAIT FOR NEW COMMANDS
;START TESTING
;GET NEW TEST CATA FROM SWS

SEC 0031




G 3
(ZLA1IBO LAQO, LA34 DMT PROG MACRO M1110 26-FER-79 14:37 PAGE 29
START PQOINT FQOR PROGRAM

26600

52588 ;TEST RUN & POST RUN CONTROL

26900 002754 004737 033062 RSEQ:  JSR PC,RESETO JRESET THE TERMINALS

27000 002760 005757 001216 °ST uur JANY TERMINALS TO TEST ?

27100 002764 001474 BEQ 91%

27200 002766 SENDALL #MSG75
002766 012705 037370 MOV #MSG75,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
002772 005037 001174 CLR MODE
002776 004737 031706 JSR PC,SEND JNOW SEND THE MESSAGE

27300 003002 004777 176104 JSR PC,aTEST GO DO TEST >=d>=d=d>~d=d=d=>->

2/600 003006 004737 034250 JSR PC,QUIET sWAIT TILL DONE

27500 003012 005277 176074 INC aSEQ ;PASS COUNT +1

27600 003016 004737 003570 JSR PC,EOPT JREPORT PASS DONE

27700 003022 005737 001120 TST SRCONT ;SWITCH CONTROL ?

27800 003026 001433 BEQ 5% ;NO- GO TO 5

27900 003030 017737 176066 001160 MoV aSWR, WORK

28000 003036 032737 001000 001160 BIT #B1T9,WORK

28100 003044 001404 BEQ 1% sJCHECK SWITCH REG FOR C(HANGES

28200 003046 052737 100000 001°76 BIS #BIT15,PMODE

28300 003054 000402 8R 2%

28400 003056 005037 001176 1%: C.R PMODE

28500 003062 042737 067377 001160 2$: 8IC #007377 ,WORK JLOOK AT BITS 15,114,735, €8

28600 003070 053737 001160 001116 8IS WORK , SO

28700 003076 005137 001160 (OM WORK

23800 003102 042737 007377 001160 8IC #007377 ,WORK

28900 003110 043737 001160 001116 8IC WORK , SO

29000 003116 032737 010000 001116 5%: 8iT #B1T12,S0 ;SEQUENCE TESTS ?

29100 003124 001423 BEQ 10% JYES- JUMP TO 10

29200 003126 032737 000400 001116 6%: BIT #8178,50 JEND OF TEST HALT ?

29300 003134 001406 BEQ 9% :NO JumpP

29400 003136 005737 001120 TST SRCONT sSWITCH CONTROL ?

29500 003142 001401 BEQ 8% ;NO Jump

29600 003144 000000 HALT s END OF TEST ....ueiveenrncnncecnnnnn.

29700 003146 000137 002316 8%: JMP SEQ8 JGET NEW CONTROL INFO

53888 003152 000137 002754 9%: MP RSEQ JRESTART TEST

20000 003156 91%: SENDC  #MSGK% JNO TERMINALS SELECTED !!!
003156 012705 042460 MOV #MSGK6 RS ;GET MESSAGE ADDRESS
003162 004737 020310 JSR PC,CSEND ;SEND MESSAGE

30100 003166 000000 HALT

30200 003170 000137 002220 JMP ISEQ

30300 003174 105237 001116 10%: INCB SO cPOINT TO NEXT TEST

3040C 003200 004737 003356 JSR PC,GETTIST ;GET TEST ADDR & INFO

30500 003204 023727 001114 77777 (MP TEST ,#-1 JEND OF TABLE ?

30600 003212 001407 BEQ 15% JYES- JUMP

30700 003214 004737 003460 JSR PC,MODCON s CHECK MODE

36800 003220 005737 001214 TST GO

30900 003224 001763 BEQ 108 ;BAD= TRY NEXT TEST

%}?88 003226 000137 002754 11%: JMP RSEQ ;0K GO DO NEXT TEST

31200 003232 005237 001124 '5%: INC PASSNO ;PASS NUMBER +1

31300 003236 004737 003634 JSR PC,EQP JREPORT PASS COMPLETE

31400 003242 032737 000400 001116 16%: BIT #8]T18,S0 JEND OF PASS HALT ?

1500 003250 001406 BEQ 19% :NO=- JUuMP

3 !
31600 003252 005737 00112¢ TST SRCONT
31700 003256 001401 BEQ 17¢%

;SWITCH CONTROL °
JNO JuMP

SEQ 0032




{
S

%LA'BO LAQO, LA34 DMT PROG

ART POINT FOR PROGRAM

37800 003260
21900 003262
32000

2
32100 003266
32200 003072
30300 003276

32600 003302
32700 003306
32800 003312
32900 003314
33000 003322
33100 003324
$3200 003332

33400 003334
33500 003340
33600 003344
33700 003346
33800 003354

34000 003356
34100 003362
34200 003366
34300 003374
34400 003400
34500 003406
34600 003412
34700 003420
34800 003426
34900 003434
35000 003442
35100 003450
35200 003456

35400 003460
35500 003466
35600 003472
35700 003474
35800 003500
35900 003502
36000 003506

36400 003510
36500 003514

000000
000137

105037
004737
000137

005037
105737
002407
123727
003003
012737
000207

105037
005737
100403
012737
000207

005037
005037
113737
006337
063737
006337
063737
062737
017737
062737
017737
062737
000207

112737
005737
001405
105737
100002
005037
000207

005037
113737
012705
004737
113737
113737
017737
012705
004737
113737
113737

002450

001116
003356
002754

001214
001116

001116
000001

001214
001212

000001

001160
001112
001116
001169
001160
001112
001160
004424
175460
000002
175444
000002

000001
00117¢

001212
001214

001134
001116
020600
033730
020604
020605
175340
020600
033730
020603
020604

H 3
MALRO M1110 26~FEB=79 14:37 PAGE 29-1

0000¢c°2
001214

001214

001134

035106
035107
001134

035075
035076

17%:
19%:
22%:

VALID:

4%:

REAL :

1%:
GETTST:

MODCON:

2%:
;END OF
EOPT:

HALT JEND OF PASS .iiiceveccreseocncnannes
JMP LSEQ JGET NEW TEST NO. ETC.
CLRB SO ;SET TEST O

JSR PC,GETTST

JMP RSEQ ;START TEST,....
CLR GO

1518 SO

BLT 4%

CMPB S0,#4#22

BGT 4%

MOV #1,G0

RTS PC

CLRB GO

TST TSTTYP

BMI 1%

MOV #1,G0

RTS PC

CLR WORK

CLR SEQ

MOvVB SO,WORK

ASL WORK

ADD WORK , SEQ

ASL SEQ

ADD WORK , SEQ
ADD #TSTTBL ,SEQ
MOV aSEQ,TEST
ADD #2,SEQ

MOV aSEQ,TSTTYP

ADD g%,SEQ JPOINT TO PASS NO.

RTS

MovB #1,GU

TST PMODE

BEQ 2%

TSIB TSTTYP

8PL 2%

CLR GO

RTS PC

TEST PASS ROUTINE

CLR TEMP sCONVERT TEST NO TO ASCII

MOVB SO, TEMP

MOV #EBUF RS

JSR PC.BIOCT

MO'YR EBUF +4 ,MSGO3+23.
MOovB EBUF +5,MSG03+24
MOV aASEQ, TEMP

MOV #EBUF RS

JSR PC,BIOCT

MovBe EBUF +3,MSG0O3+14.,
MOVR EBUF +4 ,MSGO3+15,

JPUT IN MSGO3
s CONVERT PASS NO.

JPUT [N MSGO3

SEQ 0033




(ZLAIBO LAQO, LA34 DMT PROG

37500 003600
37600 003606

37700 003622

0032626
27800 003632

38300 003634
003634
003640
003644

38400 003650
003650
003654

38500 003660

38620 003666

38700 00367¢2

38800 003676

38900 003702
003702
003706
003712

39000 003716
003716
003722

39100 003726
003726
003732
003736

39200 003742
003742
003746

39300 003752

39900 003754
40000 003762
40100 003770
40200 003776
40300 004000
004002
40500 004010
40600 004016
40700 004020
40800 004026
40900 004034
4200
41100

START POINT FOR PROGRAM

113737

012705
005037
004737

012705
004737
000207

012705
005037
004737

012705
004737
013737
012705
004737
105037

012705
005037
004737

012705
004737

012705
005037
004737

012705
004737
000207

012737
012737
017737
000240
000407

000207

020605

035057
001174
031706

035057
020310

035040
001174
031706

035040
020310

001124
020600
033730
020606

020600
001174
031706

020600
020310

037370
001174
031706

037370
020310

004002
000340
175126

000176
175106

000006
000000

I 3
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035077

001134

000004
000006
001116

001122
001116

000004
000006

MOvVB

SENDALL

MOV
CLR
JSR

SENDC

MoV
JSR
RTS

EBUF +5,MSG03+16.

#MSGO3
#MSGO3,RS
MODE
PC,SEND
#MSGO3
#MSGO3,RS
PC,CSEND
PC

;REPORT END OF TEST PASS

;BUILD SEND CALL USING MESSAGF ADDRESS
;NOW SEND THE MESSAGE

;GET MESSAGE ADDRESS
;SEND MESSAGE

----------------------------------------------------------------

os 000000

:END" OF "PASS” SUBROUTINE
EOP: SENDALL #MSGO1

MOV
CLR
JSR

SENDC
MOV

JSP
Ciks

SENDALL

MOV
CLR
JSR

SENDC

MOV
JSR

SENDALL
MoV

#MSGO1,RS
MODE
PC,SEND
#MSGO1
#MSGO1T,RS
PC,CSEND
PASSNO, TEMP
#EBUF RS
PC,BIOCT
EBUF +6
#EBUF
#EBUF RS
MODE
PC,SEND
#EBUF
#EBUF RS
PC,CSEND
#MSG75
#MSG75 RS

e v s

;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE

sGET MTSSAGE ADDRESS

s SEND ME SSAGE
;CONVERT PASS NO TO ASCI!

;PRINT PASS NO.
JBUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
:GET MESSAGE ADDRESS

;SEND MESSAGE
;SEND CRLF
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;GET MESSAGE ADDRESS
;SEND MESSAGE
JRETURN

------------------------------------------------------------

SWRTST: MOV
MOV
1%: Mov
NOP
BR 3%
2%: MOV
MOV
RT1
3% MoV
MOv
RTS

mﬁ‘

#2%,TRAP4

#PR17, TRAP4 +2

aSWR, SO
#176,SWR
aSwWR, SO

#6, TRAP4
#0,TRAP4 +2
pC

---------------------------

TCH REGISTER
YSTEM

;TRAPPED TO 4 SET UP FOR
;SOF TWARE SWITCH REG.

JRESET TRAP CAICHER

SEQ 0034




(ZLAIBO LAQO, LA34 DMI PROG

START PCINT FOR PROGRAM

41290
41300
41400
41500 004036 023727
41600 004044 001001
417GC 004046 500000
41800 004050 017737
41900 004056 032737
42000 004064 001404
42100 004066 052737
42200 004074 000402
42300 004076 005037
42400 004102 000207
42500
42600
42700
42800
42900 004104 012737
43000 004112 005005
43100 004114
004114 012705
004120 004737
43200 004124
004124 012705
004130 004737
43300 004134 105705
43400 004136 001002
43500 004140 112705
43600 004144 000207
£3700
43800 004146 113705
43900 004152 012737
44000 004160 105737
44100 004164 100375
“4200 004166 110537
44300 004172
004172 012705
004176 004737
44400 004202 005037
44500 004206 012737
44600 004214 000002
44700

001122
175046
001000
100000
001176

004146
042426
020310
023420
033676
000116

177562
017240
177564

177566
037370

020310
001
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000176

001116
001116

00°176

000060

000060

146
000101 177560

..............................................................

GETSWS: CMP
BNE

HALT
3%: MOV
BIT

SWR,#000176
3¢

aSwR, SO
#8179.50

1%
#81T15,PMODE
2%

PMODE
PC

JREAL SWS ?

;YES SKIP HALT
JALLOW OPERATOR TO CHANGE 176
JREAD SWS TO WORK (OPY
;PMT MODE ?

;NO
JYES= SET THE FLAG

................................................................

HANDLE " MODE " CON

TN

1)

#3%,a460
RS

#MSGKS
#MSGKS , RS
PC, CSEND
#10000.
#10000. ,RS
PC,MSTALL
RS

2%
#°'N,R5
PC

177562 ,RS
#TTYIN,a#60
177564

43
RS,3#177566
#MSG75
#MSG75,RS
PC,CSEND

LOOPO
#101,3#177560

L

8 0 8 0 08 0000008000000 00 0005000009080

1c78

;SET INTERRUPT TO 3%
;RUN ANYWAY ? MSG

.GET MESSAGE ADDRESS
;SEND MESSAGE

;SETUP STALL TIME CONSTANT

;ASSUME NO OF NO ANS

JGET ANS
JRESTORE TTY INTR HANDLER

;ECHO THE (HAR

.GET MESSAGE ADDRESS
s SEND MESSAGE
JABORT THE TIMEOUT
sENABLE COMSOLE

SEQG 0035




CZLAIBO LAOO, LA34 DMT PROG

START POINT FOR PROGRAM

44900
45000
45100
45200
45300
45400
45500

45600

45700
45800
45900
46000

49000

004276
004224
004224
00423C
004234
004240
004240
004244

012737

012705
005037
004737

012705
004737
005037
023737
001424
013700
006300
005760
100006
042760
005237
000760

013700
006300
105760
100402
005237
005237
000761
000207

004737
052760
000207

004410

035155
001174
031706

013560
033676
01160
001160

001160
020634

100200
001160

000200
024054
001160

001140
001204
001216
001204
001204
020634

001216
001204

033446
100000
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; THIS ROUTINE WILL SCAN ALL LINES FOR ACTIVE TERMINALS
; BE REQUESTING AN ANSWERBACK FROM ALL LINES. THE SELECT
; BIT WILL BE SET ACCORDINGLY IN THE DZLINE TABLE.

001140 SCAN: MOV #5% ,HOOK JLINK TO RECV ROUTINE
SENDALL #MSGOS :PROMPT TERMINALS
?EX ;SSSOS'RS ;JBUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND sNOW SEND THE MESSAGE
STALL #6000, JWAIT A WHILE
MOV #6000. ,RS JSETUP STALL TIME (CONSTANT
JSR PC,MSTALL
CLR WORK
001152 1%: CMP WORK ,NUML IN JALIL LINES DONE ?
BEQ 4% JYES~ EXIT
MoV WORK ,RO
ASL RO ;X2 FOR WORD OFFSET
13T DZL INE(RO) ;BIT 15 SHOULD BE SET
8PL 3% sNO RESPONSE- DESELECT
020634 BIC #100200,DZLINE (RO)
égc #gRK JCHECK NEXT LINt
020634 3%: 8IS #8177 ,DILINE(RQ) JSET LINE INACTIVE
(LR ACTIVE(RO)
INC WORK
BR 1% ;CHECK NEXT LINE
A ¥ CLR HOOK
CLR ONL INE
CLR T
001152 6%: MP ONL INE ,NUML IN
BEQ 8%
Mov ONL INE RO
ASL RO
TSTBR DZL INE (RO)
8ml 7%
INC uut
7%: INC ONL INE
aRr 6%
8s: RTS PC
5%: JSR PC.KBOUT ;REMOVE (HAR FROM BUFFER
020634 B%g z%IT15,DZLINE(RO) ;SET RESPONDED BIT
R

SEQ 0036




100

588384553

8888
2

00 004434
00 004440

2000 0G4446
2100 004450
2200 004452
2300 004454
24C0 004456
2500 004460
2600 004462
2700 004464
2800 004466
2900 004470
3000 004472
3100 004474
3200 004476
3300 004500

5000 004542
5100 004544
5200 004546
5300 004550
5400 004552
5500 004554
5600 004556
5700 004560

CZLAIBO LAQO, LA34 DMT PROG
START POINT FOR PROGRAM

005410
000000
000000
005452
000001
000000
005700
000002
000000
005732
000003
000000
006040
V00004
000000
006412
000005
000000
006610
000006
000000
007520
000007
000060
010072
000010
000000
010464
000011
000000
011164
000012
000000
11630
000013

004612
000217

.SBITL TEST
;ONE WORD OF
JONE WORD OF
: BIT7

BITS:

"ONE WORD OF

TSTIBL:

L 3
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SEQUENCE TASLE
TEST ADLRESS
TEST DESCRIPTION DATA
TEST MANUAL INTERVENTION
0 TEST NUMBER
PASS COUNT

TESTOO ;DATA PATHS TEST

000000

000000

TESTO1 ;ALL PRINTABLE CHARACTERS TEST
000001

000000

TESTO2 ;NON=-PRINTABLE (HARACTERS TEST
000002

000000

TESTO3 ;PRINTHEAD DOT MATRIX TEST
000003

000000

TESTO4 ;HORIZONTAL PIT(CH 1EST
000004

000000

TESTO5 ;SPACE ~ BACKSPACE TEST
000005

000000

TESTO6 ;SET MARGINS TEST
000006

000000

TEST07 ;HORIZONTAL TABS TEST
000007

000000

TEST10 SMULTIPLE LINE FEED TEST
000010

000000

TEST1 JHORIZONTA' MOTION TEST
000011

000000

TEST12 ;BUFFER OVERRUN TEST
000012

000000

TEST13 ;VERTICAL PITCH TEST
000013

000000

TEST14 JBELL TEST

000014

000000

TEST15 sLIFE TEST

000015

000000

TEST16 ;DYNAMIC EXERCISOR
000036

(00009

TEST17 :BAUD RATE [EST

000217

SEQ 0037




CZLAIBO LAOO, LA34 DMT PROG
TEST SEQUENCE TABLE

5800 004562 000000
5900 004564 012260
6000 004566 000220
6100 004570 000000
6200 004572 014412
6300 004574 000221
6400 004576 000000
6500 004600 015214
6600 004602 000222
6700 004604 000000
6800 004606 177777
6900 004610 000000
7000

M 3
MACRO M1110 26-FEB-79 14:37 PAGE 31-1

000000
TESTZ20
000220
000000
TEST21
000221
000000
TESTZ22

000000

;DMT KEYBOARD £(r0 TEST
;DMT CHARACTER CODE ECHO TEST
;DMT PITCH SETUP TEST

;END OF TABLE FLAG

SEQ 0038




CZLAIBO LAOO, LA34 DMT

TESTS

7700 004612
004612
004616
004622

7800 004626

8400 004676

8500 004712

8700 004722
8800 004726

89500 004742

9000 004756
004756
004762
004766

012705
005037
004737
012703
012704
012702
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737
004737
012702
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737

9100
9200
9300

004772 004737
004776 005037
005002 000207

9400

9500 005004
9600 005006
9700 005012
9800 005020
9900 005026

10500 005050
10600 005054
10700 005056

000240
005037
012737
023737
002402
000137
013700
006300
105760
100003
005237
000761
000240

PROG

035762
001174
031706
036052
036074
005374
033524

037677
001174
031706

036157
001174
031706

036332
001174
031706
005004
005402
033524

037677
001174
031706

036326
001174
031706

036332
001174
031706
005004
001140

001204
03516¢
001204

005372
001204

020634
001204

N 3
MACRO M1110 26-~FEB=-79 14:37 PAGE 3¢

.SBTTL

TESTS

---------------------------------------------------------------------

CTRIS 1S A TEZT OF THE VARIOUS BAUD RATES.

{MANUAL INTERVENTION IS REQUIRED

.....................................................................

TESTi7: " SENDALL #MSGR?" """

LA A A A A A A A ]

MoV #MSG27 RS
CLR MODE
JSR PC,SEND
MOV #MSG30,R3
MOV #MSG31,R4
MoV #T031BL ,R2
JSR PC ,ANVENT
SENDALL #MSG88
MOV #MSG88 RS
CLR MODE
JSR PC,SEND
SENDALL #MSG32
Mov #MSG32.,RS
CLR MODE
JSR PC,SEND
SENDALL #MSG36
MoV #MSG36,RS
CLR MODE
JSR PC,SEND
JSR PC,5%
MOV #103TB2,R2
JSR PC ANVENT
SENDALL #MSGBB
MOV #MSGB8 RS
CLR MODE
JSR PC,SEND
SENDALL #MSG35
MoV #MSG35.RS
CLR MODE
JSR PC,SEND
SENDALL #MSG36
Mov #MSG36,R5
CLR MODE
JSR PC,SEND
JSR PC.5%
CLR HOOK
RTS PC

5¢%: NOF
CLR ONL INE

001160 MOV #MSGO6 , WORK
001152 6%: cMP ONL INE ,NUML IN

BLT 66%
JMP 20%

66%: MOov ONL INE ,RO
ASL RO
1STB DZL INE (RO)
aPL 61%
INC ONL INE
B8R 6%

61%: NOP

NN NN NN NN EENENNENN]

;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;SETUP ADDRESS OF 1ST PART OF MESSAGE
;SETUP ADDRESS OF ‘HIT RETURN WHEN DONE’' MESSAGE
;SETUP TABLE ADDRESS

;G0 THRU ALL TABLE ENTRIES

JPRINTED AT MSG

;BUILD SEND CALL USING MESSAGE ADDRESS

;793 SEND THE MESSAGE
“BUILD SEND CALL USING MESSAGE ADDRESS

gngSEND THE MESSAGE
:BUILD SEND CALL USING MESSAGE ADDRESS

:NOW SEND THE MESSAGE

;JGET ANSWER BACK

;SU NEXT PASS

;G0 THRU TABLE AGAIN

;PRINTED AT

;BUILD SEND CALL USING MESSAGE ADDRESS

:ggg SEND THE MESSAGE
*BUILD SEND CALL USING MESSAGE ADDRESS

gRUDSEND THE MESSAGE
;BUILD SEND CALL USING MESSAGE ADDRESS

;JNOW SEND THE MESSAGF
JGET ANSWER BACK

JINIT LINE O
sSHOULD BE MESSAGE
;DO ALL LINES

;1S LINE SELECTED /
JNO TRY AGAIN

SEG 0039




CZLAIBO LAQO, LA34 DMT PROG

TESTS

10800 025060
10900 05064

— A
— )

100
200 005106

500 005146
600 005152
700 005154
800 005160
900 005164
000 005170
100 005174
12200 005176
12300 005202
12400 005206
12500 005210
12600 005214

12800 005220
12900 005222
13000 005226
13100 005232
13200 005236
13300 005242
1340C 005250
12500 005252
13600 005256
13700 005260
13800 005264
13900 005270
14000 005274
14100 005276
14200 005302
14300 005304
14400 005370

700 005370
800 005372

005037
012737
012737
012737

012705
112737
113737
004737
004737

012705
004737
005737
001004
005237
000137
012746
004737
000240
012746
004737
000000
005237
000137

000240
042705
110577
005237
005237
023727
001415
105760
001407
005060
912746
004737
000000
004737
000207
005037
012737
005737
001420
127777
001007
005237
005237
005337
000762
012746
004737
000240
005237
00613
000207

010070
016324
177777
005220

035155
000010
001204
031706
034250

003720
033676
001136

001204
005020
035113
020352

035415
02035¢2

001204
005020

177600
173730
010070
001162
010070

031567
031566
035415
020352
033446
001136
016324
010070
173630
0011€0
001162
010070

041014
020352

001204

B_4
MACRO M1110 26-FEB-79 14:37 PAGE 32-1

SEQ 0040
CLR COUNT ; INPUT (HAR COUNT =0
001162 MOV #T30BUF ,WORK1  :BORROW A BUFFER AREA
001336 MOV #-1 NOTYET *GETS CLEARED WHENE DONE
001140 MOV #10% , HOOK SLINK TO RECV ROUTINE
SEND]  #MSGOS5,ONLINE  :ESCAPE SEQ TO TERMINAL
MOV #MSGOS .RS *MESSAGE ADDRESS TO RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVR  ONL INE,MODE ;SELECTED LINE NO.
JSR PC,SEND
JSR PC.QUIET
STALL  #2000. ;ALLOW 2 SEC FOR ANSWERBACK
MOV #2000. ,RS :SETUP STALL TIME CONSTANT
JSR PC.MSTALL
TST NOTYET ;SHOULD BE CLR IF MSG RECVD
BNE 7% *GO REPORT ERROR
INC ONL INE *DO NEXT LINE
JMP 6$
7%: MOV AMSGO4 , ~(SP) :NO RESPONSE !
Jgg PC,ERRORT
N
8$: MOV #MSG15,-(SP) ;ERROR MESSAGE ADDRESS
JSR PC,ERRORT *TO ERROR ROUTINE
HALT “IF BIT1S IS SET
INC ONL INE *DO NEXT LINE
JMP 6$
10%: NOP
BIC #177600,RS :CLEAR PARITY BIT
MOVB RS, aWORK1 :SAVE IN BUFFER
INC COUNT :BUMP CHAR COUNT
INC WORK 1 *BUMP BUFFER POINTER
000007 cMP COUNT , #7 “LOOKING FOR 7 CHARS
BEQ 128 *GO COMPARE TO SHOULDBE
TSTR  RECERR+1(R0) *ERROR SET ?
BEQ 11¢
CLR RECERR(RO) ;RESET THE ERROR FLAGS
MOV #MSG15,~(SP) :ERROR MSG ADDRESS
JSR ¢ ERRORT *TO ERROR ROUTINE
HALT *IF BIT1S IS SET
118: JSR PC.KROUT
RTS PC :WAIT FOR MORE
128: CLR NOTYET :TURN OFF FOR NOW
001162 MOV #T30BUF ,WwORK1  -RESET BUFFER POINTER
13$: TST COUNT *COMPARE ALL 5 CHARS
BEQ 18%
173630 CMPB  QWORK,aWORK1
BNE 148
INC WORK
INC WORK ]
DEC COUNT
B8R 138

14%: MOV MMSG148,-(SP)
JSR PC,ERRORT
NOP

i8%: INC ONL INE JTEST NEXT LINE
BR 6%

20%: RTS P(




C
(ZLAIBO LAOO, LA34 DMT PROG MACRO M1110 26-tEB~79 14:37 PAGE 32-2

TESTS SEQ 0041
15900
16000
16100
16200 005374 036157 TO3TRL: MSG32 ;110 , ODD PARJTY , 7 BIT
16300 005376 011320 11320
16400 005400 000000 000000
16500 095402 036326 TO3TR2: MSG35 2300 BAUD , ODD PARITY , 7 BIT
16600 005404 012720 12720
}6Z88 005406 000000 000000 JEND OF TABLE
672
16900
17000
17100
17200
17300
17400
17500
17600
17700 M L R R R R L Y el il
*7800 IS THE TEST OF DATA PATHS WITHIN THE LAOQ
1;888 ;JTHE =UxU PATTERN IS ALTERNATING O AND ONE BITS
*8100 005410 TESTOO: SENDALL #MSG42 JANOUNCE TEST
005410 012705 036751 MOV #MSG42 RS ;BUILD SEND CALL USING MESSAGE ADDRESS
005414 005037 001174 CLR MODE
005420 004737 031706 JSR PC,SEND ;NOW SEND THE MESSAGE
18200 005424 SENDR  MMSG4 3. 44
005424 012705 037005 . MOV #MSG43,RS
005430 112737 000004 001174 MOVB #4 MODE
005436 112737 000020 001175 MOVB #20 ,MODE+1
005444 004737 031706 JSR PC,SEND
13288 005450 000207 4%: RTS PC

18500




(ZLAIBO LAQO, LA34 DMT PROG

TESTS

19300 005452
005452
005456
005462

19400 005466

19500 005474

19600 005500

19700 005506

19800 005510

19900 005514

20000 005516

20100 005524

20200 005532

20300 005540

20400 005542

20500 005546

20600 005550
005550
005554
005562
005570

20700 005574
005574
005600
005606
005614

20800 005620

20900 005624

21000 005630

21100 005634

21200 005636
005636
005642
005646

21300 005652

21400 005660

21500 005662

012705
005037
004737
013737
005037
162737
003403
005237
000771
012737
013737
123727
002050
005737
003433

013705
012737
112737
004737

012705
012737
112737
004737
004737
105237
005337
000736

012705
005037
004737
013737
000724

012705
005037
004737
000207

037445
001174
031706
001172
010070
000006

010070

000041
010070
001164

001160

001164
000004
200020
032310

000040

034250
001164
001160

037370
001174
031706
010070

037373
001174
031706

D_¢&
MACRO M1110 26~FEB-79 14:37 PAGE 33

.....................................................................

sTHIS TEST PRINTS FOUR OF EACH PRINTABLE (HARA(TER.
sASCil CODES 04" THRU 176.

.....................................................................

TESTO1: SENDALL #MSGB1 ;SEND TEST ID
?EX ;38881,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND ;sNOW SEND THE MESSAGE
001160 MoV WIDTH,WORK
CLR COUNT
001160 1%: Sus #6, WORK ;WORK = WIDTH / 6
BLE 2%
INC COUNT
BR 1%
001164 2%: MoV #41 ,WORK2 JINIT ASCII CODES
001160 MOV COUNT , WORK
000177 3%: éggﬁ ggRKZ,#177 ;DO WHILE CHAR < 177
4%: TST WORK ;DO WHILE WORK > O
BLE 6%
5%: SENDC2 WORKZ2,#4 ;SEND CHAR 4 TIMES
MOV WORKZ2,R5 ;GET CHAR TO RS
001174 MOV #4 ,MODE :GET REPEAT COUNT
001175 MOvVB #20 ,MODE +1 ;SET REPEAT MODE
JSR PC,CHROUT ;CALL CHAR OUTPUT ROUTINE
SENDC2 440,42 ;SEND 2 SPACES
MOV #40,R5 ;GET CHAR TO R5
001174 MoV #2 ,MODE ;GET REPEAT COUNT
001175 MOVB #20 ,MODE +1 ;SET REPEAT MODE
JSR PC,CHROUT ;CALL CHAR OUTPUT ROUTINE
JSR PC,QUIET
INCB WORKZ2 +NEXT ASCII CODE
DEC WORK
BR 3%
6%: SENDALL #MSG75 sCRLF
??x :ggg?S.RS ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND ;NOW SEND THE MESSAGE
001160 ggv %gUNT,UORK JRESTORE WIDTH/6
8%: SENDALL #MSG77 JSKIP 3 LINES
?SX ;ggg??,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND ;JNOW SEND THE MESSAGE
RTS PC

SEO 0042




CZLAIBO LAOO, LA34 DMT PROG

TESTS

22600
22700

22800

22900
23000

24600

24700

24800

24900
25000
25160

005700
005700
005704
005710
005714
005714
005720
005724
005730

005732
005732
005736
005742
005746
005746
005752
005756
005762
005762
005766
005772
005776
005776
006002
06010
006016
006022
006022
006026
006032
006036

012705
005037
004737

012705
005037
004737
000207

012705
005037
004737

012705
005037
004737

012705
005037
004737

012705
112737
112737
004737

012705
005037
004737
000207

037104
001174
031706

037214
001174
031706

037511
001174
031706

037373
001174
031706

037536
001174
031706

037550
000004
000020
031706

037373
001174
031706

E 4
MACRO M1110 26-FEB-79 14:37 PAGE 34

....................................................................

JALL NON-PRINTING CHARS ARE SENT TO THE LAOO. THE RESULT SHOULD BE

---------------------------------------------------------------------

s 0000000000000 000 0000000000008 000 000000000

;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE
;BUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE

---------------------------------------------------------------------

PRINTS FIVE (HARACTERS '‘ZH*#$'' IN LINE.
F Z'S AND SPACES IS PRINTED THEN THIS
OVERPRINTED WITH A LINE OF H'S AND SPA(ES,
AND SPACES , AND #'S AND SPACES. THIS OVERPRINT

. CREATES TEN BOXES THAT SHOULD BE ALL BLACK.

---------------------------------------------------------------------

:SEND TEST ID
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;SKIP 3 LINES
;BUILD SEND CALL USING MESSAGE ALDRESS

JNOW SEND THE MESSAGE
;SEND THE (HARS
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
JMAKE 4 LINES OF 10 BOXES

;SKIP 3 LINES
JBUILD SEND CALL USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE

TTRIST 187 THE NON PRINTING CHARACTER TEST.'
‘A BLANK LINE.
ESTO5: " SENDALL #MSGLL”

MOV #MSG44 RS
CLR MODE
JSR PC, SEND
SENDALL #MSG4S
MOV #MSG45 RS
‘LR MODE
JSR PC,SEND
RTS PC

1DOT MATRIX TEST

STHIS TEST

A LINE O

JLINE IS

;%'S

TESTO3: SENDALL #MSG83
MOV #MSG83,RS
CLR MODE
JSR PC,SEND
SENDALL #MSG77
MOV #MSG77 RS
CLR MODE
JSR PC, SEND
SENDALL #MS$G84
MOV #MSG84 RS
CLR MODE
JSR PC,SEND

2% SENDR  #MSG8S, #4
MOV #MSG8S5 RS
MOVB  #4 ,MODE
MOVEB  #20,MODE+1
JSR PC, SEND

5% SENDALL #MSG77
MOV #MSG77.R5
CLR MODE
JSR PC, SEND
RTS pC

SEQ 0043




CZLAIBO
TESTS

25300

27700

27800

27900

28000

LAQO, LA34 DMT PROG

006040

006300

012705
005037
004737

0127905
005037
004737
005037
023727
003122
005037
005037
005037
013737
013737
062737
062737

017705
005037
004737

012705
004737

012705
005037
004737

012705
005037
004737

017705
005037
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737

040320
001174
031706

037373
001174
031706
001160
001160

001164
006366
006370
001160
006366
006402
006372

000214
001174
031706

000250
033676

037370
001174
031706

037677
001174
031706

000136
001174
031706

037753
001174
031706

037771
001174
031706

240001
001174
031706

F 4
MACRO M1110  26-FEB~79 14:37 PAGE 35

000006

006366
006370
006370
006366

.....................................................................

CH TEST

;SETUP FOR THIS TEST IS DOWN LINE LOADED FROM THE PROGRAM.
JA MESSAGE WILL BE PRINTED IDENTIFYING THE CURRENT P]T(CH,
;FOLLOWED BY THREE LINES OFf

JPITCHES TESTED :

10, 12, 13,2,

A..l AT THE CURRENT PIT(H.
16.5 CPI. ALL AT

6 LPI.

""""

--------------------------------------------------------------------

TESTO4: SENDALL
MOV

1%:

2%:

CLR
JSR
SENDALL
MoV
(LR
JSR
CLR
CMP
BGT
CLR
CLR
CLR
MoV
MOV
ADD
ADD
SENDAL L
MoV

CLR

JSR
STALL
MOV
JSR
SENDALL
MOV

CLR

JSR
SENDALL
MOV

#MSG109
#MSG109,RS
MODE
PC,SEND
#MSG77
AMSG77 RS

T118

WORK, T11A
T11A,T118
#TABLHF ,T118
#TABLH,T11A
27118
aT11B,R5
MODE

PC, SEND
#250
#250,RS

PC ,MSTALL
#MSG75
#MSG75 ,R5
MODE

aT11A,8¢
MODE
PC,SEND
#MSG3
#MSG93 RS
MOD

#MSG98,RS
MODE
PC,SEND

;SEND TEST ID

;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;3 LINES

;BUILD SEND CALL USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE

;00 WHILE WORK > 0

;GET TABLE OFFSET
;POINTER TO FORMAT (MD
:POINTER TO 1D MSG
;SETUP HORIZ PITCH
;BUILD SEND CALL USING MESSAGE
;NOW SEND THE MESSAGE
;SETUP STALL TIME CONSTALT

;SEND CRLF
JBUILD SEND CALL USING MESSAGE

JNOW SEND THE MESSAGE
BUILD SEND CALL USING MESSAGE
;NOW SEND THE MESSAGE
sBUILD SEND CALL USING MESSAGE
sNOW SEND THE MESSAGE
sBUILD SEND CALL USING MESSAGE
sNOW SEND THE MESSAGE
sBUILD SEND CALL USING MESSAGE
JNOW SEND THE MESSAGE
;BUILD SEND CALL USING MESSAGE
JNOW SEND THE MESSAGE

ADDRESS

ADDRESS

ADDRESS

ADDRESS

ADDRESS

ADDRESS

ACDRESS

SEQ 0044




(2.A]BO LAQD, LA34 DMT

TESTS
28100

28200
28300
28400
28500
28600
28700
28800

28900
29000
29100
29200
293G0

29400
29500

29600
29700

006304
006304
006310
006314
006320
006326
006330
006334
006336
006344
006350
006350
006354
006360
006364

006366
006370
006372
006400
006402
006410

012705
005037
004737
023727
003003
005237
00717
062737
000137

012705
005037
004737
000207

000060
000200
037746
037727
040006
040113

PROG

040056
001174
031706
001164

001164

000002
006074

037373

001174
031706

037741
040013

G &
MACRO M1110 26-FEB=79 "4:37 PAGE 35-1

000003

001160

037734
040620

7%
4%:

T11A:
T118R:
TABLKH:

TABLHF :

SENDALL

Mov

CLR
JSR
{MP
BGT
INC
BR
ADD
JMP
SENDAL .
MOV
(LR
JSR
RTS

.UORD
. WORD
.WORD

.WORD

#MSG107
#MSG107 RS
MODE
PC,SEND
gORK2,#3

$
WORK 2
2%

#2 ,WORK
1%
#MSG77
#MSG77 RS
MODE
PC,SEND
PC

000000

JBUILD SEND CALL USING MESSAGE ADDRESS
sNOW SEND IHE MESSAGE

;JGET NEXT PI1CH

;BUILD SEND CALL USING MESSAGE ADDRESS
JNOW SEND THE MESSAGL
JEXIT...

000000
MSG92,MSG91 ,MSG90,MSG89
MSG99,MSG100,MSG101,MSG108




CZLAIBO
TESTS

30900

31500

31600
31700
31800
31900
32000

LAOQ, 1A34 oMT

012705
005037
004737
012737
005737
003454
013737
006237
162737

012705
113737
112737
004737
000240
000240
013737
006237

012705
113737
112737
004737

012705
005037
004737
005337
000721

012705
005037
004737
000207

PROG

037400
001174
031706
000002
010070

001172
01160
000002

037435
001160
000020
031706

001172
001160

037440
001160
000020
031706

037370
001174
031706
010070

037373
001174
031706

H 4
MACRO M1110 26-FEB-79 14:37 PAGE 36

010070

001160
001160

001160

001174
001175

--------------------------------------------------------------------------

o s0, 800 (X . LA A A I ] LA A N B A A PR A N I ] e s 00 00000000 80000000000

;SPACE - BA(KSPACE TEST

sTHIS TEST PRINTS A LINE OF ALTERNATING SLASHES AND APA(ES.

s THEN BACKSPACES THROUGH THE LINE OVERPRINTING THE */' S

sWITH '\'S. THE RESULTING LINE SHOULD BE A LINE CF ALTERNATING
JX'S AND SPACES. TWO LINES ARE PRINTED PER PASS.

------------------------------------------------------------------------
RO I I N I A 2 B B A B U R B B B R A A B A AN B A I Y A Y ) N NN NN NN RN NN NN NN NN N N

TESTOS: SENDALL #MSG78 JSEND TEST ID
?EX ;88278.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND JNOW SEND THE MESSAGE
MOV #2,COUNT JSU FOR 2 LINES
2%: 1ST COUNT
LE 7% ;DO UNTIL COUNT =0
MoV WIDTH,WORK
ASR WORK
Sus #2 ,WORK JMAKE SHURE WE'RE NGT AT MARGIN
SENDR  #MSG79,WORK JSEND 'Y/ !

MOV #MSG79 ,RS
MOovB WORK ,MODE
MOVR #20,MODE +1
JSR PC,SEND

NOP
NOP
4%: MCv WIDTH,WORK
ASR WORK JRESET COLM COUNT
SENDR  #MSGB0,WORK JSEND "BS BS \ BS”’

MOV #MSG8O,R5
MOVB WORK ,MODE
MOovB #20 MODE +1
ISR PC,SEND

6$: SENDALL #MSG7S ; CRLF
?ox :83275,R5 *BUILD SEND CALL USING MESSAGE ADDRESS
L
JSR PC, SEND ;NOW SEND THE MESSAGE
DEC COUNT
8R 2%
7%: SENDALL #MSG77 ;SKIP 3 LINES
?OX :ggg??.ns ‘BUILD SEND CALL USING MESSAGE ADDRESS
L
JSR PC.SEND :NOW SEND THE MESSAGE
RTS X YEXIT...

SEG 0046




(ZLAIBO LAQO,

TESTS

35600 006654
35500 006660
35600 006666
35700 006674

35800 006710
3£600 006,14
36000 006720
36700 006726
36200 006730
36300 006734

006734

006740

006744
36400 006750
36500 006756
36600 006762
36700 006766
36800 006772
36900 007000
37000 007006
37100 007014
37200 007022
37300 007030
37400 007036
37500 007044
37600 007046

LA34 DMT PRQG

212705
005037
004737
005037
005037
005037
023727
003402
000137
006337
012737
063737

017705
005037
004737
006237
005037
023727
003402
000137

012705
005037
004737
013737
006337
013701
062701
013737
062737
117737
013737
062737
117737
123737
103425
012737

040704
001174
031706
001160
001162
007512
007512

007432
007512
006402
007512

000616
001174
031706
007512
007514
007514

007422

007500
001174
031706
007514
007516
007516
067454
007514
007466
000504
007514
007473
000462
001162

000005

1 4
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000003

0075
0075

I Uy
oo

000004

007516

007516
007516
001160
007516
007516
001162
001172

007514

.................................................................

SET MARGINS TEST

THIS TEST WILL SET 4 PAIRS OF

L & R MARGINS

THEN WILL PRINT A LINE OF = SIGN> THAT SHOUL D
BE WITHIN THOSE MARGINS. ALSO A MESSAGE wiLi BF
SENT SPECIFYING AN ERROR ]F 1T'S NOT AT THE LH

MARGIN,

A REFERENCE LINE WILI. BE PRINTED SHOWING THE
MARGIN LIMITS BEING SET UP,
ALL HORIZ PITCH SETTINGS WILL BE TESTED,

................................................................

TESTO6: SENDALL #MSG111

1%:

4%:

2%:

5¢:

MoV #MSG111,R5
CLR MODE

JSR PC,SEND
CLR WORK

CLR WORK1

CLR w1

MP u1,~3

BLE

JMP 30$

ASL

MOV lTABLHF w3
ADD Wi, W3
SENDALL aw

MoV aw3,R5

CLR MODE

JSR PC.SEND
ASR Wil

CLR we

(0 W2,

BLF 5%

JMP 208
SENDALL #T12FIX
Mov #T12FIX,RS
CLR MODE

JSR PC.,SEND
MOV W2 W3

ASL W3

Mov w3,R1

ADD #TBL12A,R1
MoV Wo, W3

ADD #TBL12R.W3
MOVB aw3, WORK
MoV w2 ,w3

ADD #T8L12C,W3
MOVB W3, WORK 1
(MPR WORK1,WIDTH
B8LO 3¢

MOV #5,W2

;SEND TEST ID
JBUILD SEND CALL USING MESSAGE ADDRESS

JNOW SEND THE MESSAGE

;DO 4 PITCH SETTINGS
;1F DONE GOTO 30

:*2 FOR WORD OFFSET
*PITCH MSG TABLE

;SETUP H PITCH
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;00 5 MARGINS TESTS

JRESET MARGINS
;BUILD SEND CALL USING MESSAGE ADDRLSS

sNOW SEND THE MESSAGE

;POINT TO SETUP ADDR

sPOINT TO LH MARGIN
;GET LH MARSGIN

;POINT TO RH MARGIN
:C"T RH MARGIN
*WITHIN RANGE OF PAPER ?

JNO DO NEXT PJTCH GRO P

SEQ 004’




CZLAIBI LAOO, LA34 DMI
TESTS

37700 007054 000137
37800 007060 113737
37900 007066 005337
38000 007072
007072 012705
007076 005037
007102 004737
38100 007106
007106 012705
007112 113737
007120 112737
007126 004737
38200 007132
007132 012705
007136 005037
007142 004737
38300 007146 013737
38400 007154 163737
33500 007162 005337
38600 007166
007165 072705
007172 013737
007200 112737
07206 004737

007212 012795
007216 005037
007222 004737
38800 007226 013737
28900 027234 163737

007242 012705

007246 013737

007254 112737

007262 004737
39100 007266 011137
39200 007272

007272 013705

007276 005037

007302 004737
39300 007306 004737
39400 007312

007312 012705

007316 005037

007322 004737
39500 007326

007326 012705

007332 112737

007340 112737

007346 004737
39600 007352

007352 012705

007356 005037

007362 004737
39700 007366

007366 012705

007372 005037

PROG

007422
001160
001164

037370
001174
031706

037307
001164
000020
031706

200126
001174
032310
001162
001160
001164

000056
001164
000020
032310

000126
001174
032310
001172
001162

000056
001164
000020
032310
001164

001164
001174
031706
034250

037370
001174
031706

040257
000031
000020
031706

040261
001174
031706

037370
001174

J

4
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001" 64

001174
001175

001164
001164

001174
001175

001164
001164

001174
001175

001174
001175

3%:

JMP
MOVB
DEC
SENDALL
MOV
(LR
JSR
SENDR
MOV
MOvB
MCVR
JSR
SENDCH
MOV
(LR
JSR

20%

WORK , WORK 2
WORK 2
#MSG75
#MSG7S,RS
MODE
PC,SEND
#MSGE2 ,VIRK?2
#MSG62 RS
WORK2 .MODE
#20,MODE +1
PC,SEND
#'y

#'v,RT
MODE
PC,CHROUT
WORK 1 ,WORK?
1'ORK , WORK?2
WORK?Z

F AR | ¥4
L SPS)
wOP 2 ,MODE
#>0) ,MODE +1
;g,cHROUT

vV
#'V,RS
MODE
P(,CHROUT
WwIDTH,WORKZ
WORK i ,WORK?

PC, CHROUT
(R1),WORK?2
WORK 2
WORK2,RS
MODE

PC, SEND

#MSG/S RS
MODE
PC,SENY

#MSG115,425.

#MSG115,RS
#25. ,MODE
#20 ,MODE +1
PC,SEND
#MSGl116
MSG116,RS

#MSG75 RS
MODE

JSEND CRLF

;BUILD SEND CALL USING MESSAGE ADDRESS
sJNOW SEND THE MESSAGE

JPRINT PERIODS....

JPRINT A 'Y’

;JGET CHAR TO RS

;STD MODE

;CALL CHAR QUTPUT ROUTINE

; =RH~lH

;PRINT PERIODS
;GET CHAR TO RS
;GET RFPEAT COUNT

;SET REPEAT MODE

;CALL CHAR OUTPUT ROUTINE

JPRINT A 'YV"'

;GFT CHAR TO RS

:STD MODE

;CALL CHAR OUTPUT ROUTINE

JPRINT MORE PERIODS
GET CHAR TG RS
:GET REPEAT COUNT

;SET REPEAT MODE

;CALL CHAR QUTPUT ROUTINE

;SETUP MARGINS
;BUILD SEND CALL USING MESSAGE ADLRESS

JNOW SEND THE MESSAGE
;JWAIT FOR CATCHUP

;SEND CRLF

sBUILD SEND CALL USING MESSAGE ADDRESS
;sNOW SEND THE MESSAGE

JSEND '=' 25 TIMES

JAND ERROR IF

JBUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE

sSEND (RLF

;BUILD SEND CALL USING MESSAGE ADDRESS

MSG

SEQ 0048




(ZLAIBO
TESTS

39800

39900
40000
40100
40200
40300
404600

40500
40600
40700
40800

40900
41000

41100
41200

41300
41400
47500
41600
41700
41800
41900
42000

LAOO, LA34 DMT PROG

007376
007402
007402
007406
007412

007446
007452

007454
007462

007466
007471
007473
007476
007500
007503
007506

007512
007514
007516

004737

012705
004737
005237
000137
005237
000137
004737

012705
005037
004737
000207

041450
041502
002

000000
000000
000000

031706

000300
033676
007514
006720
007512
006640
033062

037373

001174
031706

0461460
0461514

032

K_4
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041471

064
114
061

063
000

20%:
30%:

TRL12A:

TRL12R:
TBL12C:
T12r IX:

JSR
STALL
MOV
JSR
INC
JMP
INC
JMP
JSR
SENDALL
MOV
CLR
JSR
RTS

BYTE
.BYTE
.BYTE

.WORD
.WORD
.WORD

.EVEN

P( ,SEND
#300
#300,RS
PC.MSTALL
Wwe

2%

w1

1%

PC ,RESETO
#MSG77
#MSG77 ,R5

;NOW SEND THE MESSAGE

JSETUP STALL TIME CONSTANT

JNEXT MARGIN PAIR

:NEXT H PIT(H

JRESET _THE TERMINAL

JSKIP 3 LINES

;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;BYE....

MSG180,MSG181,M5G182,MSG183,M5G184

2,26.,52.,78.,100.
26.,50.,76.,102.,126.
33,133,61,73.61,63,62,163.0

[elele)

SEQ 0049
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SEQ 0050
42200 PR R R R R R R R R R R R R R R R R R R R Y
42300 “HORIZONTAL ' TABS' TEST,
42430 A REFERENCE LINE IS PRINTED, MADE UP OF PERIODS AND V'S
42500 TAB STOPS ARE THEN SET CORRESPONDING TO THE POSITION OF
42600 JTHE V'S. THREE LINES OF TABS AND 1'S ARE PRINTED, WHERE
42700 *THE I°'S SHOULD LINE UP UNDER THE V'S,
42800 “THIS IS REPEATED FOR TAB SETTINGS OF 4.8,9,16,18,32, AND
42900 *64 CHARACTER SPACES.
43000 PP I S P I S P I D
43100
43200 007520 TESTO7: SENDALL #MSG6Q :SEND TEST ID
007520 012705 037245 MOV #MSG60,R5 :BUILD SEND CALL USING MESSAGE ADDRESS
007526 005037 001174 CLR MODE
007530 004737 031706 JSR PC, SEND :NOW SEND THE MESSAGE
43300 007534 012737 010050 001164 1$: MOV #TABL13,WORK2
43400 007542 013737 001172 001162 2s: MOV WIDTH, WORK1
43500 0607550 SENDALL #MSG61 ;ESC-2 RESETS TABS
007550 012705 037304 MOV #MSG61,RS :BUILD SEND CALL USING MESSAGE ADDRESS
007554 005037 001174 CLR MODE
007560 004737 031706 JSR PC, SEND :NOW SEND THE MESSAGE
43600 607564 117737 171374 010066 MOVE  awORK2,TAS
43700 007572 005237 001164 INC WORK?2
43800 007576 105077 171362 (LRB  @WORK2
43900 007602 013701 010066 MOV TAB,R1
44000 007606 SENDALL #MSG7S ;SEND CRLF
007606 012705 037370 MOV #MSG75,RS *BUILD SEND CALL USING MESSAGE ADDRESS
007612 005037 001174 CLR MODE
007616 004737 031706 JSR PC, SEND :NOW SEND THE MESSAGE
44100 007622 163737 010066 001162 3s: SUB TAB, WORK 1 :SU TAB COUNT PER LINE
44200 007630 002433 BLT 6%
44300 007632 005301 4$: DEC R1 ;PRINT TAB -1 PERIODS
44400 007634 SENDC2 #'..R1 *PRINT PERIODS
007634 012705 000056 MOV #'..R5 GET CHAR TO RS
007640 010137 001174 MOV R1,MODE GET REPEAT COUNT
007644 112737 000020 001175 MOVE  #20,MODE+1 *SET REPEAT MODE
007652 004737 032310 ) JSR PC, CHROUT *CALL CHAR OUTPUT ROUTINE
44500 007656 5$: SENDALL #M$G63 SET TAB STOP
007656 012705 037311 MOV #MSG63,RS ‘BUILD SEND CALL USING MESSAGE ADDRESS
007662 005037 021174 CLR ODE
007666 004737 031706 JSR PC, SEND :NOW SEND THE MESSAGE
44600 007672 SENDCH  #°V PRINT A 'V'*
007672 012705 000126 MOV #'V,R5 *GET CHAR TO RS
007676 005037 001174 CLR MODE *STD MODE
007702 004737 032310 JSR PC, CHROUT CALL CHAR OUTPUT ROUTINE
44700 007706 105277 171252 INCB  @WORK2
44800 007712 013701 010066 MOV TAB,R1
44900 007716 000741 BR 38
45000 P VR VL L U VA
45100 007720 012737 000003 010070 6$: MOV #3, COUNT
45200 007726 117737 171232 010066 7%: MOVB  aWORKZ,TAB
45300 007734 001430 BEQ 11$
45400 007736 SENDALL #MSG7S
007736 012705 037370 MOV #MSG75,RS :BUILD SEND CALL USING MESSAGE ADDRESS
007742 005037 001174 (LR MODE
007746 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGE
45500 007752 8s: SENDALL #MSG65 ‘IS5JE A TAB )
007752 012705 037316 MOV #MSG65 RS ‘BUILD SEND CALL USING MESSAGE ADDRESS




CZLAIBO
TESTS

45600

45700
45800
45900
46000
46100

46200
46300
46400
46500
46600
46700
46800
46900
47000
47100
47200
47300
47400
47500
47600
47700
47800

LAOO, LA34 DMT

00775%
007762
007766
007766
007772
007776
010002
010006
010010
010014
010016
010016
010022
010026
010032
010036
0710044
010046

010050
010052
010054

010070

005037
004737

012705
005037
004737
005337
001361
005337
001344

012705
005037
004737
005237
023727
001236
000207

000004
000010
000011
000020
000022
000040
000100
000000
000002

PROG

001174
031706

000111
001174
032310
010066

010070

037373
001174
031706
00116

164
001164 010066

10%:
11%:

TABL13: .

TAR:
COUNT :

(LR
JSR
SENDCH
MOV
CLR
JSR
DEC
BNE
DEC

BNE
SENDALL
MOV
CLR
JSR

.WORD

M 4
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MODE

PC, SEND
#']1,R5
MODE
PC,CHROUT
TAB

8%

COUNT

7$

#MSG?7
#MSG?7 ,RS
MODE
PC,SEND
WORK?2
WORKZ ,#TAB

2%
PC

L 3

N O QAN — =000
Fa¥aeTe Yo L NN
R

;JNOW SEND THE MESSAGE
;PR[NY AN “I”

JGET (HAR TO RS

;STD MODE

;CALL (HAR OUTPUT ROUTINE

;BUILD SEND CALL USING MESSAGE ADDRESS
;JNOW SEND THE MESSAGE

JEXIT

SEQ (051




(ZLAIBO
TESTS

49000 010072
010072
010076
010102

49100 010106
010106
010112
010116

49200 010122

49300 010130

49400 010136
010136
010142
010146

49500 010752

49600 010160

49700 010162

49800 010170
010170
010174
010202
010210

49900 010214

50000 010220

50100 010224

50200 010230
010230
010234
010242
010250

50300 010254
010254
010260
010264

50400 010270
010270
010274
010300

50500 010304
010304

010310
010314
50600 010320
010320
010324
010332
010340

012705
005037
004737

012705
005037
004737
012737
012737

012705
005037
004737
023727
001532
013737

012795
113737
112737

111037

012705
012737
112737
004737

012705
005037
004737

013705
005037
004737

012705
005037
004737

012705
113737
112737
004737

LAOO, LA34 DMT PROG

040355
001174
031706

037373
001174
031706
000001
000012

040412
001174
031706
001160

001160
001164

001166

000055
000006
000020
032310

000060
001174
032310

001166
001174
032310

037320
001174
031706

001164
001162
000020
031706

N 4
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001160
001164

000010
001162

001174
001175

SEQ (OS¢

................................................................

— s
r—e

INE'FEED TEST """
HIS TEST WILL PRINT A REFERENCE LINE OF DASHES

THEN SKIP N LINES AND PRINT THE NUMBER OF LINES
SKIPPED, ALONG WITH SOME CASHES FOR VISUAL
REFERENCE. EACH SKIP COUNT N IS DONE TWICE FOR N

=1 107,

AT 6 LINES PER INCH.

-----------------------------------------------------------------

TEST10:

1%:

3%:

SENDALL
MoV

CLR

JSR
SENDALL
mMov

CLR

JSR
MoV
MOV
SENDALL
MO

#MSG123
#MSG123,R5
MODE
PC,SEND
AMSG77
#MSG77,RS
MODE
PC,SEND

#1 ,WORK
#12 ,WORK?2
#MSG124
#MSG124 RS
MODE
PC,SEND
WORK ,#10
4%
WORK , WORK 1
#WORK?2 , WORK 1
MWORK2 RS
WORK1 ,MODE
#20 ,MODE +1
PC,SEND
WORK1 ,RO
#MSG160,R0
(RO) ,WORK3
N~ H6
#'-,RS

#6 ,MODE
#20,MODE+1
PC.,CHROUT
20

#'0,RS
MODE
PC,C?ROUT

WORK
WORK3,RS
MODE

PC, CHROUT
MMSGE6
MMSG66,RS
MODE
PC,SEND
#WORK2 ,WORK1
#WORK2 RS
WORK1,MODE
#20 ,MODE +1
PC,SEND

;SEND TEST ID
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
JSKIP 3 LINES
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE

;SEND LINE OF DASHES
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
JALL DONE ?
JYES- JUMP

;SEND LINE FEEDS

JGET NUMERIC CHARA(CTER

;SEND 6 DASHES

:GET CHAR TO RS

;GET REPEAT COUNT

:SET REPEAT MODE

;s CALL CHAR QUTPUT ROUTINE

JAND A ZERO

:GET CHAR TO RS

;STD MODE

;CALL CHAR QUTPUT ROUTINE

;AND THE NUMBER FROM ABOVE
;GEY CHAR TO RS

:STD MODE

;CALL CHAR OUTPUT ROUTINE

;NOW RETURN CHAR

;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
;SKIP A LINE




LAOO, LA34 DMIT

010344

010344 012705
0°0350 012737
010356 112737
010364 004737

10370 012705
010374 005037
010400 004737

010404 013705
010410 005037
010414 004737

010420 012705
010424 005037
010430 004737
010434 005237
010440 004737
010444 000642

010446 012705
010452 005037
010456 004737
010462 000207

PROG

000055
000006
000020
032310

000060
001174
032310

001166
001174
032310

037320
001174
031706
001160
034256

037373
001174
0317C¢

B 5
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4%:

SENDC2 #‘-,gb

MOV #'-,RS
MOV #6 ,MODE
MovB #20 ,MODE +1
JER PC, CHROUT
SENV.H #'0

MOV #'0,R5
CLR MODE

JSR PC, CHROUT

SENDCH WORK3

Mov WORK3,R5
CLR MODE

JSR PC,CHROUT
SENDALL #MSG66
Mov #MSGO6,RS

CLR MODE
JSR PC,SEND
INC WORK

B8R 1
SENDALL #MSG77
MOV

#MSG77 RS
CLR MODE
JSR PC,SEND
RTS PC

;SEND 6 DASHES

;GET CHAR TO RS

JGET REPEAT COUNT

;SET REPEAT MODE

;CALL CHAR OUTPUT ROUTINE

;GET CHAR TO RS
:STD MODE
;CALL CHAR OUTPUT ROUTINE

:GET CHAR TO RS
:STD MODE
;CALL CHAR OUTPUT ROUTINE
;SEND CR
:BUILD SEND CALL USIHG MESSAGE ADDRESS

:NOW SEND THE MESSAGE

;CHANGE NO OF LF'S

JSKIP 3 LINES

;BUILD SEND CALL USING MESSAGE ADDRESS

JNOW SEND THE MESSAGE

SEQ 0053




LAOO, LA34 DMT PROG

010464
010464
010470
010474
010500
010504
010512
010516
010520
010526
010530
010536
010540
010542
010550
010556
010564
010566
010566
010572
010576
010602
010606

010610
010616
010624
010624
070630
010636
010644
010650
010656

010660
010660
010664
010670
010674
010702

010704
010704
010710
010714
010720
010724
010730
01073

012705
005037
004737
005337
000750

013737
163737

012705

000412

012705
005037
004737
012737
000712

012705
005037

036007
001174
031706
010756
000001
001162

001162
001162

001162
000012
001160

035172
001174
031706
001160

001162
001160

000040
001166
000020
032210

001162

035174
001174
031706
000001

000110
001174
032310
034250
001160
001162
010512

C 5
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001160

001172
001160
001164

001164
001164

001166
001166

001174
001175
001160

001160

THE LINE IS FULL.

.....................................................................

oooooo

E PRINTED AT RANDOM COLUMN POSITIONS
CONTROLLED BY THE

AS DETERMINED AT STARTUP.

SENDALL #MSG28

MOV
CLR
JSR
MOV
MOV
MOVB
BEQ
cMPB
BHI
(MPB
8EQ
BHI
MOV
SUB
CMPB
BLO

SENDALL

MOV
CLR
JSR
DEC
BR

SENDALL
MOV

CLR
JSR
MOV
BR

SENDCH

Mov
CLR
H, SR
JSR
INC
(LR
JMp

#MSG28,RS
MODE
PC,SEND
#COLTBL ,R3
#1,WORK
(R3)+,WORK1
9

#gRKT,UIDTH
WORK 1, WORK
8%

4%
WORK1,WORK?
#12 ,WORK2
WORK , WORK2
6%

#MSGO8
#MSGO8,R5
MODE

PC, SEND
WORK

2%

WORK1,WORK3
WORK , WORK 3
#40,WORK3
#40,RS
WORK3 ,MODE
#20 ,MODE+1
PC,CHROUT
WORK 1 ,WORK
8%

#MSGO9
#MSGO9,R5
MODE
PC,SEND
#1 ,WORK
2%

#'H
#'H,R5
MODE
PC.,CHROUT
PC,QUIET
WORK
WORK 1

1%

---------------------------------------------------------------------

;SEND TEST ID
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOw SEND THE MESSAGE
JPOINTER TO TABLE OF COLUMNS
JPRESENT POSITION
;DESTINATION POSITION

;BR IF END OF TASLE

:IN RANGE OF PAPER ?

;NO GET NEW DEST.

;IF DEST > POS THEN SPACE
;IF DECT = PCS THEN PRINT X
;IF DEST < POS THEN

;1F DEST < POS-12 DO (R FIRST
;THEN SPACES

JELSE BACKSPACE 1
;BUILD SEND CALL USING MESSAGE ADDRESS

;NOW SEND THE MESSAGE
:POS = POS-1

:CALCULATE # OF SPACES
;DEST - POSITION
s SEND SPACES
JGET CHAR TO RS

;GET REPEAT COUNT
;SET REPEAT MODE
;CALL CHAR OUTPUT ROUTINF
;POS = DEST

;SEND RETURN FIRST

sBUILD SEND CALL USING MESSAGE ADDRESS
;NOW SEND THE MESSAGE

;POS -1

JPRINT AN H

JGET CHAR TO RS

:STD MODE

;CALL CHAR OQUTPUT ROUTINt

JNEW POSITION
sGET NEW DEST COLMN

SEQ 0054




(ZLAIBO LAQO, LA34 DMT PROG

TESTS

56100 070740

56700

56800

56900

57000

57100

57200

57300

57400

57560

010740
010744
010750
010754

010756
010761
010764

ooooogooooooo
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012705 037373
005037 001174
004737 031706

000207
000012
035
200
156
011
176
151
167
204
001
141
166
140
025
136

075
165

D 5
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9%:

SENDALL #MSG77

MoV
CLR
JSR
RTS

.RADIX 10

COLTBL :

.BYTE

.BYTE

BYTE

BYTE

.BYTE

BYTE

BYTE

.BYTE

BYTE

.BYTE

JSKIP 3 LINES

;ggg??,PS JBUILD SEND CALL USING MESSAGE ADDRESS
EE.SEND sNOW SEND THE MESSAGE

29,92,40,128,62,102,110,264,22,9,89,74,126

105,86,123,119,129,107,132,91,82.1,101,37,97

118,88,56,96,76,38,21,81.32,94,60,17.,61

117.25.69,114,65,30,98,90,125,12,120,10,70

31,14,23,121,6,35,2,13.8.63,67,106,122

130,36.75,18,99,16,42,113,5,49,112.33.15

54,77,%9,73,87,95,115,108,41,124,48,19.4

127,53.103,52,93,85,83,50,43.116,59.57.7

55,71,68,3,111,100,45,78,11,131,28.84,72

58,34,44,47,27,20,79,109,66,64,104,80,26

SEQ 0055




032
063

000010

056

E 5
MACRO M13110 26-FEB=79 14:37 PAGE 40=2

000

BYTE  51,46,0
LEVEN
.RADIX 8

Sta 0056




CZLAIBO LAOO, LA34 DM™ PROG

TESTS

58200

58300

58400

58500

58600

58700

58300

58900

59000

59100 011164
011164
011170
011174

56200 011200
011200
11204
011210

59300 011214
011214
011220
011224

61100 011346
61200 011350
61300 011352
61406 011354
61500 011360
61600 011366
61700 011372
61800 011376
61900 0711400
62000 011404
62100 011406

011406

011412
62200 011416

012705
005037
004737

012705
005037
004737

012795
005037
004737
013737
006337
062737

012705
005037
004737

012705
004737
005037
012700
063700
020037
103034
105710
100006
042710
062737
000761
012702

072705
004737
000240

036342
001174
G31706

037304
001174
031706

036373
001174
031706
001152
001166
024554

036477
001174
031706

021450
033676
001160
024554
001160
001166

000200
000002

020634
001160

001160
001160
036441
020352

001160

007640
03367¢

F 5
MACRO M1110 26-FEB-79 14:37 PAGE 4!

001166
001166

0011560

001204

1%:

2%:

7%:

A ¥

5%:

.............................................................

THIS TEST WILL FORCE THE TERMINAL TO TRANSMIT AN XOff
BY JAMMING A SERIES OF TIME CONSUMEING MOVEMLNT (HARS
INTO THE BUFFER , FOLLOWED BY ENOUGH CHARS TO FILL
THE BUFFER. WHEN THE TERMINAL HAS EMPTIED THE BUFFER
TO 10 CHARS [T SHOULD SEND AN XON.

-------------------------------------------------------------

" MoV #M5G37,RS :BUILD SEND CALL USING MESSAGE ADDRESS

CLR MODE

JSR PC, SEND JNOW SEND THE MESSAGE

SENDALL #MSG61 ;CLEAR ALL TAB STOPS

?Eg a38261,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND JNOW SEND THE MESSAGE

SENDALL #MSG38 ;SET TABS AT (OL 1 & 132

?OX :ggg38,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
L

JSR PC,SEND ;NOW SEND THE MESSAGE

MOV NUML IN, WORK 3

ASL WORK 3

ADD #35TOP,WORK3

SENDALL #MSG41 JSTUFF THE BUFFER FULL

?Ex :88?41,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PL,SEND sNOW SEND THE MESSAGE

STALL  #9000. :SHOULD GFT XOFF FROM ALL

MOV #9000. ,R5
~SR PC ,MSTALL
CLR WORK

MOV #STOP KO
ADD WORK ,RO

S RO,WORK3

;SETUP STALL TIME CONSTANT
;CHECK ALL LINES FOR XOFF

BH!S S$

1STR (RO) ;BIf7 SET ?

B8PL 3% sNO- POSSABLE ERROR
BIC #8177,(RO)

ggD :E.UORK ;OK- CHECK NEXT LINE
MOV #DZLINE ,R? ;IS LINE ACTIVE ?
ADD WORK ,R?2

TST8 (R?®

BPL 4% ;YES= REAL ERROR NO XCFF
B8R 2% sNO- CHECK NEXT LINE
ASR WURK sGET REAL LINE NO.

MoV WORK , ONL INE
MoV #MSG4LO, - (SP) ;MSG ADDR FOR ERROR REPORT

JSR PC,ERRORT JREPQRT ERROR

HALT JIF BIT1S IS SET

ASL WORK JRESTORE POINTER

BR 2% JCHECK NEXT LINE

STALL  #4000. JWAIT FOR TERMINALS TO CAT(H WP

MOV #400C. RS JSETUP STALL TIME CONSTANT

JSR PC,MSTALL

SEQ D057
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TESTS SEQ 0058
62300 011420 005037 001160 (LR WORK JCHECK ALL LINES FOR XON
62400 0114246 012700 024554 5%: MOV #STOP,RO
62500 011430 063700 001160 ADD WORK ,RO
62600 011434 020037 001166 (MP RO, WORK 3
62700 011440 103037 BHIS 15%

62800 011442 032710 000001 BIT #8110, (RO) JHAS XON BEEN RECVD ?
62900 011446 (001406 BEQ 8% ;NO~ PCSSABLE ERROR
63000 011450 052710 000001 BI° #8110, (RD)
63100 011454 062737 C00002 061160 7$: ADD #2,WORK s CHECK NEXT L INE
63200 011462 000760 BR 6%
63300 011444 012702 020634 8%: MOV #DZL INE ,RZ ;IS LINE ACTIVE ?
63400 01147C 063702 001160 ADD WORK ,R?
63500 01147« 105712 1STB (R¢) ;TEST BI1 7
63600 01147¢ 100001 BPL 9% JYES ERROR, NO XON
63700 011500 000765 BR 7% JNO CONTINUE
63800 011502 006237 001160 G%: ASR WORK JGET REAL LINE NO.
63300 011506 013737 001160 001204 MOV WORK , ONL INE
64000 011514 012746 036404 mMov #MSGS9, = (SP) ;MSG ADDRESS FOR ERROR REPORT
64100 011520 004737 0203%2 +SR PC,ERROFT JREPORT ERROR NOW
64200 01152+ 000000 HALT J1F BIT1S IS SET
6430C 011526 006337 001160 ASL WORK ; sJRESTORE POINTER
64400 011532 052712 000200 8IS #8177, (R2) JDESELECT | INE IT S DEAD.
64500 011536 000746 BR 7%
64600 011540 15%: SENDALI #MSGO9 ;SEND <CR>
011540 012705 035174 MoV #MSGO9 RS JBUILD SEND CALL USING MESSAGE ADDRESS
011544 005037 CO01174 CtR MODE
011550 004737 031706 JSR PC,SEND JNOW SEND THE MESSAGE
64700 011554 005037 001160 CLR WORK
4800 011560 012700 024554 16%: MOV #S7GP,RO ;CLEAR BITS 7 8 O IN "ABLE
64900 011564 06370C 001160 ADD WORK RO
65000 0711570 020037 001156 e o RO,WORK3
65100 011574 103006 BHIS 20%
65200 011576 042710 000201 8IC #201, (RO) ;CLEAR THE FLAG BJTS
65300 011602 062757 000002 G01160 ADD a7 ,WORK ;DO NEXT L INE
65400 011670 000763 B8R 16%
€5500 011612 0% SENDALL #MSGET ;CLEAR AL TABS
011612 012705 037304 MOV MmSGOT RS ;BUILD SEND CALL USING MESSAGE ADDRES.
011616 005C37 001174 CLR MODE

011622 004737 03170¢ J5R PC,SEND JNOW SEND THE MESSAGE
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21LAIB0
TE5TS

1000
1160
1200
1300
1400

1600
1700
1800
1900
2000

2100

2200

2300
2400

2500

2600

2700

2800

2530

LAUC,

011630
03163
011634
011640
011644
011644
011650
011654
011660
011664
011672
011674
0117200
011704
011710
011716
011724
011732

012074

CATy Mt

012705
005037
004737

012705
005037
004737
005037
023727
003111
005037
005037
005037
013737
013737
062737
062737

017705
005037
004737

012795
004737
023727
001445

012705
005037
004737

012705
00503/
004737

012705
005037
004737

017705
005037
004737

012705
005037
004737

012705
004737

PR

~

040153
00117«
031706

037373
001174
031706
001160
001160

001164
012134
012136
001160
012134
012154
012140

000172
001174
031706

000250
233676
001164

03767/
001174
031706

037727
01174
031706

037753
001174
031706

000070
001174
031706

040001
001174
031706

000200
033676

I
MA(RD M1110 26-FER=’% 14:37 PAGE 44

000012

000006

...................................................................

TVERTICAL PITCH TEST

JSET UP FOR THIS TEST IS DOWN LINE LOADED FROM

:THE HOST. 6 LINES ARE PRINTED AT EACH OF THE FOLLOWING :
; 12,8,6.,4,3, AND 2 LINES PER INCH.

.....................................................................

TEST13: SENDALL #MSG110 ;SEND TEST ID
MOV #NSG110,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
CLR MODE
JSR PC,SEND ;NOW SEND THE MESSAGE
SENDALL #MSG?77 J5KIP 3 LINES
?Ex gggg??,Rs JBUILD SEND A/ 1. USING MESSAGE ADDRESS
JSR PC,SEND :NOW SEND THE MESSAGE
CLR WORK
1%: cMP WORK ,#12
8GT 48
CLR WORK2
CLR T17A
(LR 1178
MOV WORK , T17A
MOV T17A,T178 ;GET TABLE OFFSET

ADD #TABLVF ,T178
ADD #TABLY,T17A
SENDALL aT178B

MOV

oV 26;7B.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND :NOW SEND THE MESSAGE
STALL  #250
MOV #250,RS ;SETUP STALL TIME CONSTANT
JSR PC.MSTALL
2%: (MpP WORKZ , 46
8EQ 1%
SENDALL #MSGSS :PRINT MESSAGE LINE
??g ;gggas.ns *BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND :NOW SEND THE MESSAGE
SENDALI #MSG89
??X ;33289,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC,SEND :NOW SEND THE MESSAGE
SENDALL #MSG93
??x ;ggg93,RS ;BUILD SEND CALL USING MESSAGE ADDRESS>
JSR PC,SEND :NOW SEND THE MESSAGE
SENDALL aT17A
?og ggggA,Rs ;BUILD SEND CALL USING MESSAGE ALCDRESS
L
JSR PC,SEND JNOW SEND THE MESSAGE
SENDALL #MSG98
?EX ;ggg98,ns :BUILD SEND CALL USING MESSAGE ADDRESS
JSR PC, SEND :NOW SEND THE MESSAGE
staLL #2600
MoV #200,RS :SETUP STALL TIME CONSTANT

JSR PC.MSTALL
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S13 SEQ 0067
2000 012100 005237 001164 INC WORK?2
3100 012104 000727 B8R 2%
3200 012106 062737 000002 001160 3% ADD #2 ,WORK
3300 012114 000663 BR 1%
3600 012116 4%: SENDALL #MSG?77 JSKIP 3 LINES
012116 012705 (037373 MOV #MSG?77 RS JBUILD SEND CALL USING MESSAGE ADDRESS
012122 005037 001174 (LR MODE .
012126 004737 031706 JSR PC,SEND JNOW SEND THE MESSAGE
%288 012132 000207 RTS PC
3700 012134 000000 T17A: .WORD  0C0000
3800 012136 000000 T17R: .WORD 000000
3900 C12140 03773% 037775 037771 TARLY: ,WORD MSG90 ,MSG97 ,MSGI6 ,MSGIS ,MSG9S ,MSG118
012146 037765 0%7761 (40322
4000 012154 040037 040051 040032 TABLVF: .WORD  MSG104,MSG106,MS5103,MSG117,M5G105,M5G102
012162 040315 040044 040025
4100
4200
4300 PR R I R R R R R R R R R Y
4400 ;PRINTER BELL TEST
4500 : THIS TEST WwlLlL ISSUE 8 BELL CODES, WITH A DELAY
4600 : o] 1 SEC BETWEEN EACH BELL.
4700 s e el s s eso s eserenetteserecvatesr ottt sesiterecarssassecstsessin
4800
490C 012170 TEST14: SENDALL #MSG120 :SEND TEST [D
012170 012705 040326 MOV MMSG120,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
012174 005037 001174 CLR MODE
012200 004737 031706 JSR PC,SEND :NOW SEND THE MESSAGE
5000 012204 012737 000010 001160 MOV #10,WORK ;8 BELL COUNT
S100 012212 C05037 001164 CLR WORK?
5200 012216 112737 000007 001164 MOVR #7 ,WORK?2
5300 012224 i%: SENDALL #WORKZ2
012224 012705 001164 MOV #WORKZ2 ,R5 :BUILD SEND CALL USING MESSAGE ADDRESS
012230 005037 001174 CLR MODE
012234 004737 (31706 JSR PC,SEND JNOW SEND THE MESSAGE
5400 012240 STALL  #100
012240 012705 000100 MOV #100,RS JSETUP STALL TIME (ONSTANT
012244 004737 033676 JSR PC,MSTALL
5500 012250 005337 001160 DEC WORK
5600 012254 001363 BNE 1%

5700 012256 000207 ) RTS P




CZLAIBO LAQO, LA34 DMT PROG

TESTS

7100 012260
7200 012264
7300 012272
74600 012276
7500 012302
7600 012310
7700 012312
7800 012316
7900 012322
8000 012324
8100 012330
8200 012332

10100 012506
10200 012512
10300 012520
012520
012524

005037
013737
006337
013702
023737
103402
000137
105762
106003
005237
000755

012705
112737
113737
004737
005037

012705
112737
113737
004737
012737
042737
004737

012705
004737
032737
001445
012703
020327
103405
004737
005237
000746
123712
001403
062703

001204
001204
001160
001160
001204

014370
020634

001204
0461344
000010
001204
031706
014302

0460442

034250
011610
033676
00000

014140
014300

013772
001110

001170
000002

100000
001170

001162
000010

5
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001160

001152

001175
001174

001175
001174

001140
014302

014307

001162

001175

SEQ C062

.....................................................................

WILL REQUIRE THE OPERATOR TO TYPE ALL
THE PRINTING KEYS ON THE KEYBOARD.

IF ANY KEYS ARE

: NOT SEEN BY THE PROGRAM THEY WILL BE REQUESTED
; AGAIN, AND A THiRD TIME ]F NECESSARY.
INSTRUCTIONS WILL BE TYPED TO PRESS THE SHIFTS

ECS, AND FUNCTION KEYS.

---------------------------------------------------------------------

;SET CURRENT LINF TO ZERO

JALL DONE ?

JVES EXIT

;IS THIS LINE SELECTED ?
;YES DO TEST

JNO GET NEXT LINE NO

;SEND TEST ID

;MESSAGE ADDRESS TO R5
;SET SINGLE LINE MODE

;SELECTED LINE NO.

;CLEAR TEST FLAG BITS
;PRINT INSTRUCTIONS
;MESSAGE ADDRESS TC R5
:SET SINGLE LINE MGDE
sSELECTED LINE NO.

JLINKAGE TO RECV ROUTINE
JRESET LEFTOVER FLAG

;5 SECOND TIMEOUT
SETUP STALL TIME CONSTANT

;CHAR IN SET ?

;PQINT TO KEY TABLE
sALL DONE ?

:NO
JREPORT ERRCR.....

;COMPARE TO TABLE

;POINT TO NEXT ENTRY
+KEEP LOOKING

+SET CHAR IN FLAG
cECHO THE C(HARA(TER

;MESSAGE ADDRESS 'O RS

CAPS=~LOC,
FIVE SECONDS (S ALLOWED PER KEY .
TEST20: CLR ONL INE
1$: MOV ONL INE , WORK
ASL WOR
MOV WORK ,R2
MP ONL INE ,NUML IN
BLO .+6
IMP END22
TSTB  DZLINE (R2)
B8PL 28
INC ONL INE
BR 1
2%: SENDI  #MSG164 ,ONL INE
MOV #MSG164 RS
MOVB  #10,MODE+1
MOVB  ONLINE,MODE
JSR PC,SEND
CLR FLAG]
SENDI  #MSG140,ONL INE
MOV #MSG140.RS
MOVB  #10,MODE+1
MOVB  ONLINE ,MODE
JSR PC, SEND
3¢: MOV #6$  HOOK
BIC #817T11,FLAG2]
JSR PC,QUIET
STALL #5000
MOV #5000C. RS
JSR PC.MSTALL
81T #81T13,FLAG21
BEQ 48
MOV #KEYTBL ,R3
78: CMP R3, #KEYEND
8LO 8
JSR PC,T21E
INC ERROR
BR 3%
8% : C(MPB  CHARIN, (R3)
BEQ 9%
ADD #2 R3
BR
9% BIS #BITIS (R3)
MOVES  CHARIN.WORK1
SENDI  #WORK1.ONL INE
MOV #WORK 1 .RS
MOVE  #10,MODE+1

JSET SINGLE Llw MODE
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TESTS SEQ 0063
012532 113737 (01204 001174 MOVB  ONLINE,MODE :SELECTED LINE NO.
012540 004737 031706 JSR PC, SEND

10400 012544 032737 010000 014302 BiT #BiT12,FLAG21  ;CHECK FOR DONE BIT

10500 012552 001715 BEQ 38

10600 01255¢ 000137 013010 JMP 18 ;ELSE_TIMEOUT ERROR

10700 012560 105737 014302 4$: TSTB  FLAG21 *FIRST TIMEQUT ?

1080C 012564 100045 BPL 5% YES TRY AGAIN

10900 012566 SENDI  #MSG146,0NL INE :NC SPACE MSG.....
012566 012705 041001 MOV #M5G146 RS :MESSAGE ADDRESS T0 RS
012572 112737 000010 501175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
012600 113737 001204 001174 MOVE  ONLINE,MODE ;SELECTED LINE NO.
012606 004737 031706 JSR PC, SEND

11000 012612 SENDI  #MSR165,0ONLINE
012612 012705 041374 MOV #MSG165 RS :MESSAGE ADDRFSS TO RS
012616 112737 000010 001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
0726264 113737 001204 001174 MOVB  ONL INE MODE ;SELECTED LINE NO.
012632 004737 031706 JSR PC,SEND

11100 012636 SENDI  #MSGT43,ONL INE
012636 512705 040730 MOV #M5G143 RS :MESSAGE ADDRESS TO RS
012642 112737 000010 001175 MOVB  #10,MODE +1 ;SET SINGLE LINE MODE
012650 113737 001204 001174 MOVB  ONL INE MODE :SELECTED I INE NO.
012656 004737 031706 JSR PC, SEND

11200 012662 042737 000200 014302 BIC #8117, FLAG21

11300 012670 005237 001110 INC ERROR

11400 012674 000137 013374 JMP 17% ;GO TO SECTN=2

11500 012700 5% SENDI  #MSG142 .ONL INE :HIT SPACE MSG.....
012700 012705 040666 MOV #MSG142 RS *MESSAGE ADDRESS T0 RS
012704 112737 000010 001175 MOV  #10,MODE+1 ;SET SINGLE LINE MODE
012712 113737 001204 001174 MOVB  ONLINE,MODE ;SELECTED LINE NO.
012720 004737 031706 JSR PC,SEND

11600 012724 052737 000200 014302 BIS #8IT7,FLAG2T  ;SET 2ND TRY FLAG

11700 012732 000625 BR 38

11800

11900 T R R R R R R N R Y

12000 ;" SCAN'ROUTINE

~2200 012734 005037 001146 6$: CLR LOOPO ;RESET TIMEOUT COUNT

12300 012740 005037 001162 (LR WORK 1

12400 012744 042705 177600 BIC #177600,RS :CLEAR PARITY BIT

12500 012750 010537 001170 MOV RS, CHARIN

12600 012754 052737 020000 014302 BIS #BIT13,FLAG21  ;SET CHAR IN FLAG

12700 012762 120527 000040 CMPB RS, 440 *1S CHAR A SPACE ?

12800 012766 001403 BEQ 1178

12900 01277C 004737 033446 108:  JSR PC,KBOUT :REMOVE CHAR FROM BUFFER

13000 G12774 000207 RTS pC

13100 012776 000240 ) 111$:  NOP

13200 013000 052737 010000 014302 BIS #81T12,FLAG21  ;SET DONE FLAG

13300 013006 000770 BR 1C$

13400

13500 S eeeeiesecoeciesertenstecescstcastsncnssstetetesnssesonenne

13600 LEF TOVERS” SCAN ROUTINE

13800 013010 11$:  SENDI  #MSG7S,ONL INE ;CRLF
013010 012705 037370 MOV #MSG75 RS MESSAGE ADDRESS TO RS
013014 112737 000010 001375 MOVE  #10,MODE+1 :SET SINGLE LINE MODE
013022 13737 001204 001174 MOVB  ONLINE, MODE ;SELECTED LINE NO.

013030 004737 031706 JSR PC.SEND




CZLAIBO LACO, LA34 DMT

TESTS

13900 013034
14000 013040
14100 013046
14200 013052
14300 013056
14400 013060
14500 013062
14600 013064
14700 013070

16500 013262
013262
013266
013274
013302

6600 013306

00

6

800 013312
6900 013316
7000 013322
7100 013324
200 013330
300

u12703
042737
005037
0c0327
001431
005723
100773
005037
052737
005303
114337

012705
112737
113737
004737
004737
062703
000744
032737
001465

012705
112737
113737
004737
012703
042713
005237
013737
042737
023727
003026

012705
112737
113737
004737

012705
112737
113737
004737
000137

012746
004737
000000
012703
042723
020327
103773
005037

012705
112737
113737

PROG

014149
010000
001162
014300

001160
034000

041307

041307
000010
001204
031706
034250
000002

0040C0

040730
000010
001204
031706
014276
100000
014302
014302
177770
001160

040764
000010
001204
031706

040632
000010
001204
031706
012406

040730
020352

014140
100000
14300

014302
037373

000010
001204

M 5
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014302

014302

001175
001174

014302

001160
001160
000003

001175
001174

001175
001174

12%:

13%:

MOV
BI(
(LR
(MP
BEQ
TS
BM]
(LR
BIS
DEC
mMovB
SEND!
MOV
MOVB
MOvR
JSR
JSR
ADD
BR
BIT
BEQ
SEND!
MOV
MOVB
MovRe
JSR
MOV
8I1C
INC
MOV
81C
cMP
BCT
SEND]
mMov
MOVB
Mov8e
JSR
SENDI
MOV
mMovs
mMovBe
JSR
JMP

#KEYTBL ,R3
#BIT12,FLAG2T
WORK1
R3,#KEYEND
13%

(R3)+
12%

WORK
#81T11,FLAG2T
R3

-(R3) ,M5616¢2
#MSG162,ONL INE
#MSG162,R5
#10,MODE +1

ONL INE ,MODE
PC,SEND
PC,QUIET

12.R3

2%
#BIT11,FLAG2Y
15%

#MSG143,ONL INE
#MSG143 RS
#10 ,MODE +1

ONL INE ,MODE
PC,SEND
#KEYEND-2 R3
#81T15,(R3)
FLAG21

FLAG21 ,WORK
#-8. ,WORK

WORK 43

14%
#MSG144,ONL INE
#MSG144 RS
#10,MODE +1

ONL INE ,MODE
PC,SEND
#MSG145,0NL INE
#MSG145,RS
#10,MODE +1

ONL INE ,MODE
PC,SEND

3%

----------------------------

IR N RN NN NN N

JSR
HALT
MOV
8I1C
CMP
BLO
CLR
SENDI
MOV
MOVB
mMovB

s5ia% L 1Eh)
PC.,ERRORT

#KEYTBL ,R3
#81T15,(R3)+
R3 AKEYEND
16%

FLAG21
#MSG77,ONL INE
#MSG77 ,R5
#10,MODE +1
ONL INE ,MODE

;POINT TO TABLE

;DONE YET ?
.YES ..GO 10 13%
;CHECK CHAR IN FLAG(BIT 15

;SET LEFTOVER KEY FLAG

;PUT CHAR IN MSG
JAND TYPE IT OUT
;MESSAGE ADDRESS TO RS
;SET SINGLE LINE MODE
;SELECTED LINE NO.

;JGET NEXT TABLE ENTRY

JKEEF SCANNING FOR LEFTOVERS

sANY LEFTOVERS ?

;NO GO CLEAN THE TABLE ETC.
;NOT SEEN MSG.....
;MESSAGE ADDRESS TO R5

;SET SINGLE LINE MODE
;SELECTED LINE NO.

JRESET SPACE IN FLAG
;OPERATOR GETS THREE TRIES

;3 STRIKES YOU'RE OuT !!!
:TRY AGAIN MSG.....
sMESSAGE ADDRESS TO R5
;SET SINGLE LINE MODE
sSELECTED LINE NO.

JHIT SPACE LAST MSG.....
:MESSAGE ADDRESS TO R5

;SET SINGLE LINE MODE
sSELECTED LINE NO.

NEVER RECYD ERROR MSG....

;CLEAN THE TABLE FLAGS

;SKIP 3 LINES

;MESSAGE ADDRESS TO RS
sSET SINGLE LINE MODE

sSELECIED LINE NO.

SEQ 0064




CZLAIBO LAOO, LA34 DMT PROG
TESTS

013366 004737 031706
17700 013372 000240

18200 013374 012737 014304
18300 013402 012703 014312
18400 013406 012704 014352
18500 013412 012737 013740
18600 013420 005777 165542
18700 013424 001004

18800 013426 005237 001204
18900 013432 000137 012264
19000 013436 062703 000002
19100 013442 005713

19200 013444 001004

19300 013446 062737 000002
19400 013454 000761

19500 013456 042737 000200

013464 012705 041055

013470 112737 000010

013476 113737 001204

013504 004737 031706
19700 013510

013510 017705 165452

013514 112737 000010

013522 113737 001204

012530 004737 031706
19800 013534

013534 011305

013536 112737 000010

013544 113737 001204

013552 004737 031706
19900 013556 004737 034250

013562 012705 011610

013566 004737 033676
20100 013572 105737 014302
20200 013576 100445

013600 012705 041001
013604 112737 000010
013612 113737 001204
013620 004737 031706
20400 013624 162703 000002
20500 013630
013630 012305
013632 112737 000010
013640 113737 001204
013646 004737 031706
20600 013652
) 12705 040730

013652 0
013656 112737 000010
685737 001204

013664
013672 4737 031706
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SEQ 0065

JSR PC,SEND
NOP

--------------------------------------------------------------
s 0P 000000000 .

TSECTION'S"2" " SHiFT.CAPS-LOC,
001166 178: MOV #CTLTBL,WORK3

MoV #SHITBL-2,R3
MOV #CODTBL R4

001140 MOV #22$ ,HOOK
18%: ST 2WORK3 :END OF CTLTRL 2
BNE 19$
INC ONL INE SSELECT NEXT LINE
JMP 1% “YES EXIT TEST
19%:  ADD #2,R3
ST (R3) ;END OF SHITRL ?
BNE 208
001166 ADD #2 ,WORK3
BR 18%
014302 208:  BIC #81T7.FLAG21 ;CLEAR DONE FLAG
SENDI  #MSG150,0NLINE SSEND INSTRUNT IONS
MOV #MSG150.R5 ;MESSAGE ADDRESS 1O RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONLINE,MODE ;SELECTED LINE NO.
JSR PC,SEND
SENDI  @WORK3,ONLINE  ;SEND INSTRUCTION #2
MOV AWORK3 RS *MESSAGE ADDRESS TO RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONLINE,MODE sSELECTED LINE NO.
JSR PC,SEND
SENDI  (R3).ONLINE
MOV (R3).R5 ;MESSAGE ADDRESS TO RS
001175 MOVB  #10.MODE+1 *SET SINGLE LINE MODE
001174 MOVB  ONLINE.MODE ;SELECTED LINE NO.
JSR PC.SEND
JSR PC.QUIET
STALL  #5000. ;WAIT 5 SECONDS
MOV #5000. ,RS “SETUP STALL TIME CONSTANT
JSR PC.MSTALL
ISTB  FLAG21 ;DONE FLAG SET ?
BM] 218 SYES BRANCH
SENDI  #MSG146,0NL INE *ERROR DIDN'T RECV CHAR
MOV #MSG146 RS *MESSAGE ADDRESS TO RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MGVB  ONLINE,MODE SSELECTED LINE NO.
JSR PC,SEND
Sus #2 R3
SENDI  (P%)+,ONLINE
MOV (R3)+.R5 :MESSAGE ADDRESS TO RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONLINE.MODE ;SELECTED LINE NO.
JSR PC, SEND
SENDI  #MS$G143,0NLINE
MOV #MSG143.RS :MESSAGE ADDRESS YO RS
001175 MOVB  #10,MODE+ sSET SINGLE LINE MODE
001174 MOVB  ONLINE,MODE SSELECTED LINE NO.

JSR PC,SEND




(ZLAIBO LAQO, LA34 DMT
TESTS

20700 013676 005237
20800 013702 005737
20900 013706 100253
21000 013710 000000
013712 000240
015714 123724
013720 001646
013722 004737
013726 005304
00 013730 162703
700 013734 00037

22200 013740 000240
22300 013742 052737
224600 013750 042705
22500 013754 010537
22600 013760 005037
22700 013764 004737
22800 G13770 000207

23300 013772 032737
23400 014000 001056
23500 014002 013737
23600 014010 012705
23700 014014 004737
23800 014020 113737
23900 014026 113737
24000 014034 113737
24100 014042
014042 012705
014046 112737
014054 113737
014062 004737
246200 014066
014066 012705
014072 112737
01410C 113737
014106 CO04737
25300 014112
014112 012705
014116 112737
01412¢ 113737
014132 004737
244600 014136 000207
24500
24600
24700 014140 000054
014146 000057
014154 000062
014162 000073
24800 014166 000065

PROG

001110
001116

001170
013772

000002
013436

000200
177600
00i170
001146
033446

020000

001170
020600
033730
020603
020604
020605

041001
000010
001204
031706

041014
000010
001204
031706

041132
000010
001204
031706

000055
000060
000063
000047
000066
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014302

001116
001134
041132

041133
041134

001175
001174

001175
001174

001175
001174

000056
000061
000064

000067

21%:

INC
TST
BPL
HALT
NOP
(MPB
BEQ
JSR
DEC
SUs
JMP

ERROR
SO JHALT ON ERROR ?
19%

JIF BIT 15 SET
%géRIN,(R4)+ JCHECK FOR CORRECT CODE
PE.T?1E ;CALL ERROR ROUTINE
#2,R3
19%

22%:

23%:

NOP
BIS
BIC
MOV
CLR
JSR
RTS

sGE™ CHAR FROM FIFO

#B1T7,FLAG21 ;SET DONE FLAG
#177600,R5 ;CLEAR PARITY BIT
R5,CHARIN

LOOPO ;TURN OFF TIMER

EE.KBOUT

.............................................................

121E:

26%:

KEYTBL:

BIT
BNE
MOV
MOV
JSR
MovB
MOVB

RTS
.WORD

.WORD

ggiT13,SO ;CHECK Sw 13

CHARIN, TEMP :SET UP CONVERTER
#EBUF RS

PC,BIOCT s CONVERT TO ASCII

EBUF +3,MSG149

EBUF ¢4 ,MSG149+1.

EBUF +5,MSG149+2.

#MSG146,0NL INE

#MSG146,R5 ;MESSAGE ADDRESS TO R5
#10,MODE +1 ;SET SINGLE LINE MODE

ONL INE ,MODE sSELECTED LINE NO.
PC,SEND

#MSG148, ONL INE

#MSG148,RS ;MESSAGE ADDRESS TO RS
#10,MODE +1 ;SET SINGLE LINE MODE

ONL INE ,MODE SSELECTED LINE NO.
PC,SEND

#MSG149,0NL INE

#MSG149,RS ;MESSAGE ADDRESS TO RS
#10,MODE +1 sSET SINGLE LINE MODE

ONL INE ,MODE sSELECTED LINE NO.
PC,SEND

PC

54,55,56,57,60,61,62,63,64,73,47

65,66,67,70,71,75,133,134,135

SEQ 0066




25000
25100

25200

25300
25400
25500
25600

25700
25800

25900

26000
26100
26200 014352

26300

26400

26500 014370
26600 014374
26700 014400
26800 014404
26900 014410
27000

000070
000133
000140
000143
000146
000150
000153
000156
000160
000167
000166
000170
000040
000000
000000

041446
00CC00

041136
041263
041416
061442
041642

101
015
012
044
000

005037
005037
005037
005037
000207

BO LAOO, LA34 DMT PROG

000071
000134
000141
000144
000147
000151
000154
000157

041110

041066
061167
041431
041163
041163

102
020
177
104

001146
001204
014302
001140

C
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000075
000135
000142
0C0145

000152
000155

00162
000165

000172

041212

041255
041402
000000
000000
0C0000

011
010
104
064

KEYEND:
FLAGZT:
CTLIBRL:

SHITBL:

CODTRL :

.EVEN
END22:

.WORD

.WORD

.WORD

.WORD

.WORD
.WORD

.WORD

.WORD
.WORD
.WORD
.BYTE

140,141,142,143%,144,145,146,147
150,151,152,153,154,155,156,157
160,161,162,163,164,165,166,167

170,171,172,4C

0
0

MSG170,MSG156,MSG157,0

MSG151,MSG152,MSG158,MSG159,M5G154,M5G166
MSG167,MSG168,000000,MSG169,.M56153, 000000
MSG16%,M5G153, 00000
101,102,011,015.020,010,012,177,104 064,104,064 .0

LOOPO
ONL INE
FLAG2!1
HOOK

PC

SEQ 0067




(Z: AIBO LAOG, LA3& DMT PROG

TESTS

27200
27300
274600
27500
7600
27700
27800
27900
28000 014412
28100 014416
28200 014422
28300 (14426
28400 014430
28500 014436
28600 014440
28700 014444
28800 014450
28900 014452
29000 014456

29200 014460
014460
014464
014472
014500

29300 014504

29400 014512

29500 014516
014516
014522

29600 014526

29700 014534

29800 014536
014536
014542
014550
014556

29900 014562

30100 014564
30200 014570
30300 014576
30400 014600
30500 014604

014676
316400 014702

005037

103402
000137
105760
100003
005237
000761

012705
112737
113737
004737
012737
004737

012795
004737
032737
001013

012705
112737
113737
004737
000753

005037
123727
001557

001204
014302
001204

001204

015146
020634

001204

035524
000010
001204
031706
015164
034250

010000
03367¢
000004

042366
000010
C01204
031706

014302
001170

001160
001170
001160
001135
016324
033730
016327
016330
016331

041132
000010
001204
031706
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*"CHARACTER' CODE ECHO' TEST 21°

.................................

THIS TEST WILL ECHO THE OCTAL CODE OF THE (HARACTER
RECIEVED, ALONG WITH THE CHARACTER IF [T IS PRINTABLE.
IF NONPRINTABLE THE MNEMONIC WILL BE RETURNED.

; TYPE A DELETE TO EXIT THIS TEST.
TEST21: CLR ONLINE :SU FOR LINE O
CLR FLAG21
1%: MOV ONL INE ,RO
ASL RO JMAKE WORD OFFSET TO TARLES
001152 CMP ONL INE ,NUML IN ;DONE YET ?
BLO 4$
JMP 20$
4%: TSTB  DZLINE(RO) ;1S LINE SELECTED ?
8PL 2% *YES=— GO TEST LINE
INC ONL INE *NO- TRY NEXT LINE
8R 1%
2%: SEND] #MSG18,0NLINE ;SEND TEST ID MSG
MOV #MSG18,RS ;MESSAGE ADDRESS TO RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVEB  ONLINE,MODE :SELECTED LINE NO.
JSR PC,SEND
001140 MOV #308 , HOOK
3%: JSR PC,QUIET WAIT FOR PRINTING TO FINISH
STALL #10000 ;THEN WAIT 10 SECONDS
MOV #10000,RS JSETUP STALL TIME (ONSTANT
JSR PC.MSTALL
014302 BIT #BIT2,FLAG2T  ;CHAR RECVD FLAG SET ?
BNE 5¢ *YES GOTO S
SENDI  #MSGK3,ONLINE  -NO- PROMPT OPERATOR
MOV #MSGK3,R5 ;MESSAGE ADDRESS 10 RS
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONLINE ,MODE SSELECTED LINE NO.
JSR PC, SEND
B8R 13
5%: CLR FLAG21
000177 CMPB  CHARIN, 177 ;DELETE CHAR °
BEQ 108 SYES JUMP TO 10
CLR WORK
001160 MOVEB  CHARIN,WORK ;SAVE CHAR
001134 MOVB  WORK,TEMP 1SU TO CONVERT TQ OCTAL/ASCII
CLRB  TEMP+1
MOV #T30BUF ,RS
JSR pc.BlOCT :CONVERT & STORE AT T30RUF
041132 MOVB  T30BUF+3.MSG149
041133 MOVB  T30BUF +4.MS5G149+1
061134 MOVB  T30BUF +5.M5G149+2
SEND! #MSG149,0NLINE  ;SEND OCTAL DATA
MOV #MSG149 RS ;MESSAGE ADDRESS TO R5
001175 MOVB  #10,MODE+1 ;SET SINGLE LINE MODE
001174 MOVB  ONL INE ,MODE ;SELECTED LINE NO.
JSR PC,SEND
SENDI  #MSGT15,ONLINE ;AND AN '=°

SEG 0048




LA]
STS
014702
014706
014714
014722
31500 014,26
31600 014732
31700 014740
31800
31900 014742
32000 014746
32100 014750
32200 014754
32300 014760
32400 014764
32500 014770
32600 014772
32700 014776
32800 015000

33000
23100
33200 Gi5032
33300 015040

015040

15044

015052

015060
33400 015064
33500 015072
33600 015074
33700 015100
53800 015104
33900 015106
015106
015112
015120
015126
015132
34100 015136
34200 015142

015146
015146
015152
015156
34500 015162
34600

34,700 015164
34,800 015170
34900 015176
35000 015202
35100 015206
35200 015212

BO LAOO, LA34 DMT

O—=00
200
Nt
o
(=]
W

&
N
~
(=]
W

6324

—=O= -2

2020
NS I e XV Te

W) WN

=On

L VNP

113737

012705
112737
113737
004737
032760
001405
012746
004737
000000

012705
112737
113737
004757
000137
005237
000137

Ci2705
005037
004737
000207

005037
052737
042705
010537
004737
000207

PROG

040257
000010
001204«
031706
034250
001160

061132

001160
001160
001166
036163

036163
036163

061132
000010
007204
031706

001170

037330
000010
001204
031706
040000

035415
020352

037370
000010
007204
031706
014512
001204
014422

037373
001174
031706

001146
000004
177600
001170
033446

MACRO M1110 26-FEB=79 14:37

MOV
MOVB
MOVB
JSR
JSR
CMPB
BHI

6%: MoV
CLR
MOVB
ASL
ADD
MOVB
INC
MOVB
INC
MOVE
SEND]
MOV
MOVB

001175
001174

000040

001175
001174

037330 7%:

001175
001174

031566 8s%:

9%: SENDI

001175
001174

10$:

20%: SENDALL
MOV
CLR
JSR

RTS

CLR
BIS
BIC
MOv
JSR
RTS

30%:
014302

E 6
PAGE 46~"

#MSG115,RS
#10,MODE +1
ONL INE ,MODE
PC,SEND
PC,QUIET
WORK , #40

7%

#MSG149,R4
R3

WORK ,R3
WORK

WORK ,R3
:gcsé(ns),(n4)+
MSG33(R3), (R4) +
R3

MSG33(R3), (R4)
#MSG149,ONL INE

#MSG149 ,R5

#10 ,MODE +1

ONL INE ,MODE
PC,SEND

8%

CHARIN MSG70
#MSG70, ONL INE
#MSG70,R5
#10,MODE +1
ONL INE ,MODE

PC,SEND
sg1T14.RECERR(RO)

#MSG15,-(SP)
PC,ERRORT

#MSG75,ONLINE
#MSG75,RS
#10,MODE +1
ONL INE ,MODE
PC,SEND

3

ONL INE
1%

#MSG77
#MSG77 RS
MODE
PC,SEND
PC

LOOPO
#BIT2.FLAG2]
#177600,R5
RS, CHARIN
PC .KBOUT

PC

.MESSAGE ADDRESS TO R5
JSET SINGLE LINE MODE
JSELECTED LINE NO.

JPRINTABLE CHARACTER ?
;YES= GCTO 7

;CODE *»3 FOR TABLE OFFSET

;GET MNEMONIC CHARS
JPRINT (HAR MNEMONIC
;MESSAGE ADDRESS TG R5
;SET SINGLE LINE MODE
;SELECTED L INE NO.

;ECHO RECVD CHARA(CTER

;MESSAGE ADDRESS T0 R5
;SET SINGLE LINE MODE
sSELECTED LINE NO.
;PARITY OK ?
;NO CALL ERROR RTN.
;1F BIT 15 SET IN SWR

sMESSAGE ADDRESS TO RS

¢SET SINGLE LINE MODE
sSELECTED LINE NO.

JTEST NEXT LINE

;BUILD SEND CALL USING MESSAGE ADDRESS

sNOW SEND THE MESSAGE

;ABORT TIMEOUT
sSET CHAR RECVD FLAG

sTO RECV RIN,

SEQ 0069




(ZLAIBO LAOD, LA3% DMT

TESTS

35400
35500

38000 015336

38100 015362
38200 015366
38300 015370

38400 015414

38500 015440
38600 015446

38700 015456
38800 015462
28900 015464
39000 015470
39100 015472
39200 015476

005037
012701
005037
012737
013700
006300
023737
001550
105760
100003
005237
000763

012705
112737
113737
004737
005037
023727
002403
005237
000740

012705
112737
133737
004737
013701
006301

016105
112737
113737
004737

012705
112737
113737
004737
012737

012705
004737
005737
001420
105761
100410
012746
004737

PROG

001204
015622
001160
015602
001204

001204
020634
001204

042136
000010
001204
031706
001164
001164

001224

0461617
000010
001204
031706
001164

015622
000010
001204
031706

0461676
000010
007204
031706
177777

035230
033676
001136
024554

036441
020352

F 6
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001140

001152

000012

001175
001174

001175
001174

01175
001174

001136

-----------------------------------------------------------------

TESTZ?2:

1%:

2%:

(%

5%:

P F PO LI PISOIIIPINPIIPIVIOSIESESIPNINIITIOIPINIIY

WILL REQUIRE THE OPERATOR TO ENTER

SETUP MODE, AND (CHANGE THE MODE TO THAT SPECIFIED.
A LINE OR LINES OF DATA WILL BE PRINTED AND
SHOULD BE AT THE NEW PITCH.

-----------------------------------------------------------------

CLR
Mov
CLR
MoV
Mov
ASL
CMP
BEQ
TSTR
BPL

ONL INE ;START ON LINE 0

#TABL24,R1

WORK

#11$, HOOK ;SET INTR CATCHER
ggLINE.RO

ONL INE ,NUM_ IN ;DONE ALL LINES ?

108 YES JUMP

DZL INE (RO) ACTIVE LINE ?

2$ “YES- START TESTS
?§L1~E *NO- TRY NEXT LINE
#MSG320,ONL INE SSEND TEST ID
#MSG320.RS *MESSAGE ADDRESS TO RS
#10,MODE +1 :SET SINGLE LINE MODE

ONL INE ,MODE :SELECTED L INE NO.
PC,SEND

WORK?2 ;SUBTEST O OF 9

WORK2, #10. *DONE 10 YET?

48 ‘NO KEEP TESTING
?gLINE SYES GET NEXT LINE
#MSG303, ONL INE sSEND INSTRUCTIONS
#MSG303.RS *MESSAGE ADDRESS 70 RS
#10 ,MGDE +1 ;SET SINGLE LINE MODE

ONL INE ,MODE ;SELECTED LINE NO.
PC,SEND

:?RKZ.R1 :POINT TO MSG TABLE
TABL24 (R1) ,ONL INE :SEND MSG FOR SUBTEST
TABL24 (R1) _RS *MESSAGE ADDRESS TG RS
#10 ,MODE +1 ;SET SINGLE LINE MODE

ONL INE ,MODE ;SELECTED L INE NO.
PC,SEND

#M5G304 , ONL INE

#M5G6304 RS :MESSAGE ADDRESS T0 kS
c1o.noofv1 sSET SINGLE I INE MODE

ONL INE ,MODE ;SELECTED LINE NO.
PC,SEND

#<1 NOTYET :GETS CLEARED BY XON MSG
#15000. SALLOW SETUP TIME 15 SEC
#15000. ,RS sSETUP STALL TIME CONSTANT
PCMSTALL

NOTYET ;SEEN XON YET ?

7% SYES CONTINUE

STOP(R1) *LINE SELECTED 2

6$ SYES WAIT MORE TIME

#MSG4O,=(SP)
PC,ERRORT

JREPORT ERROR

S¢Q 0070




(ZLAIBO LAXQ, LASL DMT

TESTS

39300
39400
39500
39600
39700
39800

vV icivioav o
?O
SO OFNVO SN

Vv iV AV WAL
L‘I\JLNLNNNN—'—‘-—'

W
VAN
[0 X e JV B
SOM~ONO

015574
015600

015602
015606
01561C
015614
015620

015622
£15630
015036
015644

015650
015656
015662
015670

000000
005237

016105
112737
113737
004737
004737
005237
000137
005037
000207

122705
001004
005037
005037
000207

0461755
042013
042025
042051

040056
040CS6
042224
42274

PROG

001204

024554
(15646

015650

015650
000010
001204
031706
034250
001164
015320
001140

000021

001136
001146

061767
042075
041743
000000

040056
042164
042244
042304

MACRO M1110 26-FEB-79 14:37

o0
QO
— —
— —
NN
£Han

042001
042032
042063

040056

042264
000000

HALT
INC
B8R
6%: NOP
CLRB
JMP
7%: NOP
TST
BEQ
SENDI!
MOV
MOVR
MOVB
JSR
JSR
9%: INC
JMP
10%. (LR
RTS

11%: CMPB
BNE
CLR
CLR

128: RTS

TABL24: .WORD

.WORD

TAR24K: .WORD
.WORD

G_ 6
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J1F SW 15 SET

ONL INE JTRY NEXT LINE

1%

STOP(RZ)

5%

TAB24B(R1)

9% JYES JUMP

TAB24B(R1) , 0N INE :SEND THE MSG
TAB24R(R1) ,RS :MESSAGE ADDRESS TG RS
#10 ,MODE +1 ;SET SINGLE LINE MODE

ONL INE ,MODE JSELECTFD LINE NO.
PC,SEND

PC,QUIET

ggRKZ :SU NEXT SUBTEST

HOOK ;RELEASE INTR CATCHER

PC JEXIT.......

#21,R5 JXON ?

12$

NOTYET ;CLEAR IN XON

é?OPO :ABORT TIMEOUT

MSG309,MS5510,M56311,M56312,M5G317,M5G314
MSG313,MS6308,M56316,M56G315,000000

MSG107,MSG107,MSG107 ,MSG107,MSG321
MSG322.MSG323,MSG324 ,MSG325.M5G326, 000000

ZEQ 0071




TILALBT L ALC, (A3L DMT PROG

TESTS

2300
L2400
«250C
42600
42700
42800

43400 075676
015676
015702
015706

43500 015712

43600 015716

43700 015724

4380C 015726
015726
015732
015740
015746

43900 015752
015752
015756
015762

446000 015766

446100

44200 015770

44300 015776

44400 016004

44500 016012

44600 V1602C

44700 €16026

44800 016032

44900 016036

45000 016044

“5100 916046

45200 216054

45300 316056
0156056
016062
016070
016076

45400 016102
016102
016106
01612

45500 016116

45600 07612v

45700 016126

45800 016134

45900 016136
016136
016142
016150

012705
005037
004737
005037
032737
001021

012705
013737
112737
004737

012705
005037
004737
000207

013737
162737
113737
012737
112737
005037
004737
032737
001742
13737
001412

C135705
013737
112737
004737

012705
005037
004737
005003
113737
163737
001412

01%705
013737
11273%7

041527
001174
031706
001124
010000

000101
001172
000026
032310

037373
001174
031706

001172
000005
001160
000041
€00002
001162
016270
010000

01162

001160
€J37516
000020
032310

041612
001174
031706

007512
001162

001160
0075°¢6
000020

H 6
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001160
001160
007512
0017160
007514

001116
007516

001174
001175

00751¢€

007515

001174
001175

...............................................................

IR NN N BN B BUEE N

TEST1S: SENDALL
MOV

2%:

3%:

A ¥

6%:

MOovA

CLR
JSR
CLR
BIT
BNE
SENDC2
MOV
MoV
MOovVs
JSR
SENDALL
MoV
CLR
JSR
RTS

MOV
SuB
MOVB
MOV
mMova
CLR
JSR

THIS TEST WILL PRINT A CONTINUOUS PATTERN
OF ALL PRINTABLE C(HARACTERS., EACH CHARA(TER
WILL BE PRINTED ON 2 FUL. LINES,

wlTH THE PASS COUNT INBEDDED IN THE LINES.
THIS PATTERN WILL PRECESS * (HAR POSITION
EACH LINE PRINTED,

LOOPING IS CONTROLLED BY SWITCH #12.

#MSG270 ;SEND TEST ID
;SS???O.RS ;BUILD SEND CALL USING MESSAGE ADDRES>
PC,SEND ;NOW SEND THE MESSAGE
PASSNO ; START WITH PASS 0
;?IT12.SO ;IF LOOPING 0 TO SECTION &
#'A WIDTH JPRINT A FULL LINE OF A'S
4°'A,R5 JGET CHAR T0 RS
WIDTH ,MODE ;sGET REPEAT COUNT
#20 ,MODE +1 ;SET REPEAT MODE
PC,CHROUT ;CALL CHAR QUTPUT ROUTINE
#MSG77 ;SKIP 3 LINES
;83?77.R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND ;NOW SEND THE MESSAGE
ec B 1
WIDTH,WORK JGET WIDTH
#5 ,WORK JPRECESS LIMIT
WORK , W1 ;SAVE IN wt
#41 ,WORK ;PRINTING CHAR (ODE
#2 W2 :SU 2 LINES PER (HAR
WORK 1 s CURRENT PRECESS COUNT
PC,GETPN s CONVERT PASSNO TO ASC]I
521T12.SG ;DO WHILE BIT 12 - 1
zgRK1.U3 ;GET PRECESS COUNT
WORK , W3 sPRINT THE CHARA(CTER
WORK RS ;GET CHAR 70 RS
wX,MODE ;GET REPEAT COUNT
#20 ,MODE +1 ;SFT REPEAT MODE
PC , CHROUT s CALL CHAR OUTPUT ROUTINE
#MSG271 ;PRINT THE PASS COUNT
=88g271,R5 sBUILD SEND CALL USING MESSAGE ADDRESS
¥
:g.SEND sNOW SEND THE MESSAGE

;CHAR COUNT = WIDTH = 5 = PRECESS (NT
ggRK1.U3
WORK , W3 sPRINT CHARS TO END
wORK RS JGET CHAR TO RS

w3, MODE *GET REPEA” COUNT
#20,MODE +1 *SET REPEAT MODE




016156
46000 016162

016162

016166

016172
46100 016176
46200 016202
46300 016210
46400 016212
46500 016216
L6600 016222
46700 016224
46800 016272
46900 016236
47000 016244
47100 016246
47200 016254
47300 016260
47400 016264

47700 016270
47800 016276
47900 016302
48000 016306
48100 016314
48200 016322

48700 01634

004737

012705
005037
004737
005237
123737
103402
005037
105337
001020
11273%7
005237
123727
001007
012737
005237
004737
000137

013737
012705
004737
113737
113737
000207

BO LAQC, LA3SG DM PROG

032310

037370
001174
031706
001162
001162

001162
007514

000002
001160
001160

000041
001124
016270
016036

001124
016324
033730
016330
016331

MACRO M1110

007512

007514
000177
001160

001134

041613
041614

1 6
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8%:

%

108:

GETPN:

T30BUF :

JSR
SENDALL
MoV
(LR
JSR

B KW

PC, L HROUT ;CALL CHAR QUTPUT ROUT INE
#MSG7S :SEND (KLF

ggggn,ns JBUILD SEND (ALL USING MESSAGE ADDRLS>
PC,SEND :NOW SEND THF MESSAGE
WORK 1 ;NEW PRECESS (QUNT
89”‘1'“1 ;RESET 1O O [F Mmax

WORK 1

#85 ;2 LINE DONE YET?

#2,w2 :YES RESET LINE COUN"
WORK :GET NEXT (HAR CODE
¥8§K.d177 :UNLESS ALL DONE

#41, WORK :THEN RESET CHAR (CDE AND
PASSNO :INC PASS (ULUNT

FC.GETPN :REFORMAT MSG

1A 3 ;GO CHECK Sw 11

PASSNO, TEMP

#T30RUF RS

PC,BIOCi :CONVERT TO ASC!]
T30BUF +4 ,MSG271+1

T30BUF +5,MSG271+2

PC

6

SFQ 0073

-




2L
TESTS

016340
016340
016344
016350
016354
016360
016366
016370
016374
016374
016400
016404
016410
016410
016414
016420
016424
016430
016436
016440
016444
016450
016452
016456
016456
016460
016464
0156470
016476
016502
016504
016510
016514
016520
016520
016524
016530

3000 016534

3700
3800
3900

016540
016542
016546
016552
016554
016560
016560
016562
016565
016572
016576
016600

?180 LAQO, LA34 DMT

012705
005037
004737
112703
123727
101002
112703

012705
00502~
004737

012705
005037
004737
005037
023727
003402
000137
013700
006300
016001

010105
005037
004737
016037
005737
001002
000137
005037
004737

012705
005037
004737
023703

016001
0101905
005037

000240
000240

PROG

041547
001174
031706
000011
001172

000007

037373
001174
031706

040037
001174
031706
007512
067512

017002
07512

012154

001174
031706
017154
007514

016772
007516
034250

037376
001174
031706
007516

016762
007516

017120
001174

031706
034250

MACRO M1110 26-FEB-79 14:37

000120

000005

007514

\' 6
OAGE 49

..............................................................

7,152

WILL PRINT A 10 BY 6 INCH MATRIX OF (HARA(CTERS

NG ALL POSSABLE COMBINATIONS OF PITCH SETTINGS.

----------------------------------------------------------------

?%:

2%:

3%:

4%:

5¢:

6%

: SENDALL

MoV
CLR
JSR
mMOovB
CMPB
BHI
MOvB
SENDALL
MoV
CLR
ISR
SENDALL
MOV
CLR
JSR
CLR
MP
8LE
JMP
MoV
ASL

MOV
SENDALL
MOV

CLR
ISR
Mov
TST
BNE
JmP
CLR
JSR
SENDALL
MOv
(LR
JSR
(MP
BLE
JMP
MOV
ASL

MOV
SENDALL
MOV
CLR
JSR
JSR
NOP
NOP

#MSG280 JSEND TEST ID

;GSEZBO ,RS ;BUILD SEND CALL USING MESSAGE ADLRESS
PC,SEND ;NOW SEND THE MESSAGE

#9. ,R3 JIF B0 COL MAKE 6XB MATRIX

WIDTH,#120

7%

#7,R3

MSG77 ;SKIP 3 LINES

;ggg??,RS ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND ;NOW SEND THE MESSAGE

#MSG104 ;SET H=P]TCH T0 16.5

;ggglOA,RS JBUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND JNOW SEND THE MESSAGE

W1 ;D0 € vV PITCH GROUPS

Wi, 45 ;1F WY > 5 GOTO 50

2%

50%

:1.R0 ;GET VvV GROUP NO.

0

TABLVF (RO) ,R1 sPOINT TO V PIT(H SETUP

SSETUP v PITCH

:&6?5 ;BUILD SEND CALL USING MESSAGE ADDRESS
PC,SEND ;NOW SEND THE MESSAGE
TBL31E(RO) W2  ;GET LINE COUNT FOR THIS PIT(H

P
oy

2; ;IF ALL LINES DONE GOTO 40

408

w3 :D0 10 H PITCH GROUPS PER LINE
PC,QUIET

#MSG75 JSEND A CRLF

:SSS7S'R5 ;BUILD SFND CALL USING MESSAGE ADDRESS
PC,SEND :NOW SEND THE MESSAGE

zz,RS :1F 10 DONE GOTO 30

30%

w3,R0 :POINT TO H PIT(H SETUP

RO

TBL31C(RO) ,R1 ;ADDRESS IN R1

;SETUP H PITCH

Séé?s JBULILD SEND CALL USING MESSAGE ADDRESS
PC, SEND JNOW SEND THE MESSAGE

PC,GWUIET

x
—a

SEQ 0074




(ZLAIBO LAOO, LA34 DMT PROG

TESTS

4000
4100
4200
4300
4400
4500
4€00
4700
4800
4900
5000

016602
016606
016610
016614
016620
016624
016630
016634
016642
016650
016654
016662
016666
016672
016700
016704
016712
016720
016724
016724
016726
016734
016742
016745
016752
016756
016762
016766
016772
016776
017002
017006
017006
017012
017016
017022

013700
006300
010037
006337
006337
063700
063700

11371

010105
113737

000137
004737

012705
005037
004737
000207

007512

001166
001166
001166
001166
007516
017024
007516
001162
017214
162274
017144
007516
001162
017170
162244
001160

001164
00220
031706
034250
007516
016534
007514
016476
007512
016430
033062

037373
001174
031706

K 6
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MOV W1l,R0O
ASL RO
MOV RO,WORK3
ASL WORK 3
ASL WORK 3
ADD WORK3,R0
ADD w3,R0
001160 MOVR TBL)TA(RO) WORK
00116¢ MOV W3,WORK1
ASL WORK 1
001162 ADD #TRL31G,WORK1
MOV AWORK1,R0
MOV TBL31D(R0) ,R1
001162 MOV W3 ,WORK1
ASL VORK1
001162 ADD #TBL31F ,WORK1
00116+ MOV AWORK 1, WORK?Z
MCVR WORK , (R1)
SENDR  R1,WORK?
MOV R1,RS
001174 MOVR WORKZ ,MODE
001175 MOVB #20 ,MODE +1
JSR PC,SEND
JSR PC,QUIET
INC w3
JIMP >} §
30%: DEC w2
JMP 3%
40%: INC Wi
41%: JMP 13
50$: JSR PC,RESETO
SENDALL #MSG?7
MOV #MSG?7 RS
CLR MODE
JSR PC,SEND
RTS PC

SEG 0075

;GET ADDRESS OF (HARA(TER

;RO= w1+10.
JRO- vV ROU + (OLM OFFSET
;PUT (HAR [N WORK
JOGET FORMAT SELECTOR

;RO HAS SELECTOR
;R1 HAS QUTPUT MSG ADDRESS

;GET PRINT REPEAT COUNT

;WORKZ2 HAS REPEAT (OUNT
JPUT CHAR IN OUTPUT MSG

;PRINT H GRGUP OF (MARS

JNEXT H GROUP

JADJUST LINE COUNT -1
;DO NEXT LINE

;NEXT V GROUP

;DO NEXT VvV GROUFP
JRESET THE TERMINALS

JBUILD SEND CALL USING MESSAGE ADDRESS

;JNOW SEND THE MESSAGE
JALL DONE..

.BYE




(Z_AlIBO
TESTS

8500

8600

8700

LAOO. LA34 DMT PROG

017024
017027
077032
017035
017036
017041
017044
017047
017050
017053
017056
017061
017062
017065
017370
017075

017212

017214
017222
017230
017236

80
NN SNV VRNV 20O

WNINNTOVNDON=2 =200

040006
040113
040013
040020

041610
037337

000014
000004

000020
000012
000006
000004

000000
000000
000002
000006

— d b Q-
(VL F o o

— el
QONWVY Owiuni
N2 WWO W=

o
NON
VN

114
167
122
172
130

040013
040006
€40020
040020

037330

n00010
000003

002014
000010
000005

000000
000002
000002
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— ) —
—=QwV OoOwviuvt O&He
=0 W WOO Vs OON &= 2oy

—_— O — ed — =2 - —h b - b 2

WS NN =220

040020
040113

037333

000006
000002

000014
000006
000004

000000
000002
000004

I YR TR
-
&€
r
AN N NN LN N
— ek =D —h b

TBL31A: .BYTE

.BYTE

.BYTE

.BYTE

.BYTE

.BYTE

.EVEN

TBL31(: .WORD
. WORD

TBL31D: .WORD

TBL31E: .WORD

TBL31F: .WORD

TBL31G: .WORD

6 GROUPS OF 10 CHARACTER (ODES

TABLE OF 10 H PITCH MESSAGE ADDRESSES
TABLE OF 4 OUTPUT MESSACE ADDRESSES
TABLE OF 6 LINE COUNTS PER V PITCH
TABLC OF Q0 PRINT REPEAT COUNTS

TABLE OF 10 SELECTORD TO TAL3I1D

52,1461,142,143,144,145,146,53,101,102

147,150,151,152,155,154,44,103,104,105

155,156,157,160,161,100,106,107,110,111

162,163,164 ,1€5,75,112,113,114,115,116

166,167,170,45,117,120,121,122.,123,124

171,172,43,72,125,126,127,130,131,132

MSG99.MSG100,MSG101 ,MSG108 ,M5599
MSG100,MSG101,MSG108,MSG101,MSG101

MSG281,MSG70,MSG71,MSG72
12.,8..6,4.3,2

16.,12..,12.,10.,8..,6.6,5.4,4

0,0,0,0,2.2,2.2.4.6

SEQ 0076




C7LAIBO LAGO, LA34 DMT FROG
CONSOLE DRIVER ROUTINES

100

200

300

400

500

600 (17240 105737 177560
700 017244 100402

800 017246 000337 017376
017252 113777 177562
000 017260 142777 000200
88 017266 122777 000033
00

8

017274 001002
300 017276 000137 020150
400 017302 105737 177564
500 017306 100375
600 017310 117737 161672
1700 017316 122777 000003
1800 017324 001010
1900 017326
017326 012705 042327
017332 004737 02031C
2000 017336 012716 002336
2100 017342 000137 017376
2200 017346 122777 000015
2300 017354 001006
2400 017356
017356 012705 037370
017362 004737 020310
2500 017366 000137 017406
2600 017372 005237 001206
2700 017376 012737 000101
2800 017404 000002
2900 017406 012737 020332
3000 017414 127727 161566
3100 017422 002403
3200 017424 142777 000040
3300 017432 127727 161550
3400 0172440 001005
3500 017442 012737 020332
3600 017450 000137 017376
3700 017454 122777 000110
3800 017462 001012
3900 017464 052737 100000
4000 017472 052737 100000
4100 017500 005237 001206
4200 017504 000137 017414
4300 017510 122777 000114
4400 017516 (€01012
4500 017520 052737 040000
4600 017526 052737 040000
4700 017534 005237 001206
4800 017540 000137 017414
4900 017544 122777 000103
5000 017552 (001012
5100 017554 042737 140400
5200 017562 042737 140400
5300 017570 005237 001206

M 6
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.SBTTL CONSOLE DRIVER ROUTINES

--------------------------------------------------------------

;" CONSOLE RECY" INTERRUPT  HANDLER
TTYIN: TSTB  a#177560
BM] 1$
JMP 2118
161726 1$ MOVB  @#177562,8PNTR
161720 BICB  #200,aPNTR
161712 CMPB  #33,3PNTR
BNE 1118
JMP 18%
1118:  TSTB  a#177504
BPL 1118 )
177566 MOVB  aPNTR,a417°.t4
161662 CMPR  #03,aPNIR
BNE 113§
SENDC  #MSGK1
MOV #MSGK1,RS
JSR PC,CSEND
MOV #JSEQ, (SP)
JMP 2118
161632 1138:  (MPB  #15,aPNTR
BNE 23
SENDC  #MSG75
MOV #MSG75 RS
JSR PC, (SEND
JMP 38
2%: INC PNTR
177560 2118: MoV #101,34177560
001206 38: MOV #TKBUF ,PNTR
000071 4$: CMPB  @PNTR,#71
BLT 5%
161554 BICB  #40,aPNTR
000015 5$: CMPB  GPNTR,#15
BNE 6%
001206 MOV #TKBUF ,PNTR
JMP 2118
161524 68: (MPB  #'H,aPNTR
BNE 78
001116 BIS #81715.50
001210 BIS #BIT15.TMPTST
INC PNTR
JMP 4%
161470 7$: CMPB  #'L.aPNTR
BNE 8%
001116 8IS #BIT14,50
001210 BIS #BIT14, TMPTST
INC PNTR
JMP 4$
161434 8s$: CMPB  #'C,aPNTR
BNE 9%
001116 BIC #140400,S0
001210 BIC #140400, TMPTST
INC PNTR

JREADY ?
sFALSE INTERRUPT
;JREAD CHAR INTO BUFFER

;STRIP PAR]ITY BIT
;DECODE INPUT [F ESCAPE

JECHO THE (HAR

T -0 7
;SEND READY

;GET MESSAGE ADDRESS
;SEND MESSAGE
JRETURN TO WAIT STATE
:DECODE INPUT IF (R
;ECHO CRLF

;GET MESSAGE ADDRESS
;SEND MESSAGE
;GET NEXT BUFFER SPACE

;TURN CONSOLE ON AGAIN
sRETURN

SJRESET LC BIT IF ALFA
;STOP DECODE IF (R

RESET BUFFER POINTER FIRST
JHALT COMMAND?
JYES- SET BIT 15

;LOOP COMMAND ?
JYES~ SET BIT 14

sCLEAR COMMAND 2
JRESET THE BITS

SEQ 0077




(ZLAIBO LAQO, LA34 DMT PROG
CONSOLE DRIVER ROUTINES

5600 017574 000137 017414
5500 017600 122777 000127
5600 017606 001035
5700 017610 010046
5800 017612 005C00
5900 017614 004737 020060
6000 017620 010037 001172
6100 017624 012600
6200 017626 005737 001172
6300 017632 001003
6400 017634 012737 000204
6500 017642 023727 001172
6600 017650 003403
6700 017652 012737 00004
6800 017660 023727 001172

7000 017670 012737 000040
7100 017676 000137 017414
7200 017702 122777 000122

76400 017712 052737 010000

7600 017722 005000
7700 017724 004737 020060
7800 017730 004737 020234
7900 017734 012600
8000 017736 000137 017414
8100 017742 122777 000123
8200 017750 001014
8300 017752 042737 012000
8400 017760 010046
8500 017762 005000
8600 017764 004737 020060
8700 017770 004737 020234
8800 017774 012600
8900 017776 000137 017414
9000 020002 122777 000056
9100 020010 001012
9200 020012 052737 000400
9300 020020 052737 000400
9400 020026 005237 001206
9500 020032 000137 017414

020036 012705 042366
020042 004737 020310
9700 020046 012737 020332
9800 020054 000137 017376

1
10100 020060 005237 001206
10200 020064 127727 161116
10300 020072 002425
10400 020074 127727 161106
10500 020102 003021
10600 020104 127727 161076
10700 020112 002404
10800 020114 11270 000077

N 6
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SEG 0078
JMP 6%
161400 9%: CMPS #'W,aPNTR JSET WIDTH ?
BNE 10%
Mov RO,~(SP) ;SAVE RO
(LR RO
JSR PC.15% ;CONVER NEXT CHARS TO OCTAL
MoV RO,WIDTH ;SET NEW WIDTH LIMIT
MoV (SP)+,R0O
7S1 WIDTH
BNE 25%
001172 MoV #2064 ,WIDTH
000204 25%: CMP WIDTH, #2064
BLE 26%
001172 MOV #204 ,WIDTH
000040 26%: CMP WIDTH, 432.
BGE 27%
001172 MOV #32.,WIDTH
27%: JMP 4$
161276 10%: én?B 7;2,3PNTR JRUN TEST COMMAND ?
001210 BIS 81712, TMPTST ;SET THE (NTL BITS
Mov RO,=(SP)
CLR RO
JSR PC,15% ;CONVERT NEXT TO OCTAL
JSR PC ,NUMCHK
MOV (SP)+,R0
JMP 48
161236 11%: gnEB fég,aPNTR ; SEQUENCE COMMAND ?
001210 8IC #012000, TMPTST
MOV RO,-(SP)
CLR RO
JSR PC,15% ;CONVERT NEXT TO OCTAL

JSR PC ,NUMCHK
MOV (gP)+,R0

JWP 4
161176 12%: M8 #', ,aPNTR ;TERMINATOR ?
BNE 4%
001116 8IS #B178,50
001210 8IS #BITB,TMPTST
131%: INC PNTR
JMP 43
14%: SENCC  #MSGK3 sUNDEF INED COMMAND (HAR
mMov #MSGK3,R5 ;GET MESSAGE ADDRESS
JSR PC,CSEND ;SEND MESSAGE
001206 “41%: MOV #TKBUF ,PNTR
JMP 211%
15%: INC PNTR ;POINT TO NEXT CHAR IN BUrFER
000060 gM?B ?ZgTR,ﬁbO JEXIT IF NOT NUMERIC
L
000071 CMPB aPNTR, 471
BGT 16%
000070 CM?B ?;gTR.#?O ;DECIMAL OR OCTAL ?
Bl
MOVB #77 ,RO ;DECIMAL ; INVALID




(ZLAIBO LAQO, LA34 DMT PROG

(ONSOLE DRIVER

0900 020120
020124
020132
020134
020136
020140
020144
020146

020150
020150
020154
020160
020166
020172
020176
020204
020204
020210
12400 020214
12500 020222

20222

020226
12600 020232

12800 020234
12900 020236
15000 020240
13100 020244
13200 020252
13300 020254
13400 020260
13500 020262
12600 020270
13700 020274
13800 020276

020276

020302
13900 020306

Bl Y S O S S S

538458338

— IR QI )
nanuND N —

82288

14600 020310
14700 020312
14800 020314
14900 020320
15000 020322
15100 020326
15200 020330
15300

15400 020332
15500
15600

ROUTINES

000137
142777
006300
006300
006300
157700
000745
000207

012705
004737
013737
062706
012746
012737

012705
004737
012737

012705
004737
000002

105700
007006
105037
042737
000207
120027
003006
052737
110037
000766

012705
004737
000756

105715
001406
105737
100375
112537
000770
000207

020146
000370

161042

035657
020310
001210
000002
002450
020332

042327
020310
000101

000100
033676

001210
002000

300022
002000
001210

042366
020310

177564
177566
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161054

001116

001206

177560

001210

001210

JMP
8IC(R
ASL
ASL
ASL
B81SB
BR
RTS

SENDC
MoV
JSR
MoV
ADD
MOV
MoV
SENDC
MoV
JSR
MoV
STALL
MoV
JSR
RT!

TSTR
BNE
CLRB
BIC
RTS
cMP
8GT

.BLKW

16%
;870,3PNTR ;STRIP AWAY ASCI] BITS
RO
RO ;MAKE ROOM FOR NEW DIGIT
aPNTR,RO ;ADD NEW LSD
15% ;GET NEXT (HAR
PC JEXIT OCTAL IN RO
#MSG22 JECHO $& AND CRLF
#MSG22 RS :GET MESSAGE ADDRESS
PC,CSEND ;SEND MESSAGE
TMPTST,SO ;PUT TEST NO IN SO
h2,SP JFIX RETURN PC
#LSEQ,-(SP) ;71O TEST SEQUENCER
#TKBUF ,PNTR JRESTORE BUFFER POINTER
MSGK1 ;SEND 'READY’
#MSGK1,RS ;GET MESSAGE ADDRESS
PC,CSEND :SEND MESSAGE
:}88.3‘177560 JENABLE CONSOLE
#100,RS ;SETUP STALL TIME CONSTANT
PC,MSTALL
;TO TEST SEQUENCER
gg JTEST NO. ENTERED ?
TMPTST
#BIT10,TMPTST JNO SELECT
PC ;BYE
RO ,#22 ;100 8IG ?
43 SYES
#BIT10,TMPTST 0K SELECT TEST
gg,TMPTST JSAVE TEST NO.
#MMSGK 3 P Y
#MSGK3 RS ;GET MESSAGE ADDRESS
?g.CSEND ; SEND MESSAGE
.é'O(J'Ti.Né""'.“""‘ [ o0 LA N B B BB B BN A B BN B B A
(RS) ;s NULL?
’3 JYES- ALL DONE
?§177564 JWAIT FOR READY BIT
(R5)+,a#177566 ;SEND CHARACTER
(SEND
P
10 ;CONSOLE INPUT BUFFER AREA




«JLAIBO LAQO, LA34 DMT
ERROR HANDLER

18000
18100
18200

18300

18409

18500
18600
18700
18800
18900

19100
19200
19300
19400
19500

19600

020352
020360
020362
020370
020374
020400
020406
020414
020422
020430
020434
020440
020446
020454
020454
020460
020466
020474
020500
020502
020506
020506
020510
020516
020524
020530
020530
020534
020540
020540
020542
020546
020550
020554
020560
020564
020570
020572
020576

032737
001073
013737
012705
004737
113737
113737
013737
042737
012705
004737
113737
113737

012705
112737
113737
004737
010346
016603

010305
112737
113737
004737

012705
004737

010305
004737
012603
011666
062706
005237
005737
100402
062716
000207

000000
000000
124
1264
060
114
105
060

PROG

020000

001204
020600
033730
020604
020605
001212
177700
020600
033730
020604
020605

020610
000010
001204
031706

0C0004
000010
001204
031706
020610
020310
020310
000002
000002
001110
001116

000002

000000

c 7
MACRO M1110 26~FEB-79 14:37 PAGE 52

............................................................

THIS ROUTINE WILL HANDLE THE PRINTING OF
ERROR MESSAGES, UPDATE ERROR COUNTS, AND

---------------------------------------------------------------

9 0000000000000 08000000000

JINHIBIT PRINT 2
JYES JUMP
;s CONVERT L INE NO.

;CALL CONVERTER
;FORMAT ERROR MSG

;JGET TEST NO.
;CONVERT IT TO ASCII
;FORMAT ERROR MSG

JTEST AND LINE NO'S

;MESSAGE ADDRESS TO RS
;SET SINGLE LINE MODE

SSELECTED LINE NO.

;SAVE R3
;GET MSG ADDRESS FROM STACK
;SEND ERROR MSG
<MESSAGE ADDRESS TO RS
cSET SINGLE LINE MODE
JSELECTED LINE NO.

;SAME THING TO CONSOLE
.GET MESSAGE ADDRESS
s SEND MESSAGE

;GET MESSAGE ADDRESS

; SEND ME SSAGE
JRESTORE R3
.ERASE ADDR FROM STACK
;ADJUST STACK POINTER
;FLAG THE ERROR
JHALT ON ERROR SET ?

:-UMP OVER ERROR HALT
;RETURN

TO ASCI]

+BUFFER AREA

00 7<15><12> :STD MSG HEADER

.SBTTL ERROR HANDLER
ERRORT
: CHECK ON SWITCH 13.
001116 ERRORT: BIT #81T13,50
BNE 1%
001134 MOV ONL INE , TEMP
MOV #EBUF ,RS
JSR PC,BIOCT
020626 MOVB  EBUF +4 ,MSGE+14.
020627 MOVB  EBUF +5.MSGE+15.
001134 MOV TSTTYP.TEMP
001134 BIC #177700, TEMP
MOV #EBUF ,RS
JSR PC,BIOCT
020615 MOVB  EBUF +4,MSGE+S
020616 MOVB  EBUF +5.MSGE +6
SENDI  #MSGE ., ONL INE
MOV #MSGE RS
001175 MOVB  #10,MODE+1
001174 MOVB  ONLINE,MODE
JSR PC, SEND
MOV R3.~(SP)
MOV 4(SP).R3
SENDI  R3,ONLINE
MOV R3.RS
001175 MOVB  #10,MODE+1
001174 MOVB  ONLINE,MODE
JSR PC,SEND
SENDC  #MSGE
MOV MMSGE ,RS
JSR PC, CSEND
SENDC  R3
MOV R3,RS
JSR PC.CSEND
MOV (SP)+.R3
18: MOV (SP),2(5P)
ADD #2,5P
INC ERROR
TST SO
BM] 2$
ADD #2.(SP)
28: RTS PC
000000 EBUF: .WORD 0,0,0.0
123 MSGE:  .ASCIZ /TEST 00, LINE
060
040
116
060
015

SEQ 0080
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ERROR HANDLER SEQ 0081

020632 012 000

19700 .FVEN
19800




E_7
rZLAIBO LAQQ, LA34 DMT PROG MACRO M1110 20~FER-79 14:37 PAGE 53

ERROR HANDLER Sk 0082
100
200 .SBTTL D211 DRIVER ROUTINES
300 :THSES ROUTINES WILL HANDLE FROM 1 TO 8 DZ13'S
égg *JOHN COMEAU INVENTED THESE WONDERFULL ROUTINFS
600
ggg :NOW A BUNCH OF TABLES
1388 :HERE 1S A ONE WORD PER LINE TABLE. iT HOLDS LINE PARAMETERS
1100 ;THE PROGRAM 1S RESPONSIRLE FOR SETTING IT uP.
}%88 :THE D211 ROUTINES SIMPLY READ [T.
1400 *BIT 7 IN EACH BYTE, IS THE INACIIVE BIT. IF SET, THE LINE
}288 “WILL BE IGNORED BY THE DRIVER ROUTINES
1700 :BITS 3-0 HOLD THE LINES BAUD RATE INFO
1800 ; 8ITS 3-0/BAUD
1900 : 0000 S0
2000 0001 75
2100 0010 110
2200 0011 134.5
2300 0100 150
2400 0101 300
2500 0110 600
2600 0111 1200
2700 1000 1800
2800 1001 2000
2900 1010 2400
3000 ; 1011 3600
3100 1100 4800
3200 1101 7200
3300 ; 1110 9600
24,00 : 1M1 RESERVED
3500 :BIT 6 SELECTS THE TYPE OF PAR[TY, 0= EVEN 1=0DD
%988 :BIT 5 IT THE PARITY ENABLING BIT, O If NO PARITY, 1 [F PARITY
%%%% 020634 DZLINE: .BLKW DZCON=*8. : NO. OF DZ°S TIMES 8 LINES PER DZ-# WORDS
4300
4100
4200 :HERE ARE THE DZ11 COMMAND BUFFER AREAS
4300 :THERE 1S ONE FOR EACH LINE.
4400 ;EACH OF 20 WORDS LONG
4500 :THE COMMAND FORMAT IS AS FOLLOWS.
4600 ~1ST WORD IS THE ADDRESS OfF THE MESSAGE BEING TYPED
4700 :THE 2ND WORD. IF (, STANDARD MEGSSAGE
4800 “1F HIGH BYTE IS 10, LOW BYTE HOLDS LINE NO TO SEND TO
4900 :IF HIGH BYTE IS 20 LOW BYTE HOLDS REPEAT COUNT
5000 “1F HIGH BYTE IS 30 LOW BYTE HOLDS SPECIAL TERMINATOR. _
5100 020754 DZCOMB: .BLKW D2CON=B.+20. ; 8 LINES PER DZ TiMES 20. wORDS PER _INE 71




LZLAIBO LAQO, LA34 DMT PROG
D211 DRIVER ROUTINES

5600
5500
5600

5700
5800
5900
6000
6100
6200
6309
6400
6500
66

9700
9800
9900
100C0
'01C0
10200
1030C
10400
10500

024054

024174

024314

024434

024554

024674

025014
025134
025254
025374
025514
025634
025754
026074
026214

026334

026454

031554

037566
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;TABLE OF FLAGS FOR ACTIVE LINES

ACTIVE: .BLKW

DZCON+8.

JHERE IS THE TABLE OF CURRENT REPEAT COUNTS.

CURREP: .BLKW

DZCON+8.

JHERE IF THE TABLE OF CURRENT TERMINATORS

CURTER: .BLKW

DZCON+8.

;HERE 1S THE LINE REPLY TABLE

REPTRL: .BLKW

DZCON*8.

JHERE IS A TABLE OF SWITCH WORDS SET TO (LEAR T(R REG

STOP: .BLKW

DZCON=8.

JHERE IS THE TABLE OF CURRENT "£xT ADDRESSES
DZCON*8.

CURADD: .BLKW
JHERE ARE THE

COMCNT: .BLKW
COMIN: .BiLKW
COMOUT: .BLKW

COMEND: .BLKW
TCRBIT: .BLKW

;CHAR COUNT
KBCNT: .BLKW

PRINTING COMMAND BUFFER POINTERS
DZCON*8.
DZCON=8.
DZCON+8.
DZCON+8.

DZCON+8. SJLINET=Y, LINEZ2-2. LINE3 &, LINES-TO

DZCON*8.

SJEND OF BUFFER TABLE

KBBUFE : .BLKW

DZCON+8.

JBEGIN OF BUFFER TABLE

KBBUFB: .BLKW

DZCON+*8.

,BUSFER PUT N POINTER

KBBUF[: .BLKW

DZCON+8.

JBUFFER TAKE OUT POINTER

kKBBUFO: .BLKW

DZCON*8.

JHERE IF THE KEYBOARD BUFFER AREA

KBBUF : .BLKW

DZCON+8.+20,

;D211 STATUS REG ADDRESS TABLI

DZCSR: .BLKW

;D211 RECIEVE

RECERR: .BLKW

DZCON JONE (SR PER DZ11tREALLY.)

ERROR BIT TABLE
DZCON+8.

56Q 0083

;8 WORDS TIMES 8 LINES TIMES # OF DZS




10900

il — el el — D d e b D
SBSE AR AN SS
3838258853

o

031706
031710
031712
031714
031720
12800 031726
12900 031730
13000 031734
13100 031740
13200 031742
13300 031746
13400 0317564
13500 031760
13600 031766
13700 031770
13800 031774
13900
14000
14100
14200
14300

14400 032024
14500 032030
14600 032032
{4700 032036
14800

14900 032044

-

6000
"6100 03212C

010046
010146
010246
010537
122737
001014
105037
013700
006300
025037
012737
000137
013737
005000
105760
100534
026027
002463
005760
100017

013705
004737
005760
100006
105260
126027

103002
000137

012705
004737

CZLAIBO (ADQ, LA34 DMI PRGG
DZ71 DRIVER ROUTINES

001104
000010

001175
001174

001174
000001
031770
001152

020634
025014
024054

000144
033676
024554

024054
024054

03177¢
000200
001216
024554
024054
036404
020310
001134
001134
020600

032730
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SFQ 0084
:DZ SEND ROLTINE
JCALLING SEQUENCES
: JSR PC,SEND s CALL
N RS ;THIS 1S THE MESSAGE AODRFSS
: MODE JTHIS SPECIFIES THE TYPE OF MESSAGE AS FOLLOWS...
: MOCe HIGH BYTE LOW BYTE
. 0 0 SEND TO ALL ACTIVE DZ LINES
N 10 SELECT ;SEND TO SELECTED LINE
. JUSE LOW BYTE AS LINE NO.
R 20 REPEAT SEND TO ALL ACTIVE LINES
. USE LOW BYTE AS THE MESSAGE REPEAT (OUNT
H 30 TERMIN SEND TO ALL ACTIVE LINES
USE LOW BYTE AS MESSAGE TERMINATOR
SEND: MOV RO,=(SP) SAVE RO
MOV R1,=(SP) AND R1
MOV R2,=-(SP) AND R2
MOV RS ,MSGADR
C01175 (MPB #10,MODE +1 ;1S THIS MESSAGE MEANT FOR ONLY 1 TERMINA.?
BNE 2% JNO.
CLRB MODE +1 JYES
MOV MODE ,RO ;GET LINE #
ASL RO ;MAKE WORD OFFSET
CLR MODE ;NO SPECIAL STUFF FOR IMNDIVIDUAL LINES
007106 MOV #1,SENDTM ;COUNT = 1 LINE ONLY
JMP SEND1 ;D0 DO IT
001106 2%: MOV NUML sN,SENDTM ; A COUNT OF LINES SO WE KNOW WHEN WE ARE “HROUGH
(LR RO ;START WITH THE 1ST LINE
SEND1: TSTR DZL INE (RO) ;1S THE LINE INACTIVE?
Ml 7% ;1F SO, DONT TRY TO SEND IT ANYTHING.
000010 tMP COMCNT(RO) ,#8. ;ALREADY FULL?
8LT 4% J1F ROOM IS THERE, PUT STUFF IN,
TSt ACTIVE(RO) ;IS The LINE ACTIVE °
BPL $ ;NO= DESELECT THE LINE
STALL 100. JWAIT A SHORT TIME THEN RETRY
MOV 100. .R5 JSETUP STALL TIME CONSTANT
JS» PC MSTALL
TST STOP(RD) ;1S LINE WAITING FOR XON
BPL 1 ;NO-
INCB ACTIVE (RO) JCOUNT THIS PASS THRU
000144 tMPR ACTIVE(RO) ,#100. JCHECK FOR EXCESSIVE DELAY
SALLOW 10 SECONDS MAX.
BHIS 2% ;TOO LONG~ ABORT WAIT
1%: JMP SEND1
020634 2%: BIS #8117 ,DZL INE(RO) :DESELECT THE LINE
DEC uuTt JONE LESS UNIT TO TEST
(LR STOP(RO)
(LR ACTIVE (RQ)
MOV #MSG39,RS
JSR PC,CSEND . REPORT NO aCON
Mov RO, TEMP
ASR TEMP
MOV #EBUF ,RS
JSR PC,BIOCT
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r.
CZ1" DRIVER ROUTINES SEG 0085
16200 032126 113737 020606 020626 MOVA FBUF +4 ,MSGE+14,
16300 032122 113737 020605 020627 MovB EBUF +5 ,MSGE+15,
16400 032140 012705 02062¢ MOv #MSGE+10,R5
16500 032144 004737 020310 JSR PC,LSEND
16600 032150 0C0137 032266 +MP 7% ¢TRY THE NEXT LINE
16700 032154 013770 001104 025134 6%: MOV MSGADR,aCOMIN(RO) ;PUT MESSAGE ADDRESS INTO THE (OMMAND BUFFER
16800 032162 105060 026054 (LRB ACTIVE (RO) JERASE ANY DELAY COUNT
16900 032166 062760 000002 025134 ADD #2,COMIN(RO) ;BUMP POINTER
17000 032174 013770 001174 025134 MOV MODE ,3COMIN(RO) ;PUT PRINTING MODE INTO THE BUFFER ALSO
17100 032202 062760 000002 025134 ADD #2,(OMIN(RO) ;BUMP POINTER
17200 32210 Q26060 025374 025134 CMP COMEND (RO) , COMIN(RO) ; IN POINTER AT EMD OF COMMAND BUFFER?
17300 032216 101003 BH] 6% ;IF NOT.
17400 032220 162760 (00050 025134 sSuB #50,COMIN(RO)  ;YES, AT END. RESET IT TO THE BEGINING
17500 032226 005260 025014 6%: INC COMCNT (RO JADD 1 TO COUNT OF COMMANDS IN T"HERE
17600 032232 005760 024554 TST STOP(RO) 15 THE LINE WAITING FOR XON?
17700 032236 100413 BM] 4 ] ;YFS. DONT SET T(R BIT
17800 032240 070001 MoV RO,R1
17900 032242 006201 ASR R1
18000 032244 006201 ASR R1
18100 032246 006201 ) ASR R1
18200 032250 042701 177761 BIC #177761,R1
18300 032254 016101 031554 MOV DZCSR(R1) ,R1 ;GET CSR ADDRESS
19400 032260 15€061 025514 2G0O004 8158 TCRBIT(RO) ,4(R1);SET THE LINES TC(R BIT
18500 032266 062700 000092 7%: AuD #2 ,RC JNEXT LINE #
18600 032272 005337 00110¢ DEC SENDTM ;DONE ALt OF THEM?
18700 032276 001234 BNE SEND1 ;NO, GO DO ANCTHER
18800 032300 012602 MOV (SP)+,R2 JNOW ALL WE HAVE TO DO IS
"8900 032302 012601 MOV (SP)+ ,R1 JRESTORE REGS WE
19000 032304 (12690 MOV (SP)+ RO ;SAVED UPON ENTRY
19100 032306 000207 RTS PC cRETURN
19200
19300
%3288 : SINGLE CHARACTER OUTPUT ROUTINE ALL TERMINALS
16600 032310 162705 000040 (HROUT: SUB #40,RS ;CHARACTER TABLE STARTS AT 40
19700 032314 006305 ASL RS MAKE WORD OFFSET
*9800 032316 062705 042604 ADD #PCTABL RS ;ADD PRINT (HAR TABLE ADDRESS
;9900 032322 004737 (031706 JSR PC,SEND sSFND MESSAGE w RD
20100 032326 000207 RTS P(

20200




e
r

JLAIBO _AQG, LA3L
21! DRIVER ROUTINE

20400

<700

c150C

032330

032330

032342
032344
032350

032354
032356
032362

032366
032370
032374

032400
032402
03240¢

DMT
S

000000
000005

010046
012700
200137
000002
010046
012709
000137
000004
019946
12700
000137
000006
010046
012700
000137
(00010
010046
012700
000137
000012

PROG

000000
032474

000002
032474

000004
032474

00000¢
032474

000010
032474
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;HERE ARE THE TRANSMIT INTERRUPT ROUTINES

DZTINT:
x-0
.REPT

X=X+2
.ENDR

y=x+2

X-X+2

X=X+2

X=Xr+¢

X=X+ 2

DZCON
MOV
MOV
JMP

MoV
MOV
JMP

MOV
MO/
JMP

MOV
Mc/
JMP

MOV
MOV
o

0V
MOV
JMP

RO,=-(SP;
ax,R0
TXINT

RO,=-(SP)
#X,R0
TXINT

RO,=(SP)
#X RO
TXINT

RO,=(SP)
#x,RO
TXINT

RO,=(SP)
X ,RO
TXINT

RO,=(SP)
#x,R0
TXINT

;SAVE RO
:PUT D2 & IN RO
;GO TO MAIN ROUTINE

:SAVE RO
JPUT DZ & IN RO
;GO TO MAIN ROUTINE

:SAVE RO
:PUT D2 # IN RO
;GO TO MAIN ROUTINE

;SAVE RO
;PUT DZ # IN RO
;GO TO MAIN ROUTINE

;SAVE RC
JPUT D2 # IN RO
;G0 TO MAIN ROUTINE

;SAVE RO
:PUT DZ # IN RO
,G0 TO MAIN ROUTINE

SEQ 0086




(Z
bZ

21700
21800 032412
21500

22¢00
2270V

032412
032414
032420

032424
032426
032432

032436
032440
032444

032450
032452
032456

032462
032464
032470

LAIBO LAQO, LA34 DMT
117 DRIVER ROUTINES

0000
000005

010046
012700
0C0137
000092
010046
012700
000137
0000C4
010046

000012

PROG

000000
033144

0000C2
033164

000004
033104

000006
033164

000010
033164
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JHERE ARE THE RE(IEVE INTERRUPT

DZRINT:
x=0
.REPT

X-X+¢
.ENDR

X=X+2

X Xe2

X=X+2

X=X+2

X=X+2

DZCON
MOV
MOV
JIMP

MOV
MOV
JMP

MOV
MOV
JMP

MOV
MOV
JMP

MOV
MOV
JMP

MOV
MoV
JMP

RO,=(SP)
#X,R0
RCINT

RO,=-(SP)
#X,R0
RCINT

RO,=(SP)
#Xx ,R0
RCINT

FD,=(SP)
#X,R0
RCINT

RO,=(SP)
#X,R0
RCINT

RO,=(SP)
ox RO
RCINT

ROUT INES

JSAVF RO
:PUT DZ # IN RO
;GO TO MAIN ROUT INE

;SAVE RO
JPUT DZ & IN RO
;GO TO MAIN ROUTINE

:SAVE RO
;PUT D2 # IN RO
;G0 TO MAIN ROUTINE

;SAVE RO
JPUT D2 # IN RO
;G0 TO MAIN ROUTINE

;SAVE RO
JPUT DZ & IN RO
;GO TO MAIN ROUTINE

:SAVE RO
;PUT D2 # IN RO
;G0 TO MAIN ROUTINE

SFQ 0087




(ZLAIBO LAQO, LA34 DMT
DZ11 DRIVER ROUTINES

22900

23000

23100 032474
23200 032476
23300 032500
23400 032502
23500 032506
23600 032510
23700 032512
23800 032516
23900 032524
26000 032532
24100 032536

27400 032746
27500 032752
27600 032756
27700 032760
27800 032766
27900 032770
28000 032776
28100 033000
28200 033002
28300 033010
28400 033014
28500 033020

010146

13760

PROG

031554

001100
001101
177770
001100

024554

025514
03305¢
100000
024674

025014

025514
024054
033C52
024674
024674
001100

026174

024674
002004
025254

000050
025014

025514
024054
033052
025254
026174
024314
025254
000002
001100

000020
000030
001100
032560

001101
001100
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SHERE IS THE MAIN TRANSMIT INTERRUPT ROUT INE

TXINT: MOV ,~(SP) ;SAVE ALL OF
mgg R?,-(SP) “REGS WE INTEND TO USE
MOV DZCSR(RO) ,R1 ;D211 CSR ADDRESS
ASL RO
ASL RO
MOV (R1) ,DXTMP SGET LINE #
001100 MOVR DXTMP+1,DXTMP  :‘MOVE INTO LOw BYTE
001100 BIC #177770,DXTMP  ;CLEAR ALL BITS EXCEPT LINE # BITS
ADD DXTMP,RO :BIG LINE # IF DZ# PLUS LINE #
ASL RO :(DZ# *8 + LINE NO.)*2 FOR OFFSET
TST STOP(R0)
BPL 1%
000004 BICB TCRBIT(RO) ,4(R1)
JMp 9s
024054 1%: BIS #BIT15,ACTIVE (RO) :SET LINE ACTIVE FLAG
ST CURADD (RO)
BNE 2%
TST COMCNT (RO)
BNE 48
000004 BICR TCRBIT(R0) ,4(R1)
Shg egrlvs<Ro> :CLEAR THE LINES ACTIVE FLAG
091100 2%: MOVR aCURADD (RO) ,DXTMP
INC CURADD (R0) :POINT AT THE NEXT NEXT (HAR
024314 CMPB DXTMP,CURTER(RO) ;IS IT THE TERMINATOR?
BNE 8% *NO. GO XMIT IT.
DEC CURREP(R0)
8GT 7%
CLR CJRACD (RO)
025254 ADD #4,COMOUT (RO)
025374 gfg ggMOUT(RO).COMEND(RO)
025254 SUB #50, COMOUT (RO
3s: DEC COMCNT (RO)
BNE 43
000004 BICR TCRBIT(RO) ,4(R1)
CLR ACTIVE (RO)
JMP 9%
024674 4%: MOV ACOMOUT (RO) , CURADD (RO)

CLR CURREP(RQ)
CLR CURTER(ROQ)
MOV COMOUT(RO) ,R2  ;GET ADDR OF ADDR

ADD #2,R2
MOV (R2) ,DXTMP
BEQ 6%
001101 (MPS #20,DXTMP+1
BEQ 6%
001101 MP3 #30,DXTMP+1
BEQ 5%
HALT JNRRIRNRES
024314 5%: MOVB DXTMP, CURTER(RO)
JMP 19
6%: CLRB DXTMP+1
024174 MoV DXTMP, CURREP (RQ)

SEQ 0088




(
C

ILAIBO LAOO, LA34 DMT
<11 DRIVER ROUTINES

28000
28700

30000

30100

30200

30300 ¢

3C400

36500 0

20600

033026
033032
033040
033044
033052
033054
033056
033060

000137
017060
000137
113761
012602
012601
012600
000002

012705
005037
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737

012705
005037
004737
004737
000207

PROG

032560
025254
032560
001100

040032
001174
031706

040113
001174
031706

007500
001174
031706

037304
001174
031706

025176
001174
031706
034250

MACRO M1710 26-FER-79 14.3%7

024674
000006

7%:

8%:
9%:

Jmp
MoV
JMP
MOVR
MOV
MOV
MOV
RTI

L 7
PAGE 58-1

StEQ 008%

1%
?gOMOUT(RO),CURADD(RO)

DXTMP,6(R1) JPUT CHAR INTO XMIT BUFFER
(SP) ¢+ ,R2 JRESTORE THE

(SP)+,R1 JREGISTERS THAT WwE
(SP)+,RO ;DESTROYED

; THIS ROUTINE IS L'ED TO RESET ALL TERMINALS

RESETO: SENDALL #MSG103 ;SET 6 LPI,

ﬁox ;SSETOS.RS ;BUILD SEND CALL USING McSSAGE ADDRESS
L

JSR PC,SEND ;NOW SEND THE MESSAGE

SENDALL W#MSG108 ;SET 10 CPI.

?EX :gggTOB.RS ;BUILD SEND CALL USING MESSAGE ADDRESS

J3R PC,SEND ;NOW SEND THE MESSAGE

SENDALL #T12FIX JRESET MARGINS

?Ox ;635F1X,R5 JBUILD SEND CALL USING MESSAGE ADDRESS
L

JSR PC,SEND JNOW SEND THE MESSAGE

SENDALL #MSG61 JRESEs ALL TABS

?Ox :sgg61.R5 LBUILD SEND CALL USING MESSAGE ADDRESS
L

JSR PC,SEND ;NOW SEND THE MESSAGE

SENDALL #MSG10 ;SET TABS EVERY 8

?0; :83?10,R5 ;BUILD SEND CALL USING MESSAGE ADDRESS
L

JSR PC,SEND ;NOW SEND THE MESSAGE

JSR PC,QUIET

RTS PC




CZLAIBO LAQO, LA34 DMT
DZ1 SVER ROUTINES

1 DR

30800
30900
31000
31100
31200
31300
31400
31500
31600
31700
31800
31900
32000

033144
033166
033170
033172
033176
03320¢
033204

033332
033334

033442
033444

010546
01024¢
010146
016001
016105
100401
000000
010537
113737
042737
006300
006300
063700
006300
050560
042760
042705
032760
001405
042760
005237
122705
00:010
052760
146061
000137
122705
001013

156061
042760
052760
000137
010570
062760
026060
001003
016060
105260
001001

000000
005737
001402

012600
000002

PROG

031554
000002

001200
001201
177770

001200

031566
107777
177400
000200

000200
001216
000023

100200
025514
033422
000021

025514
100000
000001
033422
026214
026074
025634
001140

145504

L J4
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001200
001200

031566
020634
020634

024554
000004

000004
024554
024554

026214
025754

026214

RCINT:

1%:

6%:

SEQ 0090
;HEKE 1S THE MAIN RECIEVE INTERRUPT ROUTINE

RS,=(SP)

R2.~(SP)

R1,-(SP)

DZ{SR(RQ) ,R1

2(RT) RS

:INVALID DATA FROM DZ 2 2 2 2 2 2 2

RS,RCTMP

RCIMP+1,RCTMP

#177770.RCTMP

RO

RO

RCTMP RO

RS ,RECERR(RO) :COPY ERROR BITS

#107777 ,RECERR (RO) *DATA VALID,LINE NO.,DATA

#177400,R5 *CLEAR ERROR BITS

gglr?.DZLINE(RO) 2IS UNIT SELECTED ?

#8]T7,DZL INE (RO) :SELECT THE LINE

uuT :ADD TO UNIT COUNT

;%3.R5

7%:

9% :

8%:

KBN:

1%:

RCRIN:

2%:

MOV
MOV
MoV
MOV
MOV
8M]
HAL ™
MoV
MCVB
BIC
ASL
ASL
ADD
ASL
8IS
8IC
8IC
8IT
8EQ

#100200,5TOP(RO) ;SET STOP FLAG & XOFF FLAGS

TCRBIT(RO) ,4(R1) :DISABLE TX INTR
RCRTN

#21,R5

KBN

TCRBIT(RO) ,4(R1) :ENABLE Tx INTR

#BIT15,STOP(RO) .CLEAR STOP FLAG

#8170,STCP(RO) ;SET XON FLAG

RCRIN

R5,aKBBUFI(RO) ;STICK IT IN THERE

#2 KBBUFI(RO)  ;GIVE THE POINTER A LITTLE PUSH TO THE NEXT EMPTY PL
?%BUFI(RO).KBBUFE(RO) . ;1S THAT THE END?

s IF NOT.
KBBUFB(R0) ,xBBUF ] (RO) ; YES IT WAS AT THE END. RESET [T

KBCNT(RO) sTALLY UP ONE MORE ENTRY
RCRTN ;AND GO RETURN IF WE HAVE LESS THAN 377 QF THEM
26400 ENRTYS ]S TOO MANY, LET THIS HALT SERVE AS WARN
HOOK :DOES ANOTHER ROUTINE WANT TO SEE CHARS IMMEDIATI Y”
2% sNO. GO RETURN
PC ,a8HOOK JYES. GO OFF TO SOME MYSTERIOUS PLACE
(SP)+,R1
(SP)+,R2
(SP)+,R5
(SP)+,RO ;FROM INTERRUPT CATCHER




¥
NN

LAIBO LAQO, LA34 DMT PROG
11 DRIVER ROUTINES

36400
36500

36600

36700 033446
36800 033452
36900 033454
37000 033460
37100 033462
37200 033466
37300 033472
37400 033476
37500 033504
37600 033512
37700 033514
37800 033522
37900

105760
001003
012705
000420
005360
017005
042705
062760
022760
001003
016060
000207

325634
177777

025634
026334
000400
000002
025754

026074

N 7
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SEQ 009"
JTHIS IS THE TAKE STUFF OuUT OF THt KBFO BUFFER ROUTINE
CALL USING A ""JSR PC"’
;1T RETURNS WITH RS = THE KBRST ENTRY
KROUT: TSTB KBCNT(RO) JANYTHING THERE?
BNE 1% :1 HOPE SO
MOV #-1,RS
BR 28 ,
1s: DEC KBCNT (RO) ;REDUCE COUNT OF # ENTRYS IN THERE
MOV IKBBUFO(RO) ,RS ;GET KBRST ENTRY
BIC #400,R5
026334 ADD #2 ,KBBUFO(RO) ;BUMP POINTER TO NEXT ENTRY
026334 CMP #XBBUFE ,KBBUFO(RO) :REACHED THE END OF THE BUFFER SPACE?
BNE 2% 'IF NOT, JUST RCcTURN
026334 MOV KBBUFB(RO), KBBUfO(RO) YES REACHED END. RESET POINTER TO THE BEGININ
2%: RTS PC RETURN




C/LAIBO LAOO, LA34 DMT PROG
DZ11 DRIVER ROUTINES

38100

39100 033524
39200 033526
39300 033530
033530
033532
033536
39400 033542
033542

0
39500 G33554

39600 033566
39700 033572
39800 033574
39900 033600
40000 033602
40100 033606
40200 033610
40300 033614
40400 033620
40500 033626
40600 033632
40700 033640
40800 033644
40900 033652
41000 033654
41100 033660
41200 033664
41300 033670
41400 033674
41500

005712
001462

010305
005037
004737

012205
005037
004737

010405
005037
004737
004737
005000
013700
006300
162700
100424
016001
005037
013737
061237
013761
005237
022737
001362
000137
064737
062702
000137
000207

001174
031706

001174
031706

001174
031706
034250

001202
000002

031554
001126
001126
001130
001130
001126
000010

033602
034574
000002
033524

B 8
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001130
000002
001126

;THIS SUBROUTINE DOES MANUAL INTERVENTION TESTING, WHERE A CARRIAGE RETURN
;MUST BE SEEN TO CONTINUE

;CALL WITH R3=ADDRESS OF 1ST PART OF REPEATING MESSAGE

; R4=ADDRESS OF 3RD PART OF REPEATING MESSAGE

H R2=ADDRESS OF TABLE OF <ND PART COF MESSAGE

JTHE TABLE CONSISTS OF 2WORD ENTRIES. 1ST WORD 1S MESSAGE ADDRESS

;2ND WORD IS PARAMETER TO BE SEND TO THE DZ11 LINE

;A 000000 WORD MARKS THE END OF THE TABLE.

;CALL THIS SUBROUTINE WITH A JSR,P(

ANVENT: TST (R2) ;TABLE FINISHED ?
BEQ 4% *YES BRANCH
SENDALL R3 ;SEND FIRST PART
Mov R3,RS  ;BUILD SEND CALL USING MESSAGE ADDRESS
CLR MODE
JSR PC,SEND JNOW SEND THE MESSAGE
SENDALL (R2)+ ;SEND FROM TABLE
?OX éggé*.RS ;BUILD SEND CALL USING MESSAGE ADDRESS
L
JSR PC,SEND sNOW SEND THE MESSAGE
SENDALL Ré ;SEND LAST PART
Mov R4,RS  ;BUILD SEND CALL USING MESSAGE ADDRESS
CLR MODE
JSR PC,SEND NOW SEND THE MESSAGE
JSR PC.QUIET JWAIT TILL DONE
CLR RO
MoV DZNUM,RO ;GET DZ NO.
ASL RO

1%: SUB #2 RO
BMI 3%

MOV DICSR(RO),R1  ;GET DZ (SR ADDRESS
CLR ANTMPO
2%: MOV ANTMPO , ANTMP1
ADD (R2) , ANTMP1
MOV ANTMP1,2(R1)
INC ANTMPO
(MP Slo.mmpo

BNE
JMP 1%
3%: JSR PC,AWAIT
ADD #2,R2
JMP ANVENT ;DO FOR NEXT TABLE ENTRY
4%: RTS PC JDONE ALL LINES ON ALL DZ'S. RETURN

SEQ 0092




CZLAIBO LAOO, LA34 DMT
DZ11 DRIVER ROUTINES

43700
41800

010537
013737
000240
005337
001374
005337
003366
000207

0
42300 033676
42600 033702
42500 033710
42600 033712
42700 033716
42800 033720
42900 033724
43000 033726

113765
006037
113765
006037
006037
113765
006037
113765
006037
006037
113765
006037
113715
142715
142765
142765
142765
142765
142765
152715
152765
152765
152765
152765
152765
000207

44000 033730
44100 033736
46200 033742
44300 033750
44400 033754
44500 033760
44600 033766

45500 034040
45600 034046

45800 034062

4600C 034074
46100 034102
4200 034110
46300 034116
46400 034124
46500 034132
46600

PROG

00114¢
001142

001144
001146

001134
001134
001135
001134
001134
001134
001134
001135
001134
001134
001134
001134
001135
000376
000370
000370
000370
000370
000370
000060
000060
000060
000060
000060
000060

c_8
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001744

000005
000002

000004
000001

000003

000001
000002
000003
000004
000005

000001
000002
000003
000004
000005

sSTALL ROUTINE

sCALL WITH JSR,P(

;THE LOCATION FOLLOWING THE (ALL SHOULD (ONTAIN
sTHE AMOUNT OF MILLISECONDS TO HANG IN A NULL LOOP
+RETURN IS TO THE LOCATION +4 OF THE (ALL

MSTALL:
1%:
2%:

MOV
MOV
NOP
DEC
BNE
DEC
BGT
RTS

R5,L00PO JGET # OF MILLISECONDS

LOORPC,LOOP] ;SETUP CONSTANTFOR CORRECT STALLING TIME
LOOPI

2%

LOOPO JONE MILLISECOND DOWN

1% ;SOME MORE TO GO

PC JRETURN

sBINARY TO ASCII CONVERT SU3ROUTINE.

sCALL USING A "JSR PC'

sDERIVES ASCII CHARACTERS REPRESENTING THE CONTENTS

;OF LOCATION 'TEMP', AND PUTS THEM INTO THE 6 BYTES POINTED TO

:BY RS

JTHIS IS A STOLLEN ROUTINE. IT IS ROTTENLY WRITEN

BIOCT:

TEMP,5(RS)
TEMP
TEMP+1,2(R5)
TEMP

TEMP
TEMP_ 4 (R5)

TEMP
TEMP+1,1{(R5)
TEMP

TEMP
TEMP,3(RS)
TEMP

TEMP+1, (R5)
#376, (RS)
#370,1(RS)
#370,2(RS)
#370,3(RS)
#370,4(RS)
#370,5(R5)
#60, (RS)
#60,1(R5)
#60,2(RS)
#60,3(R5)
#60,4 (RS)
#60,5(RS)

PC JYEAMH

SEQ 0093




CZLAIBO LAOO, LA34 DMT
DZ11 DRIVER ROUTINES

46800
46900

47200 034134
47300 034136
47400 034140
47500 034144
47600 034150
47700 034152
47800 034156
47900 034164
48000 034170
48100 034172
48200 034176

010346
010446
012704
112725
100005
005137
112763
112713
105213
161437
100374
005203
062437
005714
001365
062737
113713
012637
0712604
012603

49200 034234 000206

49500 034236
49600 034240
49700 034242
49800 034244
49900 0364246

023420
001750
000144
000012
000000

50400 034250
50500 034252
50600 034254
50700 034256
50800 034262

010046
010146
010546
013700
006300
005001
020100
001466
005761
100403
062701
000770
005761
100047
105261
126127
002441
052761
005337
005061

52400 034346 005061

PROG

034236
000260

001134
000235
000257

001134

001134

000260
001134
001134

001152

024054
000002
024554

024054
024054

000200
001216
024554
024054

D_ 8
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SEQ 0094

JBINARY TO DECIMAL CONVERT RCUTINF

“CALL WITH A JSR SP

*WROTE THIS MYSELF.

BIDEC: MOV R3,-(SP)
MOV R&.-(5P)
MOV #BIDECC R4
MOVB #260.(R§)+

ITS WONDERFULL .
;SAVE R3
:ALSO R4 wHICH WE WIiL USE

;POINT R4 AT SOME CONSTANTS

JMAKE THE FIRTS DIGIT OF THE NUMBER O

;1S THE # PCSITIVE?

;NO. MAKE IT SO

;AND CHANGE THAT 1ST DIGIT TO A "*='*

JINIT A DIGIT

JADD 1 TO THE DIGIT

JKEEP SUBTRACTING CONSTANT TILL IT GOES NFGAT]VE
;IF WE ARE STILL POSITIVE, DO 1T AGAIN

sNO WE WENT NEGATIVE. POINT AT THE NEXT DIGIT
;ADD BACK THE CONSTANT, AND GO ON TO THE NEXT (ONSTA
;DONE THE 1ST S DIGITS YET?

;IF NOT, GO BACK AND DO ANOTHEK

;YES. ONE REMAINS TO BE DONE

;SET THE LAST DIGIT NOW.

;RESTORE EVERYTHING

;THAT WE USED TO

;ITS ORIGINAL VALUE

;AND RETURN

;GET NO OF LINES

:IF DONE GO TO S
JSTILL WORKING ?
sSTILL SET -BRANCH
sTEST NEXT LINE

; USITING FOR XON ?

: N
. COUNT OF PASSES
: ALLOW 10 SECONDS

BPL 1
COM TEMP
177777 MOVB #235,-1(R3)
1% MOVB #257,(R3)
2% INCB (R3)
SUB ° (R4),TEMP
8PL 2%
INC R3
ADD (R4)+,TEMP
TST (R4)
BNE 1%
001134 ADD 4260, 1EMP
Movse TEMP, (R3)
MoV (SP)+,TEMP
Mov (SP)+ R4
MOV (SP)+ R3
RTS sp
s CONSTANTS
BIDECC: 10000.
1000.
100.
i0.
. 0.
; WAIT FOR MESSAGE TO FINISH PRINTING
QUIET: MOV RO,=(SP)
MOV R1,-(SP)
Mov RS,=-(SP)
MOV NUML IN,RO
ASL RO
RE CLR R1
2%: P R1,RO
BEQ 5%
TST ACTIVE(R1)
BM] 43
3% ADD #2,R1
B8R 2%
4%: TST STOP(R1)
BPL 7%
INCB ACTIVE(R1)
000144 gM?B ACTIVE(R1),#100.
L
020634 BIS
DEC

CLR STOP(R1)
CLR ACTIVE(RY)

7$
63%77,DZLINE(R1) ; DESELECT THE LINE




CZLAIBO LAQO, LA34 DMT PROG
0DZ11 DRIVER ROU!INES

52500 034352 012705 036404
52600 034356 004737 020310
52700 034362 010137 001134
52800 034356 006237 001134
52900 034372 012705 0206600

53100 034376 004737 033730
53200 034402 113737 020604
53300 034470 113737 020605
S3400 034416 012705 020620
53500 034422 004737 020310
53600 034426 000137 034264
53700 034432
034432 012705 000144
034436 004737 033676
53800 034442 000137 034264
53900 034446 012605
54000 034450 012601
56100 034452 012600
54200 034454 000207

E_8
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020626
020627

7%:

5%:

MOV
JSR
MOV
ASR
MoV

JSR
MOV
MovR
MOV
JSR
JMP
STALL
MOV
JSR
MP
Mov
MOV
MOV
RTS

#MSG39,RS
PC . CSEND ; REPORT NO XON
R1, TEMF

TEMF

REBUF ,RS

PC,BIOCT

EBUF +4 ,MSGE+ 14,

EBUF +5 MSGE +165,

#MSGE+10,RS

?g,CSEND

#100. ; DELAY A WHILE

#100. ,RS ;SETUP STALL TIME CONSTANT

PC ,MSTALL
1%

(SP)+ RS
(SP)+ R
(SP)+ R0
PC

SEG 0095




(ZLAIBO LAQC, LA34 DMT
DZ11 DRIVER ROUTINES

54500
54600
54700
54820
54900
55000
55100
55200
55300
55400
55500
55600
55700
55800

034456
034460
034462
034466
034470
034474
034476
034502
034506
034514
034514
034520
034524
034532
034534
034536

034540
034544
034546
034552
034554
034562
034564
034572

010046
010146
013700
006300
162700
100404
005060
000137
012737

012705
004737
012737
032601
012600
000207

020527
001007
022705
001407
112760
000403
112760
000207

012737
012737
005737
001375
005037
000207

042705
1227905
001002
005037
004737
000207

PROG

001152
0000C2
024434
034470
034540
000764

033676
000000

000025
000021
000001
000001

000GM
034624
001136

001140
177600
000015

001135
033446

MACRO M1110

001140

001140

024435
024434

001136
0C114C

F 8
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G 0096
:THIS IS THE REPLY SUBROUTINE
:CALL WITH A JSR PC
;1T WILL WAIT .5 SECONDS FOR REPLYS FROM ON ALL L INES
2IF 1T SEES A REPLY, THE WORD FOR THE LINE IN THE REPTBL [v SFT
REPLY: MOV RO,=-(SP)
MOV R1,=(SP) ;SAVE RFGS WE USE
MoV NUML IN, RO
ASL RO
14 SuUR #2,R0O
BM] 2%
CLR REPTBL (RO)
JMP 1%
2%: MOV #9% ,HOOK :PUT CLAWS INTO INPUT ROUT INE
STALL  #500. (WAIT .S SECONDS
MoV #500. ,RS :SET P STALL TIME CONSTANT
JSR PC,MSTALL
MOV #0,H00K :TAKE HOOK OUT OF INPUT ROUTINt
MoV (SP)+ ,R1
MoV (SP)+ R0
RTS PC :RE TURN
9%: c™MP RS, #23 ;1S THE CHAR XOFfF?
BNE 3% :~0.
CMP t21 RS ;1S THE CHAR XON?
BEQ “YES. LET RECIEVE ROUTINE HANDLE 7
;gva #l LREPTBL+1(RO) ;YES. SET HIGH BYTE
3s: MOVR #1,REPTBL(RO)  :SET LOW BYTE INDILATING NCT XON OR XOF
4%: RTS PC
ers 1S THE SUBROUTINE THAT WAJTS TOR A CARRIAGE RETURN
AWAIT: MOV #1 NOTYET LSET NO CR YET SWITCH
MOV #2% . HOOK “PUT HOOK INTO RECIEVE ROUTINE SO WE (AN TEST
1%: TST NOTYET *SEEN A CARRIAGE RETURN YE?”
BNE 1% :NO, KEEP LOOKING
(LR HOO0K
RTS PC ;RETURN
2%. BIC #177600,R5 ;REMOVE JUNK FROM DATA BITS
(™MP8 #15,RS ;CARRIAGE RETURN ?
BNE s JNO.
LR NOTYET :YES. MAKE THE SWITCH REFLECT 7
3s: a?g gg,xaour SREMOVE C(HAR FROM BUFFER




(Z_AIBO LAGO, LA34 DMT PROG
SYSTEM MESSAGES

300 034650
400 034707
500 034764
600 035C40
700 335057
800 035113
900 035155
1000 035162
1100 035172
1200 035174
1300 035176 033 133

D000 =000
— =B NN == O —
NOWIWONNINI NS
P2 20CO—=0O
ANW— 2 (N s
WIWN NV OO W

1800 035305 120 114
190C 035327 110 I8!
2000 035415 102 101
2100 035455 104 107
2200 035503 067 040
2300 035524 103 110
2400 035554 124 13"
2500 035602 067 040
2600 035630 067 040
2700 035657 044 012
2800 035663 130 117
2900 035706 124 125
035762 102 101
3100 036007 110 117
3200 036043 060 060
3300 036052 120 114
2600 036074 040 102
3500 036157 061 061
3600 036163 116 125
3700 036224 126 124
3800 036265 123 131
3900 036326 063 060
4000 036332 040 102
4100 036342 102 125
4200 036373 033 133
4300 036404 105 122
4400 0364641 105 122
4500 036477 000011
4500
4700
036477 130 011
036504 130 01
036511 130 on
036516 130 on
036523 130 on
036530 130 o
036535 130 on
036542 130 011
036547 130 011

<800 000003

G 8
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LSBYTL  SYSTEM MESSAGES

stQ 0097

NLIST BEX
103 mMSGO0: .ASCII  <17><15.,(ZLAIBO LAQO, LA34 DMT PROG/<15><12>
171 LASCII  /THIS TEST ASSUMES ALL TERMINALS ARE SETUP FOR/<i2><15>
060 LASCIZ /300 BAUD, 1 STOP, ODD PARITY, XOFF-XON./<12><15>
105 MSGO1: LASCIZ <12><15>/END COF PASS /
105 MSGO3: LASCIZ <12><15>/END OF PASS 000 TEST 00/<12><15>
040 MSGO4: .ASCIZ /NO RESPONSE TQ ATTRIBUTE PROMPT/<12><15>
060 MSGOS: .BYTE  33,133,60,143,0 ;TERMINAL ATiRIBUTE PROMPT
077 mMSGOe: .BYTE  33,133,77,63,73,60,143,0;LA00 DEV ATTRIBUTE RESPONSE

MSGO8: .ASCIZ <10>
MSGO9: L,ASCIZ <15

070 MSG10: .BYTE  33,13%,70,75,61,66.73,67.64,73.63,62.73

073 BYTE  64.60,73,64,70,73,65,66,73.,66,64,73.67,62,73.72.,60
070 .BYTE 73,70,70,73,71,66,73,61,60,64,73,61,61.,62
062 BYTE  73.61.62.60.73,61,62.70.165,0
122 MSG12: .ASCIZ /PARITY TEST 24/<12><15>
105 M5G13: .ASCIZ /PLEASE SETUP FOR /
124 M3G14: .ASCIZ /MIT RETURN KEY WHEN YOU ARE DONE WITH ALL TERMIMALS/<72><15>
104 MSG15: .ASCIZ /BAD PARITY RECIEVED FROM LAQO/<12><15>
124 MSGi6: .ASCIZ /DATA OVERRUN ERROR /<12><15>
102 MSG17: .ASCIZ /7 BIT AND SPACE./
101 MSG18: .ASCII /CHAR CODE FCHO TEST 21/<12><15>
120 MSG19: .AS(IZ /TYPE DELETE TO EXIT/<12><15>
02 MSG20: .ASCIZ /7 BIT AND ODD PARITS./
102 MSG2': .ASCIZ /7 BIT AND EVEN PARITY./
015 MSG22: L.ASCIZ /%/<12><15>
116 MSG25: .ASCIZ /XON=-XOFF TEST 23/<12><15>
122 MSG26: .ASCIZ /TURN THIS TERMINAL OFF~LINE, THEN ON-L INE/<12><15>
125 MSG27: .ASCIZ /BAUD RATE TEZT 37./<12><15>
122 MSG28: .ASCIZ /HORIZONTAL MOTION TEST 11/<12><15>
060 MSG29: .ASCJZ /000 /
105 MSG30: .ASCIZ /PLEASE SETUP FOR /
101 MSG31: .ASCIZ / BAUL./<12><15>/ HIT QRETURN WHEH DONE FOR ALl TERMINALS./<12><"S>
060 MSG32: .ASCIZ 7110/
114 MSG33: .ASCII /NULSOHSTXETXEOTENQACKBELBS HT LF /
04C LASCI1  /VT FF CR SO SI DLEXONDC2XOFDC4NAK/
174 LASCI]  /SYNETRCANEM SUBESCFS GS RS US SP /
060 MSG35: .ASCIZ 7300/
101 MSG26: .ASCIZ 7/ BAUD/<12><15>
106 M$G37: .ASCIZ /BUFFER OVERRUN TEST 12/<°2><15>
061 MSG38: .BYTE  33,133,61,73.61.63,62,165,0
122 MSG39. .ASCIZ /ERPOR = XON NEVER RECIEVED/<12><15>
122 MSG40: .ASCIZ /ERROR * XOFF NEVER RECIEVED/<12><15>
MSC41: LREPY 9,
JASCID /X/<11>/X/<12><15>
.ENDR
130 ASCID /X/7<11>/X/<12><15>
30 ASCIT 7x/<115/%/<12><15>
130 LASCIL  /7X/7€11>/X/7€12>¢<15>
130 CASCIT /7X/<11>/X%7<12>¢15>
120 JASCID  7X/7<11>/x/7<12><15>
130 CASCID  /X/<11>/%7<120<18>
130 CASCII  /X/<11>/X/<125<15>
130 CASCIT /X/<11>/X%/€12>€15>
14C JASCID  /X7<11>/%/7<125<15>
.REPT 2
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4900
>000
5100
5200

3400
9500

036554
036600
036612
036624
036650
036662
036674
036720
036732
036744
036757
037005
037104
037214
037242
037245
037304
037307
037311
037314
037316
037320
037322
037324
037330
037333
037337
037344
037370
037373

037400
037435
037440
037445
037507
037511
037536
037550
037571
037632
037633
037654
037677
037727
037734
037741
037746
037753
037761
037765
037771
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MSG&2:
MSG&3: .
MSG4L4: .
MSG4S:
MSG47:
MSG60:
MSGH1 :
MSG62:
MSG63:
MSG64 :
MSGAS5:
MSG66:
MSG67 :
MSG68:
MSG70:
MSG/1:
MSG72:
»SG73:
MSG7S:
MSG77:

MSG78.
MSG79:
MSGEO:
MSG81:
MSG82:
MSG83:
MSGBS :
MSGBS:

MSGB8:
MSGB89:
MSG90:
MSG9P1:
MSG92:
MSG93:
MSG94:
MSGS5:
MSG96:

WASCII
BYTE
BYTE
.ENDR
LASCII
BYTE
BYTE
LASCII
.BYTE
.BYTE
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.BYTE
.BYTE
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TEST/<12><15><12>

<t 0098

/eUsyryUrUrUsUsUsUrUrUeUsUsUsUrUsyUsUsUnUryaysUaysUaye JeUsUrUay/<12><1
/TEXT 02 - NON PRINTING CHARACTER TEXT. THE NEXT [ INE SHOULD BE BLAN

/§.9.20.23.26.31.35.177.21.24,27,52,36,22 25,30,34,37,2°

/TEST N7 HORJZONTAL TAB TEST/<12><15>
<33>/2/
/./

<33>/H/
v/
<1in
<15>

18 15 11,0

/7 /

/? /

<12><15>/POWER FAIL TRAP/<12><15>
<12><15>

<12><12><12><15>

/§PACE - BACKSPACE TEST 05/<12><15><12>
k] *

<10><10>/\/<10>
5A&l PRINTABLE CHARACTERS TEST01/<12><15>

/DOT MATRIX TEST 03/<12><15>
/IHeRS  /<125<15>

/127 121 1211/<1%>
/H HH  HHH HHHH/<IS>
FARR T IR T 14 sxnn/<15>
/0 AN RRE ARER/<15>
/9 8% $3%  $838/<12><15>

<12><15)’YHIS LINE PRINTED AT /

L12.15.0
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SYSTEM MESSAGES SEQ 0099
9700 037775 040 076 040 MSG97: LASCIZ 7 8/
9800 040001 114 120 11 MSG98: LASClZ /LPl./
9900 040006 033 133 064 MSG99: .BYTE  33,13%3,64,167,0
12000 040013 033 133 063 MSG100: .BYTE  33,133,63,167,0
10100 040020 233 133 062 MSG101: .BYTE  33,133,62,167.0
10200 040025 033 133 064 MsSG102: .BYT:  33,133,64,172,0
0300 040032 033 133 061 MSG103: .BYTE  33,133,61,172,0
10400 040037 033 133 063 MSG104: .BYTE  33,133,63,172,0
10500 040044 033 133 065 MSG105: .BYTE  33.133.45.172.0
10600 04005° 033 133 062 MSG106: .BYTE  33,133.62,172,0
10700 040056 012 015 101 MSG107: .ASCIZ <12><15>/ABCDEF GHIJKLMNOPQRSTUVWXYZ/
10800 040113 033 133 061 MSG108: .BYTE  33,133,61,167,0
10900 040120 110 117 122 MSG109: .ASCIZ /HORIZONTAL PITCH TEST 04/<12><15>
11000 040153 126 105 122 MSG110: .ASCIZ7 /VERTICAL PITCH TEST 15/<12><15>
11100 040204 123 105 124 MSG111: .ASCIZ /SET _MARGINS TEST 06/<15>
11200 040231 033 133 060 MSG113: .BYTE  33,13%,60,60,61,73,€1,63,62,163,0
11300 040244 033 133 050 MSG114: .BYTE  33.133760,60.60,73.60.,60.60.163.0
11400 040257 075 000 MSG115: .ASCIZ /=/
11500 040281 105 122 12¢ MSG116: .ASCIZ /ERROR IF NOT AT LH MARGIN/<i2><15> J
1600 040315 033 133 066 MS5117: .BYTE  33,133,66,172,0
11700 040322 040 062 040 MSG118: .ASCIZ / 2/
11800 040326 120 122 111 MSGi120: .ASCIZ /FRINTER BELL TEST 14/<12><15>
11900 040355 115 125 114 MSG123: .ASCIZ /MULTIPLE LINE FEED TEST 10/<12><15>
12000 040412 055 055 055 MSG124: .ASClZ /==e=—ecmeee= /<15>
12100 040430 055 055 055 MSG125: ,ASCIZ /=====- 00/<15>
"2200 040442 123 105 124 MSG1640: _ASCII /SET CAPS LOCK OFF, SHIFT LOCK OFF, THEN /
*2300 040512 120 122 105 ASCI1 /PRESS ALL PRINTING KEYS./
12600 040542 01¢ 015 104 ASCi] <12><15>/DON'T PRESS ESC, TAB, RETURN/
12500 040601 054 040 102 LASCI1 /, BS, OR FUNCTION KEYS./<12><15>
12600 040632 120 122 105 MSG145: .ASCIZ /PRESS THE SPACE BAR LAST./<12><15>
12700 040666 120 122 105 MSG142: .ASCIZ /PRESS THE SPACE BAR IF FINISHED/<12><15>
12800 040730 040 072 040 MSG143: .ASCIZ / : KEYS WERE NOT RECIEVED/<12><15>
12900 040764 124 122 131 MSG144: .ASCIZ /TRY AGAIN , /
" 2000 04'001 012 015 105 MSG146: ASCIZ <12><15>/FERROR « /
13100 041014 m 116 126 MSG148: .ASCIZ /INVALID CODE RECVD : /
13200 041042 124 105 123 MSG147: .ASCIZ /TEST #21/<12><15>
13300 041055 120 122 105 MSG150: .ASCIZ /PRESS /<12><15>
13400 041066 040 12¢ 110 MSG152: .ASCIZ / RH SHIFT AND B/<12><15>
13500 041110 123 105 124 MSG156: .ASCIZ /SET SHIFT LOCK , /
13600 041132 077 077 077 MSG149: .ASCIZ /2?2/
13700 041136 040 114 110 MSG151: LASCIZ7 / LH SHIFT AND ‘'A/<12><15>
12800 041163 064 012 015 MSG153: _ASCIZ /4/<12><15>
13900 C41167 C40 103 124 MSG154: .ASCIZ / CTL-P/<12><15>
14000 041200 040 105 123 MSG155: .ASCIZ / ESCAPE/<12><15>
14100 041212 122 105 123 M5G157: .ASCIZ /RESET SHIFT LOCK, SET CAPS LOCK, /
14200 041255 124 101 102 MSG158: ,ASCIZ /TAB/<12><15>
14300 041263 122 105 24 MSG159: .ASCIZ /RETURN/<12><15>
14400 041274 060 061 062 MSG160: .ASCIZ /0123456789/
14500 041307 077 012 015 MSG162: LASCIZ  /2/<12><15>
14600 041313 m 116 126 MSG163: .ASCIZ /INVALID SEQUENCE RECVD/<12><15>
14700 041344 115 117 101 MSG164: .ASCIZ /MIAN KEYBOARD TEST 20/<12><15.
14800 041374 123 120 101 MSG16>: .ASCIZ /SPACE/
14900 041402 102 101 103 MSG166: .ASCIZ /BACKSPACE/<12><15>
15000 041416 114 111 116 MSG167: LASCIZ /LINEFEED/<12><15>
15100 041431 104 105 114 MSG168: .ASCIZ /DELFTE/<12><15>
15200 041442 104 012 015 MSG169: .ASCIZ /D/<12><15>
15300 0471446 040 000 MSG170: .ASCIZ / /
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15400 041450

15500
15600
15700
15800
15900
16000
16100
16200
16300
16400
16500
16600
16700
16800
16900
17000
17100
17200
17300
17400
17500
17600
17700
17800
1790C
18000
18100
18200
18300
18400
18500
18600
18700

041460
041471

041502
041514
041527
041547
041610
041612
001617
041676
041743
041755
041767
042001

042013
042025
042037
042051

042063
V42075
042107
042136
042164
042174
042204
042214
042224
042234
042244
042254
042264
042274
042304
042314
042327
042341

042366
042400
042426
042460
040514
042552

042604
042644
042704
042732
042762
043012
043042
043066
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001220

000160
000172
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000161
000173

MSG180:
MSG181:
MSG182:
MSG183: .
MSG184: .
MSG270: .
MSG280: .
MSGe81: .
MSG271: .
MSG303: .
MSG304 -
MSG30. : .
MSG309: .
MSG310:
MSG311: .
MSG312: .
MSG313: .
MSG314: .
MSG315: .
MSG316: .
MSG317: .
MSG318: .
MSG320: .
MSG321:

MSG322: .
MSG323: .
MSG324: .

MSG325: .
MSG326: .

MSGK1:
MSGK2:
1SGK3:
MSGKé4:
MSGKS :
MSGKG6:
MSGS1:
MSGS?2:
.EVEN

PCTABL: .

END
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.BYTE
.BYTE
BYTE

LAS

>
7]

PP EPEEBPPLIEDDPE>D D> D
wmnwmuwmbLuwnunnnmnuwuwuwumunwmununmuwnuwn
IOV OIOIOICITNOIOIOIOIOHNOIY Y OYOIYOIYOYOYOYOYOYOYOYOY Y

»
s

33,133,62,73,62.66,163,0
33,133,62,66,73,65,60,163,0
33.133,65,6¢2.73.67.66.163.0
33,133,67,70,73,61,60,62,163,0
33,133,61,60,60,7%,61,62,64,163,0

JUIFE TEST #15/7<125<155

;gﬁoo DYNAMIC EXERCISOR TEST 16/<12><15>
/ 00 /

<12><15>/ENTER SETUP MODE THEN T.PE THE FOLLOWING :

JEXIT SETUP MODE , AND TYPE A (TL=0/<12><15>
/V=F (CR)/<12><15>
/H=D(CR)/<12><15>
/H=C(CR)/<12><15>
/H=B(CR)/<12><15>
/H=A(CR)/<12><15>
/V=A(CR)/<12><15>
/V=B(CR)/<12><15>
/V=D(CR)/<12><15>
/V=E(CR)Y/<12><15>
/V=C(CR)/<12><15>

/NO RESPONSE RECIEVED/<12><15>
/PITCH SETUP TEST 22/<12><15>

[[omee= /<12><15>
/[e=w== /7<12><15>
[{=mmae /<12><15>

/[mm——— /<12,<15>
/(== /<12><15>

[ =====r<12><15>
/[o==—- /<12><15>
o=~ /<12><15>
[[wem—- /<12><15>
/[m=——— /7<12><15>
[[mme==/<12><15>
J[om=me/<C125><15><12><1 2>

<12><15>/READY/<12><15>

/ENTER MODE D OR P :/

/7 2 7 2/<12><15>

<12><15>/ENTER COMMAND(S) /<12><15>

/RUN INTERVENTION TEST ?2/<12><15>
<007><12><15>/NO TERMINALS SELECTED/<007><12><15>
<12><15>/ERROR « INVALID TEST NO./<12><15><(7>
<12><155/ERROR « PMT CONFLICT/<12><15><07>

/

SEQ 0100




ACTDVC
ACTIVE
ANTMP(
ANTMP
ANTMP?2
ANVENT
ANYWAY
APTHDR
AWALT

@
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@
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J
i

CSEND
CTLTBL
CURADD
(URREP
(URTER
DLRVEC-
DLTVEC-
DXTMP
CZADDR
bpzComMB
DZCON =
DZCSR
DZL INE
DZNUM
DZRINT
DZTINT
DZVECT
EBUF

00004
024054
001126
001130
001132
033524
004104
001000
034574
034134
034236
033730

- 000001

000002
002000

(ZLAIBO_LAQO, LA34 DMT PROG
SYMBOL TAB'E

END22
EOP
EOPT
ERROR
ERRORT
FLAGZ1
GETPN
GETSWS
GETIS™
GO
HOOK
INIT
INITT
INIT?
INIT3
INITS
INITS
INIT6
I1SEQ
KBBUF
KBBUFB
KBBUF E
KBBUF 1
KBBUF O
KBCNT
KBN
KBOUT
KEYEND
KEYTBL
KSTART
LOOPC
LOOPI
LOOPO
LSFQ
MODCON
MODE
MSGADR
MSGE
MSGK1
MSGK?2
MSGK3
MSGK4
MSGKS
MSGK6
MSGS1
MSGS2
MSGTYP
MSGOC
MSGO1
MSGO3
MSGO4
MSGOS
MSGO6
MSGO8
MSG03
MSG10
MSC100

K 8
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035113
035155
035162
035172
035174
035176
040013

MSG101
MSG102
MSG103
MSG104
MSG105
MSG106
MSG107
MSG108
M3G109
MSG110
MSG111
MSG113
MSG114
MSG115
vSG116
MSG117
MSG118
MSG12

MSG120
MSG123
MSG124
MSG125
MSG13

MSG14

MSG140
MSG142
MSG143
MSG144
MSG145
MSG146
MSG147
MSG148
MSG149
MSG15

MSG150
MSG151
MSG152
MSG153
MSG154
MSG155
MSG156
MSG157
MSG158
MSG159
MSG16

MSG160
MSG1462
MSG163
MSG164
MSG165
MSG166
MSG167
MSGi 68
MSG169
MSG17

MSG170
MSG' 8

040020
040025
040032
040037
040044
049051
040056
040113
040120
040153
040204
040231
040244
040257
049261
040315
040322
035264

04106

035524

MSG180
M$G181
MSG182
MSG |83
MSG184
MSG19
MSG20
MSG21
MSG22
MSG25
M5G26
MSG27
M5G270
MSG271
MSG28
MSG280
MSGZ81
MSG29
MSG30
MSG303
MSG304
MSG308
MSG309
MSG31
MSG310
MSG311
MSG312
MSG313
MSG314
MSG315
M5G316
MSG317
MSG318
MSG32
MSG320
MSG321
M56322
MSG323
MSG324
MSG325
MSG326
MSG33
MSG35
MSG36
MSG37
MSG38
MSG39
MSG40
MSG41
MSG42
MSG43
MSG44
MSG45
M5G47
M5G60
M5G61
MSG62

041450
041460
041471

041502
041514

035554
035602
035630
035657
035663
035706
035762
041527
041612
036007
041547
041610
036043
036052
041617
041676
041743
041755
036074
041767
042001
062013
042025
042037

MSG63
MSG64
MSG55
MSG66
MSG67
MSG68
MSG70
MSG71
MSG72
MSG73
MSG75
MSG77
MSG78
MSG79
MSG80
MSG81
MSG82
MSG83
MSG84
MSG8S
MSG88
MSG89
MSG90
MSGIN
MSG92
MSG93
MSG9%4
MSG95
MSG96
MSG97
MSG98
MSG99
MSTALL
NOTYET
NUMCHK
NUML IN
ONL INE
PASSNO
PCTABL
PFAIL

PNTR
PRIO
PRI4
PR17
QUIET
RCINT
KCRIN
RCTMP
REAL
RECERR
REPLY
REPTBL
RESETO
RSEQ
SCAN
SEND

nHuh

031706

SEC 0101




SENDTM
SEND1
SEQ
SEQM$
SEQ8
SHITBL
S0
SRCONT
START
STOP
SWR
SWRTST
TAB
TABLH
TABLHF
TABLV
TABL VF
TABL13
TABL 24
TAB24B
TBL12A

. ABS.

001106
031770
001112
002342
002316
014314
001116
001120
001220
0246554
001122
003754
010066
006%72
006402
012140
012154
010050
015622
015650
00745%

043102
0000C

0
ERRORS DETECTED: O

VIRTUAL MEMORY USED:
DYNAMIC MEMORY :
[LAPSED TIME:

CZLAIB.BIN,CZLAIB.SEQ-CZLAIB.MA(

(ZLA.BO LAOO, LAR4 DMT PROG
SYMBOL TABLE

TBL12B
TBL2(
1BL31A
TBL31C
T8L 31D
8L 31E
TBL31F
TBL31G
TCRBIT
TEMP

TEST

TESTOO
TESTO1
TESTQ2
1ESTC3
TESTO4
TESTOS
TESTO6
TESTO7
TEST10
TEST11

000
001

20620 WORDS
00:02:12
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007466
007473
017024
017120
017144
017154
017170
017214
025514
001134
001114
005410
005452
005700
005732
006040
006412
006610
007520
01¢972
010464

21488 WORDS ( 84 PAGES)
( 79 PAGES)
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TRAP4
TSTMP
TSTTRL
TSTTYP
TTYIN
TXINT
103718L
103182
T11A
T11R
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005402
006366
006370

L 8
PAGE 655

———
— —d b
NP
[ B gl

T21E
T 30BUF
uuTt
VAL ID
WIDTH
WORK
WORK 1
WORK 2
WORK 3
WwSEQ
w1

w?

w3

X

$BAS
$CPU
$DEVCT
$DEVM

[olelolelelelels (]
NI NN = =2\
NWWNO
RSO

OOOO 22O
= W= WV

o
o
—
VIVIN— = — —
= = NOQROOANCT
OO ONO SN OONN

$E TABL
$ETEND
$SFATAL
$MAIL

SMEMAD
$SMEMAR
SMEMA?2
SMEMA3
SMEMAS
SMEMR?2
SMEMR3
SMEMRS
$MSGAD
$MSGL

$SPASNG
$SWREG
$TSTNO
SUNIT

SVECT]
SVECT?2

SEQ 0102




	0000_fiche=1,x=00,y=00
	0001_fiche=1,x=00,y=01
	0002_fiche=1,x=00,y=02
	0003_fiche=1,x=00,y=03
	0004_fiche=1,x=00,y=04
	0005_fiche=1,x=00,y=05
	0006_fiche=1,x=00,y=06
	0007_fiche=1,x=00,y=07
	0008_fiche=1,x=00,y=08
	0009_fiche=1,x=00,y=09
	0010_fiche=1,x=00,y=10
	0011_fiche=1,x=00,y=11
	0012_fiche=1,x=00,y=12
	0013_fiche=1,x=01,y=00
	0014_fiche=1,x=01,y=01
	0015_fiche=1,x=01,y=02
	0016_fiche=1,x=01,y=03
	0017_fiche=1,x=01,y=04
	0018_fiche=1,x=01,y=05
	0019_fiche=1,x=01,y=06
	0020_fiche=1,x=01,y=07
	0021_fiche=1,x=01,y=08
	0022_fiche=1,x=01,y=09
	0023_fiche=1,x=01,y=10
	0024_fiche=1,x=01,y=11
	0025_fiche=1,x=01,y=12
	0026_fiche=1,x=02,y=00
	0027_fiche=1,x=02,y=01
	0028_fiche=1,x=02,y=02
	0029_fiche=1,x=02,y=03
	0030_fiche=1,x=02,y=04
	0031_fiche=1,x=02,y=05
	0032_fiche=1,x=02,y=06
	0033_fiche=1,x=02,y=07
	0034_fiche=1,x=02,y=08
	0035_fiche=1,x=02,y=09
	0036_fiche=1,x=02,y=10
	0037_fiche=1,x=02,y=11
	0038_fiche=1,x=02,y=12
	0039_fiche=1,x=03,y=00
	0040_fiche=1,x=03,y=01
	0041_fiche=1,x=03,y=02
	0042_fiche=1,x=03,y=03
	0043_fiche=1,x=03,y=04
	0044_fiche=1,x=03,y=05
	0045_fiche=1,x=03,y=06
	0046_fiche=1,x=03,y=07
	0047_fiche=1,x=03,y=08
	0048_fiche=1,x=03,y=09
	0049_fiche=1,x=03,y=10
	0050_fiche=1,x=03,y=11
	0051_fiche=1,x=03,y=12
	0052_fiche=1,x=04,y=00
	0053_fiche=1,x=04,y=01
	0054_fiche=1,x=04,y=02
	0055_fiche=1,x=04,y=03
	0056_fiche=1,x=04,y=04
	0057_fiche=1,x=04,y=05
	0058_fiche=1,x=04,y=06
	0059_fiche=1,x=04,y=07
	0060_fiche=1,x=04,y=08
	0061_fiche=1,x=04,y=09
	0062_fiche=1,x=04,y=10
	0063_fiche=1,x=04,y=11
	0064_fiche=1,x=04,y=12
	0065_fiche=1,x=05,y=00
	0066_fiche=1,x=05,y=01
	0067_fiche=1,x=05,y=02
	0068_fiche=1,x=05,y=03
	0069_fiche=1,x=05,y=04
	0070_fiche=1,x=05,y=05
	0071_fiche=1,x=05,y=06
	0072_fiche=1,x=05,y=07
	0073_fiche=1,x=05,y=08
	0074_fiche=1,x=05,y=09
	0075_fiche=1,x=05,y=10
	0076_fiche=1,x=05,y=11
	0077_fiche=1,x=05,y=12
	0078_fiche=1,x=06,y=00
	0079_fiche=1,x=06,y=01
	0080_fiche=1,x=06,y=02
	0081_fiche=1,x=06,y=03
	0082_fiche=1,x=06,y=04
	0083_fiche=1,x=06,y=05
	0084_fiche=1,x=06,y=06
	0085_fiche=1,x=06,y=07
	0086_fiche=1,x=06,y=08
	0087_fiche=1,x=06,y=09
	0088_fiche=1,x=06,y=10
	0089_fiche=1,x=06,y=11
	0090_fiche=1,x=06,y=12
	0091_fiche=1,x=07,y=00
	0092_fiche=1,x=07,y=01
	0093_fiche=1,x=07,y=02
	0094_fiche=1,x=07,y=03
	0095_fiche=1,x=07,y=04
	0096_fiche=1,x=07,y=05
	0097_fiche=1,x=07,y=06
	0098_fiche=1,x=07,y=07
	0099_fiche=1,x=07,y=08
	0100_fiche=1,x=07,y=09
	0101_fiche=1,x=07,y=10

